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Junior Engineer Civil Mechanical Electrical and Quantity Surveying and
Contracts Examination 2022
IRoll Number |

[Candidate Name
Venue Name

Exam Date 14/11/2022
[Exam Time .00 AM - 11:00 AM
Subject Junior Engineer 2022 Civil

aclion @ General Intelligence and Reasoning

Q.1 In a certain code language, 'PRAYER' is written as ‘KIZBVI' and ‘SCHOOL' is written as
'HXSLLO'. How will ' TOMATO' be written in that language?

Ans X 1, GLEZNGL
2 GLNZGI.

7 3 LGNZLG

X 4 GLNZLG

Duestion 10D 26433059880
Status : Mot Answered
Chosan Option © -

Q.2 Select the option that Is related to the fourth number in the same way as the first
number is related to the second number and the fifth number is related to the sixth
limber.

988 :192::7:96: 160 : B4

Ans 1. 220
2263

X 3245

4. 288

Duestion |D : 26433056491
Status @ Answered
Chosan Oplion * 3

Q.3  Select the cortect minor image of the given fipure when the mirrer iz placed at VY a2 shown below.
M

Per3ddtg

N
Ans

Cuestion 10 26433056000
Stalus ; Answerad
Chosan Option @ 2
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k.4 Sealect the word-palr that best represents a similar relationship to the one expressed In

the pair of words given below.
[The words must be considered as meaningful English words and must NOT be related
to each other bazed on the number of latters/number of consonantsivowels in the

word)
Beri- Beri : Vitamin B1
Ans X 1. \itamin D : Rickets
7% 2 lIron : Anaermia

3. Seurvy : Vitamin C

7 4. Gaitre : ron

Cuastion 1D © 26433085616

Status | Answered

Chosen Option : 1

0.5 Which of the follewing numbers will replace the question mark (7) in the given seres?
42, 36, 7, 27, 24, 22

Ans .31
x 228
M 533
¥ 430

Guestlon |0 28433068102

Etatus - Answered

Chosen Option @ 4

0.6 Study the given pattern carefully and sslect the numbaer that can replaces the guestion

mark (¥) In it
(NOTE : Operations should be performed on the whole numbers, without breaking

down the numbers into its constituent digits. E.g. 13 - Operations on 13 such as
adding /subtracting /multiplying etc. to 13 can be parformed, Breaking down 13 Into 1
and 3 and then performing mathematical operations on 1 and 3 is NOT allowed)
(8, 12, 24)
(12, 18, 54)
8, 4, 7)

Ans 1. 14

218
312

a4 H

Question |0, 26432067656

Mot Attempled and

SISUS ! Marked For Review

Chosan Option @ -
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Q.7  Selecr the option that is embedded in the given figure (roation is NOT allowed).

u
AN

Question |0 - 26433058107
Status . Answered
Chosen Option : 4

L8 Swelect the option that represents the letters that, whan sequantially placed from left to
right in the blanks below, will complete the letter series.
I_HE_REIT_EE_E_TH_ER_

Ans .ETHRIEE
2 TEHRIEE
KEHTERIEE

L RIEETHE

Qwestion 1D 26433067743
Status  Answered
Chosen Option : 1

1.9 Select the set In which the numbers are related in the same way as are the numbers of
the following set.
(NOTE: Operaticns should be performed on the whole numbers, without breaking
down the numbers into lis constituent diglls. E.g., 13 - Operations on 13 such as
adding /subtracting /multiplying etc. to 12 can be performed. Bresking down 13 into 1
and 3 and then performing inathematical operations on 1 and 3 is NOT allowed)
(4, 8, 144)
(5, 9, 250)

Ans 1. 6. 7. 288}

2. (8,9, 730)
3. (11,8, 1110)
4, (T, 10, 700)

Question 10! 26433067930
Status @ Answered
Chasen Option @ 2
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Q.10 Select the figure from the options that can replace the question mark (?) and

cowmplete the patten.

Ans

Question |0 ; 26433092789
Status | Answared
Chosen Oplion @ 2
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.11 Salect the option that is related to the third word In the same way as the second waord
is related to the first word.
[(The words must be considered as meaningful English words and must not be related
to each other based on the number of lattersinumber of consonantsivowels in the
word)
Adverse: Beneficial :: Render ; 7

Ans X 1. Meanior

2, Dietort
3. Help
7 4. Make

Question 10 @ 26433055930
Stalus @ Answerad
Chesen Option © 3

Q.12 Arrange the following words in a loagical and meaningful order.
1.Universe
2.India
3.Earth
4. Agra
5.Taj Mahal

Ans 1.1, 25456

Cuestion 1D 26433091416

. Not Attempted and
" Markod For Raview

Chosan Optian @ -

Status

https:ifssc.diglalm.comiperig2 ¥pub/ 2207 touchstonelAssessmeantQPHTMLMode /2207 022254/ 220702225451 D2AT18/1 668TE30246141676/20021 .. &/58
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Q.13 Select the option figure in which the given figure is embedded (rotation is NOT
allowed).

|

Ans

Cuestion 1D ; 26433067424
Etatus © Answearad
Chosan Option : 3

Q.14 Which of the following numbers will replace the question mark (7) and complete the
given number series?
18, 38, 75, 152, 303, 7

Ans 1. 604

2. 608

3. 605
4, 510

Cestion 10 : 26433067475
Status © Answerod
Chosen Option @ 2
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CLIS 1T A desodiis “+*, 1) denoled *=, © dabes <, iiad I3 desdiei. '+, Subn ol Sl be e vades of His (ollewing exphodion?
1 C 9 B A D 2= 3

Ans X 1.20
X218

3. ¥4

X412

Question 10 © 26433085377
Stetus : Answerad
Chosen Option ; 1

0.16 Select the option that represents the letters that, when placed from left to right in the
bianks below will complete the letter series.
B_JL_QT_XA_

Ans X 1. GMVD
7 2. GNWD
3. GNVD

2 4. FMVE

Question 1D : 26433066012

Mot Attermpted and
Marked For Review

Chosen Option @ =

Status
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Q.17  Select the option in which the given figure is embedded (rotation is NOT allowed).

Ans

Question 10 . 26433068302

Mot Attempted and
Status : Marked For Review

Chosen Option | —

.18 Which of the following interchanges of signs would make the given eguation correct?
272+ 16 % 1B -6+ 113 = 337

Ans 1.+ and+
2. + and ®
3 = grid #

4. xand -

Question |0 ; 26433057840
Status ;| Answered
Chosen Option @ 3

#i58
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.19
Ans
x 1.
<
x4

Question |0 ; 26433068208
Slatus ;. Answered
Ghosen Option ; 3

Q.20 In a code languags, "TEPID® is writlen as ‘GVKRW', 'FREQUENT' is writtan as
‘WIVJFVMG®, How will "SPORADIC' be written in that language?

Ang 1. HELIZWRX
X 2 WRYZHKLOD

3. HKLJZYRX

75 4 HRLWIZKX

Cuestion 10 © 26433056760

Mot Attempted and
Stalls Marked For Review

Chosen Option @ —

Q.21 Which of the following interchange of signs would make the given squation correct?
15+5+16n3-0=42

Ans X 1. +andx
2. —and +
3. —and=

4 +angd =

Question 10 26433067523
Status o Answered
Cheosen Option : 1
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0.22 Two staterneénts are glven, foallowed by two coneluslons numbered | and |, Assuming
the statements to be true, even if they seem to be at variance with commaonly known
facts, decide which of the conclusions logleally follow(s) from the statements.
Statements:

All journalists are newsreaders,
Some newsreaders are aclors.
Conclusions;

I. Some journalists are actors.

ll. Some newsreaders are journalists.

Ans X 1. Oniy conclusion | follows
75 2. Neither conclusion | nor 1 follows
3. Only sonclusion I foliongs

4. Both conclustons | and | follow

Cuestion 1D : 26433056701
Status @ Answered
Chosen Option : 3
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Q.23 Select the'correct mitror image of the given figsie when the mirror is placed at M asshown befow,
L]

Ans

Question 10 © 26433056111
Stalus @ Answerad
Chosen Option ; 3

- .24 In a certain code language, '"RELATIVE' is written as "GEXKVCNGT and "PHYSICAL' is
written as "MCEKUAJR . How will "QUANTITY" be written in that language?

Ans P
2. BWCEVKVA

X 3. AVKVPBWT

4. AVKVODXT

Question ID : 26433056652

Mot Atternpted and
Marked For Reviaw

Chosen Option | —

Status ;

https:ifssc.diglalm.comiperig2 ¥pub/ 2207 touchstonelfssessmentQPHTMLMod e 102207 022254/2207 02225451 D23T18/M1 66BTEI02461 4 1676/2002

11158



11

https:/sse diglalim.com/perg2 Vpub/ 2207 touchstone/AssessmentO PHTMLMod e 1/ 2207022254/ 2207 02225481 DAAT 18/ 6EATE302461 4 16T6/2002 .

23122, 12:38 PM

0.25 Anu, Mehak, Riya, Divya, and Loana are five friends. Anu is twice as old as Mehak.
Riya is half the age of Mehak. Anu is half the age of Divya and Riya is twice the age of
Leena. Who is the youngest?

Ans X 1 Riva
KE. A

3, Lisena

75 4 Divya

Question 1D ; 26433068083
Etatus  Answerad
Chosen Option : 4

Q.26 Town D Is to the Morth of town E. Town F s to the North of town E. Town C Is to the
East of town D and town B is to the East of town F. Town B is to the North of town C.
What is the position of town D with respect to town F?

Ans 1. Sauth
¥ 2. Morth

3. Wast

25 4. Easl

Question 10 26433068160

Mot Attempted and
Marked For Review

Chosen Option | =

Status .

Q.27 Pointing at a lady, Rohan said, "She is my wife's daughter’s father's mother.” How is
that lady related to Rohan?

Ans 1. Sistar
X 2 Daughter
3. Mothear

7 A, Wite

Question |0 : 26433068537
Status © Answered
Chosen Option : 2

https:iisse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207022254/220T02228451 02371816687 ..

CL28 Select the option that is related to the third term in the same way as the second term is
related to the first term and the sixth term is related to the fifth term.
2:2;;9:7:6;188

Ans 1. 720

2, T2

3. BBE
4,718

Cuestion 10 : 26433092711

Mot Atternpted and
Marked For Review

Chosen Option @ =

Status ;
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Q.29 Three different positions of the same dice are shown (Figures 1-3). Find the
number on the face opposite to the face showing *3°.

5 . 3 1 B
3 1 I 1 B 1 3
1

Fhgure 1 Figura § Thgurn 3
Ans X 1.1
r
Kaz2
X445

Question 1D : 26433076569
Status : Answered
Chosen Option @ 2

Q.30 Select the option that represents the letters that, when placed from left to right in the
blanks below will complete the letter serles.
DE_T_GLTDILT_KL_
Ans X 1.LEDT
2 2. L.DDM
A 3. LDET
4 LT
Cuestion 10 26433066013
. Mot Attempted and
SAlS  piarked For Review
Chozen Option | —
Q.31
Ans 1. 17
2.20
3. 14
X418
Question |0 - 26433057975
Status © Answared
Chosen Option : 1

13158
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.32 Town M i to the south-west of Town A. Town A s 1o the west of Town D. Town Cis to
the north of Town 0. Town B is to the west of Town C. Town B is to the north of Town
A. What Is the position of Town C with respect to Town A7

Ans X1, West
25 2. South-east
3. North

4, Morth-east

Question 1D ; 26433076693

Mot Attempted and

S1alUS - yarked For Review

Chaosen Option ;

0.33 Arrange the following words in a logical and meaningful order.
1. oath taking
2. nomination
3. voting
4, campaigning
5. vote counting

Ang X 1.2,4,53,2
Jo 22 473,18
BUP A B,

4.2.41.356

Question 10 26433083125

Mot Attermpled and
Marked For Review

Chsgen Option @ -

Status

Q.34 Pointing to a man, Rosy, a woman, said, "He is only son-in-law of the only daughter-in-
law of my brother's paternal grandfather”.How is that man related to Reosy?

Ans 1. Fusband
2. Father
3. Son
& A, Brother

Question 101 26433070278
Sfatus | Answared
Chosen Option : 2

.35 Select the number from among the given eptions that can replace the question mark
(7} In the following series.
174, 215, 135, 174, 7, 133, 57, 92

Ans 1,104
2 100
3. 96
4, 852

Question |0 . 26433057032

. Mot Attempted and
" Marked For Review

Chosen Option @ =

Status
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.36 Selact the option that ndicates the carrect arrangemant of the glven words in the
order they appear inan English dictionary.
1. Precoclous
2. Pracipitous
3. Preconception
4, Precision
5. Precognition
. Praclude

r T e e
X 3.2,4,6,851,3
X 4.2,6.4,1,9.5

Cuestion 10 ; 26433068261
. Mot Attempted and
Stats: Marked For Review
Chosen Option © -
0.37 Sslect the option that indicates the correct arrangemaent of the glven wards in the
arder they appear in an English dictionary.
1. Epiphany
2, Epilogue
3. Epldemic
4. Epicentre
5. Ephemeral
6. Eplstolary
Ans 1.4,8,2,3 1,6
N 2453.2 61
354,32, 8
M A 54, 2,381
Question 10 : 26433068253
_ Mot Atternpted and
Stalls | parked For Review
Chosen Opllan : —

https:isse. digialm.com'per’g2 T ipubd 2207 touchstone/AssessmentQPHTMLMade 12207022254/ 220702225451 0237181 BEET .
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Q.38

Ans

X 1.

5

Cuestion 10 26433068488

Mot Attempted and
Marked For Review

Chosen Oplion : -

Status
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.39 In this question, three statements are given, followed by twoe conclusions numbered |
and Il. Assuming the statements to be true, even if they seem to be at variance with
commaonly known facts, declde which of the conclusionis) logically follow(s) from the
stalements.

Statements:

All paintings are good.

Some good things are exported.
Some exported things are costly.
Conclusions:

I. All paintings are exported,

Il. Some paintings are costly.

Ans X 1. Only conclusian | follows,
2. Both conclusions: | and I follow.
7% 3. Only conclusion |l follows.

&, Meliher concivsmn | nor [l Tallews

Question |0 ;. 26433057922
Siatus © Answored
Chesen Option © 2

0.40 Select the option that is related to the third word in the same way as the second word
is related to the first word, (The words must be considerad as meaningful English
words and must nol be ralated to each other based on the number of leftersinumber of

consonanta/vowels in the word.)
Carrot ;: Roaot :; Asparagus ; 7

Ans X 1. Frui
X2 Leat
3. Flower

4, Stem

Question |0 : 26433067384
Status | Answered
Chosen Option: 1

.41 Select the option that reapresents the letters that, when sequaentially placed from laft to
right in the blanks below, will complete the letter series.
a__T_IFT__FTQ_FTQIFT

Ans 1. IFQOFF
2. [QFEQl
3 FQan

X 4 IFIFF

Question 1D - 26433056241

Mot Attermpted and
" Marked For Raview

Chesen Option | -

Status

https:\sse. digialm.com'per’g2 T ipubd 2207 touchstone/AssessmentQPHTMLMade 12207022254/ 220702225451 0237181 BEET .
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.42 Saven paople, A, B, C, D, E, F and G, are siting in a stralght row, facing the narth. Only
two people sit to the left of G, Only two people sit between A and F. A sits to the left of
F. D Is an immediate nelghbour of F to the right. Only one person sits to the right of B.
E iz not an immadiate neighbour of G. Who sits to the extreme left?

Ans X 1.B
2. A

X 5.E
Nac

Question 1D - 26433055892
Etatus : Answered
Chosen Option © 2

.43 In a certain code language, "HAWKS' is written as TJXZI" and 'DARES' is written as
‘TDSZE". How will ‘FADED' be written in that language?

Ans X 1.EDFAG
2 EDEZG

3. GZEDE

5 4. EDEAG

Question 10 26433067325

Mot Attempted and
Marked For Review

Chosen Option | =

Status .

Q.44 Select the option that indicates the correct arrangement of the given wards in a logical
and meaaningful order.
1. Page

2, Library

3. Book

4, Bookshel
5. Schoaol

Ans X 1.2,5.3.4,1
X 2.523.41
3.2,5,4,3,1

Question 10 © 26433074510

Mot Attempted and
Marked For Review

Chosen Option @ —

Stalus:

Q.45 H A, B, G, D and E denotas +, =, x , + and = respectively, then which of the following
equations is correct?

Ans X 1.BAGBCHE3B33D 18
ZSABCSD3E3IR 18
3.5AGCE5D3C33E1R

M AEBEABCEDIEIZA 18

Ouestion 10 : 26433067481
Status | Mot Answered
Chosen Option @ =
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CL46 Salect the optlon that s related to the third term In the same way as the second tenm is
related to the first term and the sixth term is refated to the fifth term.
132:90: 112:2::96:72

Ans X 1. 80
K2 88
3. 84
x 478
Question 1D ; 26433057575
_ Mot Atternpted and
S1atUSs © parked For Review
Chosen Oplion © -

.47 Select the option that is related to the third waord in the same way as the second word
is related to the first word, (The words must be considered as meaningful English
words and must nol be related te sach other based on the number of letters/number of

consonants/vowels in the word.)
Sculptor : Chisel :; Warrior : 7

Ans X 1. Country
7 2. Commander
3, Sword

7 4, Border

Question 1D : 26433067350
Status : Answerad
Chosen Option | 2

0.48 Six students A, B, C, [, E and F are sitting around a clrcular table facing the cenire. B
is an immediate neighbour of both F and E. C is sitting second to the left of B. A is
sitting iImmediate left of C. F is sifting second to the left of A, Who is the Immediate
nelghbour of A and F?

Ans  #1E

3.C
a8

Question 1D ; 26433056395

Mot Attempted and
Marked For Review

Chosen Option @ =

Status

https:\sse. digialm.com'per’g2 T ipubd 2207 touchstone/AssessmentQPHTMLMade 12207022254/ 220702225451 0237181 BEET .

.49 Select the word-palr that best represents a similar relatlonship to the one expressed In
the pair of words given below.
(The words must be considered as meaningful English words and must NOT be related
to each other based on the number of lettersinumber of consonants/vowels in the
word)
Hockay : Agha Khan Cup

Ans Foolball | Subrols Cuj
X 2. Decdhar Trophy : Cricket
3. Drhyan Chand Trophy : Hockey
X & Cricket : Mahro Trophy

Cuestion 10 © 26433086617
Status ; Answered
Chosen Oplion @ 3
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.50 Salect the option that represents the lettors that, when sequentially placad from left to
right in the blanks below, will complete the letter series.
BsT_BS__B__VBSTVBST_

Ans X 1. BSTVES

oy

2 VTVETY
A 3 SBTVWWS
?(' & TVSHTY
Ouestion 10D : 26433056244
Etatus | Answersd
Chosen Option : 3
Saclion ! Ganeral Awarenass

Q.1 Which of the following enzymes is NOT involved in DNA replication?
Ans X 1.Ligase
7 2. Helicase

3. Llpsse

7 4. DNA polymerase

Queastion 1D | 26433064155
Stalus | Answered
Chosen Option s 1

0.2 The Minlstry of Soclal Justice and Empowerment has launched Indla’s first pan-India
helpline for senlor cltizens named for which the toll-free number is

14587.

Ans 1, Eiger Ling
2. First Line
3. Anubhav Line

4. Senior Line

‘Question ID - 26433055033
Stalus - Answered
Chosen Option - 4

0.3 In which of the fellowing years was the Comwallis Code introduced?
Ans 1, 1784

2. 7183

31791
4. 1792

Cuestion 10 ; 26433082070
Status @ Answared
Chesan Option ; 1
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G4 Who recelved the Nobel Prize In Physics in 1962 for his ‘plonsering thaory for
condensed matter, especially liquid helium'?

Ans X 1. Wolfgang Pauli
75 2. John Bardesn
3. Lev Davidavich Landay

7% 4. Emest Orando Lawrence

Ouestion |0 @ 26433064048
Etatus ; Answered
Chosen Option @ 4

0.5 Caffelne, the most widely used psychoactive compound found In beverages such as
coffes and even some foods, is a recaptor antagonist.

Ans X 1. uridine
7 2. cytidine
7 2. guanosine

4, adangzlne

Question |0 : 26433055145
Stalus | Answered
Chosen Option @ 2

Q.6 InMarch 2022, announced that it will soon implement Aama Yojana, a
scheme for helplng non-working mothers, and the Bahinl Scheme benefitting girl

students of the State.
Ans 1. Sikkdm

2. Arunachal Pradesh
75 3. Mizoram
75 4. Manipur

Ouestion |0 : 26433081798
Status . Answered
Chosan Optian : 2

Q.7 In which year was the First National Forest Policy issued by the Government of India?

Ans 1. 1052
D 1048
3. 1868
X 4. 1882

Cuestion ID : 264330100082
. Mot Attempted and
Stalls : psrked For Reviow
Chisen Optian @ -
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L8 Under which Article of the Constitution of India can a person go to the Suprems Court

for the enforcement of Fundamental Rights7

Ans 1. Article32
7 E Aricle 46
# 3, Article 37
< 4. Articie 28

Question 10 @ 26433054531
Etatus  Answered

Chosen Option: 3

0.9 In a seukaryotic cell, which phase of the cell cycle s called the ‘distance phase’, whers

chromosomes reach opposite poles and unwind Into thin strands of DNA, spindie
fibres disappear and the nuclear membrane reappears?

Ans 1. Prometaphass
2. Telophase
75 3. Prophase
4. Anaphasze

Question 1D - 26433055123
Status ; Answered
Chosen Option @ 4

https:isse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207022254/220T02228451 02371816687 ..

.10 What does R stand for In FERA, 19737
Ane 2 |, Resalutlon

75 2. Regulatory

3, Reguiation

4. Huls

Question |0 ; 26433058278
Elatus - Answarad
Chosan Option ; 4

.11 Regarding the export of commadities from India in 2021, which commadity ranks first?

Ans 1. Organic and inorganic chemioals
2. Drugs and pharmaceiticsls
3. Elecironlc goods=

4, Enginesring goods

Cuestion 1D ; 264330100028

Mot Atternpted and
Marked For Review

Chasen Option ; =

Status

22(58
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.12 As per the MITI Aayog's multi-dimensional Poverty Index, which of the following state
has highest percentage population classified as poor?

Ans 1. Bitser
75 7. Uttar Pradesh
# 3. dharkhand
7% 4. Madhya Pradesh

Quiestion 10 @ 264330100061
Status ; Answered
Chosen Option: 3

.13 Which water body lles betwesn Southern Europe and North Africa and accounts for
about 0.7% of the global ocean area?

Ans X 1. Casplen Sea
2. Meditemanean Saa
¥ 4. Adrialic Sea
X 4. Black Sea

Question 10 26433055168
Stalus | Answered
Chosen Option @ 4

Q.14 According to the Koppen type of climate, the code Cs of group c represents;
Ans 1. lovw-latitude arid or dry

2, dry hat summer
2 3. no dry sessan

4, winter dry season

Question 1D : 26433055816

Mot Attempted and
Statls & . rkod For Reviaw

Chosen Option ; -

Q.15 What is the Fiscal Responsibility and Budget Management Act, 20037
Ans 1. It is concerned with the increase In the fiscal deficit of up to 5% of the GORE.

2, It Is redated to the Incresse In govemnmment expanditure In some propoerion,

2. 1 s poncorned wiih the reduatlon Inthe scal deficlt of up to 2% of tha GRP

4, It is refated to the increase in the caplial expenditure.

Cuestion 1D ; 26433054565

Mot Attempted and
Marked For Review

Chasen Option ; =

Status

23159
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.16 The Golden Revelution in Indian agricultural sector Is refated with:
Ans X 1, casheow cultlvation
X 2 minatsls
3. hortioulluse

7 4 coconut producton

Question 10 ; 264330100032
Status - Answerad
Chosen Option @ 3

0.17 Who among the following started the Kuchipudi Arl Academy at Madras (now Chennai)
in 19637

Ans 1. Vampatl Chincz Satyam
X 2. Mataraja Ramakrizshna
7 3. Vedantasm Raghavaiah
7 4. Shanmukha Srinivas

Cestion 10 . 26433072880
Status © Answerad
Chosen Option © 2

.18 What is said to be done when the force of 2 Newtons moves an object of 2 grams, 2
metras in the direction of the force 7

Ans 1. Gravity
2. Work
X 3. Velocity

4, Displacement

Cuestion 10 : 26433064404
Etatus @ Answered
Chosen Option - 3

Q.19 In which of the following years was the OffSide rule abolished in field hockey?
Ans 1. 1986

2. 2015

3. 2000

X 4 1990

Cuestion |0 : 26433059362

. Not Attempted and
Stalls - yarked For Review

Chosen Option | —
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0.20 Danda-nacha iz a form of dance which narrates storles abaut:
Ans X |, Goddess Durga
2, Lord Shiva
75 3. Lord Krishna
7 4 Lord Brahma

Question 1D ; 26433086572
Status - Answerad
Chosen Optian ; 4

0.21 Brihat Samhita is a noted work of whom among the following?
Ans X 1. Bhaskar

25 2. Brahmagupta
2 3. Aryabhata

4, \Werahamihirg

Cuestion 1D ; 26433065574
Stalus | Answerad
Chosen Option © 2

Q.22 The alpine biome |& usually located at altitudes above and oxtands to the
area just below the snow line,

Ans X 1,2000m
2.500m
33000 m

> 41000 m

Question |0 : 26433055136
Etatus - Answered
Chosen Option @ 3

— — —
Q.23 At which time of the day, is the light least scattered?
Ans 1, Moon

2. ARtarnoon
2. Morning

4. Evening

Question |0 ; 26433079555
Elatus @ Answared
Chosen Option : 4

https:lissc_diglalm comiperfg2?/pub/2207 touchstonelAszsessmentQPHTMLMode 112207022254/ 2207 022254810237 1814 BEATEI02AG14 16762002, 2558
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0.24 Under whose captalnship did India defeat England by four wickets to clinch a record-
extending fifth U419 Men's Cricket World Cup title at the Sir Vivian Richards Stadium,
Antigua, In 20227

Ans X 1. Binesh Bana
5 2. Ral Angad Bawa
3. Yash Dl

75 4 Hamoor Singh

Cuestion 1D ; 26433081831

Mot Atternpted and
Marked For Review

Chosen Oplion © -

Status @

Q.25 Match the columns.

Colamn-A (organelle) Column-B (Function)

i. Mitochondria a. Control of cell activity and
cell division

ii. Desmosomes b. ATP generation

iii. Lysosomes ¢. Adhesive complex

iv. Nucleus d. Contain hydrolytic
enzymes

Ans l.l=-a,l=b, fi-c, k~d

X 2l-cii-afi-d v-¢
S =B, 0=8 -8, V-8

4. 1-b,li-a lil-e n-d

Question 10 ; 26433053990
Status ;. Answered
Ghosen Oplion ; 4

Q.26 Which of the following is India‘s first smart and green highway?

Ans Eastern (RGP) Penphesal Exprassvey

2. Dalhl —Molda Expresswsy

3. Westam Perpheral Expressway

4, Yarmuna Expressway

Question 10 264230100074
Status ; Not Answered
Chosen Option | —
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0.27 Who was appointad as the new Chief Justice of the Madras High Court in February
20227
Ans X 1. Justice Salish Chandra Sharma

7 2. Justice Prashant Kumar hMishra
& Jushce Munistrvar Neth Bhandard

75 4. Justice Sanjaya Kumar Mishra

Question 10 @ 26433055050
Etatus  Answered
Chosen Option @ 2

.28 Who among the following was popularly known as ‘Lokhitwadi' 7
Ans X 1. Swaml Vivekananda

2. Gopal Harl Dealmuki
7 3. Jyoiiva Phule
7 4. Gopal Krishna Gokhale

Cwestion 10 - 26433089161
Status @ Answerad
Chosen Option : 4

.29 |dentify the element that does NOT belong to period 3 of modern periodic table.
Ans X 1. Sodium

2. Adurminiuwm
3. Hydrogen

2 4 Magnesium

Question 1D : 264330666606
Etatus - Answered
Chosen Gption @ 3

— — —
Q.30 Jugalbandi In Kathak refers lo |
Ans 1. Introductéary tem 1o anler stage

2 pure rythmic movements before fne end
3. ompetitive play between dancer and (ebla playsr

4. fast footwork

Question 1D ; 26433086568
Sfatus . Mot Answered
Chosen Option | =
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Q.31 Which phylum of the Kingdom Animalia lenown variously as sea walouis, comb
jellies, They are exclusively marine, radially symmetrical, diploblastic organisms
with tissue level of organisation. The body bears eight external rows of ciliated
comb plaies, which help in locomotion?

Ans 1, Clenophars
7 2 Arneiida
75 3. Porifera
7 4. Coelenterata

Question 10 : 26433092192
Statue © Answered
Chosen Option - 1

Q.32 Competition Act was setup In replacing Act.

Ans X 1.1891; FERA
X 2 2002 FERA
3. 2002 MRTP

7 4. 1991; MRTP

Cluestion |0 © 26433054787
Status - Answerad
Chosan Optian © 2

Q.33 Which of the fallowing options is comectly paired?
Ans 1. Plastids — Mon membrane bound

2. Nucleus — Mon membrane bound
2. Mitachorndria — Membrane bound

4. Ribozomes - Double membrane bound

Question 1D : 26433053987
Status | Answered

Chosen Option ; 4
— —_——— e e e —— — — =
CL34 Who among the following was the first Indian musician to recelve the Ramon
Magsaysay Award?
Ans 1. Ustad Alla Rakha

2. M3 Subbulaksnmi

3. Pandit Ravi Shankar
4. Lata Mangeshkar

Question |0 : 26433054470
Status - Answered
Chosen Option: 4

https:lissc_diglalm comiperfg2?/pub/2207 touchstonelAszsessmentQPHTMLMode 112207022254/ 2207 022254810237 1814 BEETEI02AG14 16762002, 28/58
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Q.35 As of 10 April 2022, who amang the fallowing Is the Comptroller and Auditor Genaral
of India?
Ans X 1. ShashiiKant Sharma

?f 2. Vinod Ral
3, Girlgh Chandra Murmmu

25 4. Rajiv Mehrishi

Questian 10 : 26433054536
Etatus @ Mot Answered
Chosen Option @ ==

Q.36 Who among the followlng was given the epithet as ‘Lord of the Plough® during the later
Vadic age In which use of iron plough was an Important part of agricultural practice?

Ans X 1. Agni
X 2. Surya
25 3. Varun

4. Indra

CQuestion 10 26433071498
Stalus | Answered
Chosen Option @ 4

Q.37 As of 7 April 2022, Article 19 of the Constitution of India guarantees how many rights
to all the Indlan citlzans?

Ans 2 |, Four
2, 5

& 2 Nine

4. Elght

Question |0 ; 26433054533
Elatus © Mot Answered

Chosen Option ; -

Q.38 Who received the prestigious Sanjay Gandhi Prize in Environment and Ecology in 1984
for demaonstrating ecological differentiation and ecosystem hypothesis In the light of
tropical vegetation of India?

Ans 1. Kamallit & Bawa
2. Ajit Kumar Banetjee

3. Ramden Misma

4, Dilp K Biswas

Cuestion |0 © 26433055800
Status @ Not Answered

Chiosen Optian @ -
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.39 The ‘Digital Population Clock’ was Inaugurated at the in Saptamber 2021.
Ans X 1, Indlan |nstitute of Management, Ahmadabad
2. Instiute of Economic Growinh, Dathi
75 3. Mational Institute of Educations] Plarning snd Administration, New Deihi
75 4 Indian Instiute of Technolegy, Murnbs

Question 10 ; 26433082807
Status © Mot Answered
Chosen Option © =

0.40 Parsonal Disposal Income = Personal Income - _____ .
Ans 1. persona! tex

7 2 Wages

X 3. Renl

X 4. Subsidies

Question 1D ; 26433059260
Stalus | Not Answered
Chosen Option @ -

—=
Q.41 The eighth seazon of the Pro Kabaddi League was hold at In 2021-2022.

Ans X 1. Hyderabad
7 2. New Delhi

3. Mumbal

4, Bengaluru

Question |0 : 26433089933
Status | Answered
Chosen Option * 2

.42 How many oxygen atoms are thers ina mn-le_-nl.éu of hydrogen peroxide?
Ans o2

2.4

3.1

43

Cuestion 10: 264230100702
Status @ Answered
Chosen Option ; 3
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Q43 Match the given pairs of winds and their corresponding regions correctly.

A. Mango Shower | |. Bengal and Assam
B. Nor Westers 2. Punjab, Uttar Pradesh and Bihar

C.Loo 3. Kerala and Kamataka

Ans l.A-3,B-1,0C-2
KaA-3B-2,C-1
P3.A-1,8-2C-3
M 4A-2B-3C-1

Question |0 ; 26433054983
Status ;. Answered
Ghosan Option ; 1

44 Who studied ecological succession in the Indiana Dunes of NMorthwest Indiana in the
1890=7
Ans X 1. Fraderde Clamanls

X 2. G Evalyn Hutchingan
3. Henry Chandier Cowies

7 4. Charles Efton

Question 10 ;. 264330100020
Status © Mot Answered

Chosen Option @ —

.45 In 2018, whatl was the investment in infrastructure as a percentage of GDP in India?
Ans 1.28
75244
o

4.30

Question 10 : 264330100054
Status : Answered

hosen Oplion ; 2

Q.46 Indian boxer (48 Kg) was one of the gold medal winners at the 73rd
Strandja Memarial Boxing Tournameant, held in Sofia, Bulgaria in February 2022,

Ans 1. Mitu Ghanghas
2. Babyrojizana Chanu
3. Gitlka Marwal
2 4. Manjfu Rani

Question 10 : 26433079560
Status - Answered
Chosan Option - 2
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.47 Whieh of the following ks NOT a part of resource planning?
Ans X 1. Managing people working In 2n arganization

X 2 Evolving a planning structure sndowsd with appropriate lechnology, skill and
institulional set up for implementing resource devalopmeant plans

3. ientfication and Inventory of resources across the reglons of e country

& 4. Matching the resaurce development plans with overall national developrient plans

Question 10 | 26433086758
Status | Mot Answered
Chosen Option @ =

Q.48 Which of the following is the primary constituent of naturally cccurring minegral
magnatite on Earth?

Ans X 1. Galelum exlde
2. lmon oxide
X 3. Numinium oxide

& 4. Magresium ouide

Question 1D ; 26433055824
Elatus - Answared
Chosen Option ; 2

Q.49 The Indian Constitution is divided into how many parts as of the year 20227
Ans X 1.53

2.1
338

405

Question |0 ; 26433086776
Status ;| Answered
Chosan Option {1

Q.50 The condition of warm days and cold nights are characteristics of which weather and
region of India?

Ans . Winters of northern [pdla

2. Summers of southem India

3. Summers of coastal areas

4. 8pring of Eastern Ghats

Question 10 : 26433064179
Status - Answered
GChosen Optlon @ 3

Sachan : Part A Goneral Englissring Civll & Structural
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L1 Foran 8 m simply supported RCC beam, the vartical deflection limits may generally be
assumed to be satisfied provided that the span to depth ratios are NOT greater than:

Ans 20
Xar
3.3z
X a8

Ouestion 10 @ 26433099791
Status ; Answered
Chosen Option @ 1

Q.2 Unit quantity rates for similar structure, in the same locality with similar specification
is reguired in =

Ans X 1. plinth area method
X 2. revised estimate
3. unit guartity method

2% 4, total quantlty method

Question |0 26433091135
Stalus | Answered
Chosen Option @ 1

Q.3 The spacing between bars of a coarse screen during the sewage breatment process is
about:

Ans 1. G mm or more
25 230 mim ar more
& 2. B0 mim or more

&, 20 mm gr mors

Question |0 ; 26433095948
Zlatus © Mot Answered
Choszan Oplion @ -

(.4 In consistency of soil, the limits are expressed in terms of L
Ans 1. leagth

2. volumetims

3. tme

4, porcenioge ol waler corteni

Cuestion 10 ; 26433096824
Status | Answerad
Chosen Option ! 1
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Q.5  The shear stress distribution of a beam section has the following shape. Identify the
shape of the beam section from the grven options.

Ang

Angle Section

» 2

Triangular

https:isse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207022254/220T02228451 D237 1816687 ..

Status @ Answerad
Chosen Oplion & 3

Question |0 26433088032

Q.6 Total guantity method requires .
Ans |. oetaied drawing
2 approsdmate drawing
X 2. outline drawing

4. only spegifications without drawing

Status : Answered
Chosen Option @ 4

Cuestlon 10 - 26433091131
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0.7 Conventionally, the blochamical oxygen demand (BOD) is measured for days.
Anz X 1. thros

X 2 sk
3. frve

X 4 four

Question 10 : 28433099767

. Mot Attempted and
i8S Marked For Review

Chosen Option @ ==

Q.8 Steady state of flow refersto:
Ans X 1 flow changes with time

X 2 depth of iow in a chiannal will remain sama
3. A doss not change with time

75 4. depth of flow in & channel will very

Question 10 - 26433098742

Mot Attermpted and
Marked For Review

Chosen Option ! -

Status

.8 Density of a fluid is its mass per unit volume, The dimension of density of a fluid is

Ans 1. AL
2 M2
a L3

4, kgim?

Question 10 ; 26433088697
Status 1 Answarad
Chosan Option : 2

Q.10 The reciprocal of density Is known as specific volume. The dimension of specific
volume of a fluid is .

Ans 1. mPlkg

2. W2

3 MLTR
PR

Cuestion 1D : 26433088701
Btatus © Answared
Chasen Option : 3
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0.11 Specific gravity of a fluld Is the ratle of Hs density to the density of a welldmewn fluld,

Compare the specific gravity of water, mercury and oil. Take 5, = specific gravity of
water, By = specific gravity of cil, and Sy = specific gravity of mercury.

X 1. S > Sw =S
X 2 Sy>Sw<Su
# 3. SM =< Sw = Soil

4, Bag > Sw = Sai

Ans

https:isse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207022254/220T02228451 D237 1816687 ..

Question 10 ; 26433088699
. Mot Attempted and
Slatus ; Marked For Review
Chosen Option @ -
Q.12 Freszing of freshly laid concrete sarlously impairs the structural Integrity of conerate
and results in strangth loss due to the:
Ans X 1. endotharmic reaction
2. formanon of 100 lenses n-capllary cavities
3. high waorkability
25 4, al-sntralning agents
Question 10! 26433096527
. Mot Attempted and
SIEWS prarked For Review
Ghosen Oplion ; =
Q.13 Which of the following Is NOT a use of total station?
Ans 1. Ramote distance and alevation measurement
2. Point location
3. Weather forecasting
i, Area compulation
Cuestion 10 : 264330100653
_ Mot Atternpted and
StetUS © parked For Review
Chosai Option - —
Q.14 Which of the fellowing is considered in calculating plinth area?
LCourtyard
IL.Open arca
Ans 1. Melther | nor il
25 2. Both | and ||
3. Only |
4. Only Il
Quastion 10 ; 264330911414
. Mot Attemnpted and
StalUS Marked For Review
Chosen Option @ -

https:lissc_diglalm comiperfg2?/pub/2207 teuchstonelAszsessmentQPHTMLMode 12207022254/ 2207 022254810237 184 BEETEA0246141676/2002.

36158



11423/22, 12:38 PM https:iisse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207022254/220T702228451 02371816687 ..

.15 Which of the following Is the most commonly used disinfectant for water?
Ans X 1. Accelarallon

X 2. Hydration
3. Chlgringtbion

75 4. Degradation

Question 10 ; 26433099772
Status @ Answerad
Chosen Option ; 2

0.18 As per |15 B00:2007, the slenderness ratio in a lension member where reversal of stress
is due to loads other than wind or selsmic should NOT excesd

Ans 180
x 2240
¥ 2.350

7 4,100

Question 10 - 264330100342

Mot Atternpted and
Marked For Review

Chosen Option ! -

Stalus .

Q.17 The property of the material or a structure indicating the extent to which it can deform
beyond the limit of yleld deformation before fallure or fracture s termed as:

Ans 251 malicabllity
7 2 fallure load
7 2. vielding

. ductility

Question |0 ; 26433099793

Mot Attempted and

Status : Marked For Review

Chosan Option -

Q.18 During maintenance of the track, which of the following problems can be corrected by
tightaning the fish bolts properly?

Ans 1. Pumping joint
2. Riding joint

3. Blowing joint

4, Buchkiing of rack

Guestion 1D : 264233091102

. Mot Attempted and
Status : Marked For Review

Chosan Option | =
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.19 Whileh of the following statements of Abraham Law for water to cement ratlo Is trua?
Ans X 1. Compressive strenglh Increases with Increasing wic Rallo

2 2 Concrete strangth direcily proportionaf to wic Ratio
7 3. No effect of wic ratio on comprassive strength

4, Compressive sifength Increasss with decreaging wic Ratio

Question 10 : 28433096518

. Mot Attempted and
8IS Marked For Review

Chosen Option @ -

Q.20 For determining the grain size of soil particles, which of the following eguipment can
ba used?

Ans X 1. Gale and runner
7 2. Channel
25 3. Runner and sprue

4. Slavé

Question 10 | 26433096822
Stalus | Answered
Chosen Option @ 4

.21 The initial and final setting time durations for ordinary Portland cement, respectively,
ares

Ans 1. 30 mimites and 10 hours
X 2 15 minutes and 30 minutas
7 2.2 hours and 24 hours

&, 1 hour and 3 houks

Question |0 ; 26433094802
Elatus - Answarad
Chosan Option : 1

Q.22 Alloys, often called Mutz metals or yellow metals, contain how much percentage of
copper In them?

Ans 1. 78-89%
X 2. 37-45%

3 57-63%

4. 70-75%

Question 1D : 26433068056

. Mot Attempted and
Status - parked For Review

Chasen Option © =
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.23 The vehicle which holds the constlituants of palnts in suspension and make it possible
to spread the paint evenly and uniform on the surface is called:

Ans X 1. pigments
7 2. base
75 3. drier

4. binder

COuestion 10 @ 26433091043
Status ; Answered
Chosen Option @ 1

Q.24 A structure through which discharge can be regulated is known as
Ans X 1wl

X 2. orifico

7 3. notch

4. regulsator

Cwestion 1D © 264330958638
Status © Answerad
Chosen Option © 2

0.25 The use of hollow pre cast concrete blocks in construction results in:
Ans X 1, increasing load bearing capacily of siructure

2, reducng dead weight of structhire
3. Inereasing cast of structure

2 4. increasing ducfility of structure

Question |0 : 26433088057

Mot Attempted and

Stalls: Merked For Review

Chosen Option -

Q.26 The addition of @ small portion of granite pelizhing waste in the design mix results in:
Ans X 1. decroased strangih

2. higher void ratio
3. improved packding dansily

75 4 lighter conerate

Cluestion |0 : 26433088088

. Not Attempted and
Stalls - yarked For Review

Chosen Option ! —
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0.27 As per 1S 383 (1970), the passing percentage of fine aggregates under the Zone IV from
an IS 600 microns sieve is

Ans X 1. 60-79%
< 80-100%
> 3 B-30%
P

Cluestion 10 © 26433096512

. Mot Attempted and
" Marked For Roview

Chesan Option @ -

Status

.28 Which of the following statements regarding, measurement of horizontal angles by
theodolite are correct?

I. Errors dus to adjustments of lino of collimatien and the trunnlon axls are sliminated
by taking both face readings.

ii. Errors due to eccentricity of vemiers and centres are eliminated by taking both face
roadings.

lil. Closing the horizon is a process related to relteration method of measurement of
horizontal angle.

iv. In closing the horizon procaess, the sum of angles is taken. This sum must be equal
to 540°.

Ans 1. lEand il
2 iiand iy
"

| ard il

> & land v

Question 10 ; 264330100654

Mot Attempted and
Marked For Review

Chosen Option @ -

Status :

0.29 Calculate the developmeant langth In terms of bar diameter for tensile reinforcing bar of
grade Fe 415, if design bond stress oy for M25 grade concrete is 1.4 MNfmm®
Ans P

Queastion 1D | 26433006332

Mot Attempted and
Marked For Review

Chosen Option ; -

Status::
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.30 The method of reciprocal ranging can be used in which of the following cases?
Ans X 1, Obstacie to chalning but not rangling

2 2. Dbstruction by a building
7 3. Obstruction by & river

4, Ob=tacia o ranging but net chalning

Question 1D : 264330100640
Status - Answerad
Chosen Option @ 1

Q.31 A cantilever 2 m long beam carries point loads of 300, 500 and BO0 N respectively at
0.5, 1.2 & 2 m from the Moed end. What will be the shear force (In N units) at the fixed
end and bending moment {in N.m units) at the free end?

Ans X 1. 500, 2350
X 2 800, 0

X 4. 800, 640
d 'iE'U':'. 0

Cuestion 10 ; 264330100859

Mot Attempled and
Marked For Review
Ghosen Option @ =—

Btatus ;

0.32 A cantllever beam of length L is subjected to UDL of Intensity w per unit length over s
middie one third part. Calculate the shear force at its mid span and fixed end?

e 1.

[¥s]

Question |0 : 26433092164
Status . Answered
Chogen Option @ 3

Q.33 Which of the given options is NOT a part of preliminary treatment of sewage?
Ans X 1. Grit chambers

2. Skimming tanks
7% 3. Screening

4, Sedimentsiion tBnks

Question 1D ¢ 26433095047
Status | Answeerad
Chosen Oplion : 3
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Q.34 Whieh of the follewing statements |s INCORRECT with regards to runoffs?

Anz X 1, Bare rock l= favourable to runoff
7 Z. Deep sandy soil favour absorption
75 3. Steep slopes increase nunoff

4. Veselglion accelaralas runol (other things ansining the sams)

Cuestion 10
Status :
Chosen Option :

26433099751

Mot Attempted and
Marked For Review

hittps:isse, digialm.comperig2 T ipub/ 2207 touchstone/AssessmentQPHTMLMade 12207022254/ 220 702225451 D237 181 66AT ..

.35 Which canal irrigates only on one side because the area on the other side is higher?
Ans X 1. VWalershed canal

X 2. Side slopa canal
3. Contour cang

7 4. Ridoe canal

Cestion 10 :
Stalus
Chosan Option !

26432095370

Mot Atternpted and
Marked For Review

Q.36 In the execution of any work, following functions are performed. Mark the correct
sagquence In which they are performed.
1. Calling tenders
2, Supervision
3. Final bill for payment to contractor
4. Running bill
5. Estimating
6. Specifications
7. Return of earnest maney deposit
8. Fixing up work agency
8. Schedule of rates

114, 7.2 6, 88,6.9
2185798642

3,485 1,8/2497

Ans

X 4.1,3,57924868

Question IO
Status :
Chosen Option ;

26433099714

Mot Atternpted and
Marked For Review

-

Q.37 As per Indian Standard {15 287 : 1883), India iz divided into how many zones based on
its refative humidity for air seasoning of timber?

Ans 1. Five
2. Thras
5 3 Two

4. Four

Cuastion |0 -
Btatus
Chosan Option

26433088080

Mot Atternpted and
Marked For Review

-
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0.38 Which principle states that the Influsnce lina for a function (reaction, shear, mament)
is to the same scale as the deflected shape of the beam when the beam is acted on by
the function?

Ans X 1. Von Mises
2. Muller-Breslau
75 3 Mexwel|
7 4. Rankine

Question 1D ; 26433098778
Etatus 1 Answerad
Chosen Option : 4

Q.39 As per IS B00:2007, the design bending strength of a laterally suppeorted beam s given

by,
Ans ﬁhf
X1 Mg = Ymo ?E
p
_ Ymo
xz Mg =Py *‘fﬂ
a

Cuestion 10 264330100832

Mot Attempted and

SIS : prarked For Review

Chosen Option ©

.40 The measure and adjustment of price levels for goeds and services across a broad
sector of the economy Is called as:

Ans 1. escalation
2, indexaiion
X 3. deprociation

4. rationalisation

Question 10 : 26433099712

Mot Attempted and
Status - yarked For Review

Chasen Option @ -
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.41 Tha correct order of the following pavement layers from bottom to top Is:
i. Base course
Ii. Subgrade
fii. Binder coursa
iv. Sub-base course
v. Surface course

Ans fi, 1oy b, i, ¥
P2V, | T
OB Ll
XAl il
Cuastion 1D 26433086527
Mot Attempted and
Stalls © Marked For Review
Chesen Option | -
Q.42 When the sanctioned estimate is found more than the actual requirement, s
prepared.

Ans X 1. & supplementary estimate
7 2. an approdmate estimats
3. a repair estimate

4, 8 revisad estimalis

Question 10 : 26433091126

Mot Attempted and
Stallis | parked For Reviaw

Chosen Qption ; -

.43 While designing for fire resistance of a structure made with structural steel, no
reduction in the yield stress needs to be considered below T* C, where T [a;

Ans 1. 235
2.8

> 3313

4,205

Question 1D : 26433099796

. Not Attermnpted and
Statls : prarked For Review

Chosen Option @ =

.44 Find the head loss due to friction in a pipe of diameter 0.4 m and length 100 m,

through which water s flowing at a velocity of 2 in/s using Chezy's formula, for which
C=00.

Ang 1.1.11'm
2 t5im
3 1.61m
4141 m

Question 10 . 26433088717

Mot Atternpted and
Marked For Review

Chosen Option @ =

Status ¢
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.45 According to Indlan standards, VG30 grade of Bitumen s suitable fer which of the
following 7-day average maximum air temperature ranges?

Ans X 1.30-38
> 2.20-30
7 3.45-53

4. 5t - 45

https:isse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207022254/220T02228451 D237 1816687 ..

Question |0 : 26433099707
Etatus © Mot Answered
Chosen Option @ ==
Q.48 Which bogue compound s minimised to limit the hydration heat in Jow heat Pertland
cement for mass concreting projects?
Ans X 1. Tricalcium =silicate
£, Tricelcium altminate
7 3. Tetracalelum aluming ferrits
2 4, Dicalclum sillcata
Question |0 : 26433088054
. Mot Attempted and
St2S | piarked For Review
Ghosen Option @ =—
0.47 Select the cormect optlon for the glven statemants,
Statemont _ ;
1; if CBR for 8 mm exceeds that for 2.5 mm, the CBR test should be repeated,
Statement
2: If identical results follow, the CER comespending to 2.5 mm penetration should bo
taken for design.
Ans 1. Both statement 1 and statement 2 are true bul statement 2 is not e cormrect
explanation of statemeant 1
Z. Statemeant 1 Is false but statement 2 Is tnie
i, Btajamant 1/=mus bul statomen] 2 1s false
4, Both statement 1.and staiement 2 are frue and statement 2 15 ths comect explanation
of statement 1
Cuestion 10 . 284330968647
. Mot Attempted and
StaluS ! Marked For Review
Chosen Option | -
Q.48 For the web of channel section to ba classified In plastic class, the ratio Df'dupth fo
thickness of web should be .
Ans 1. lessthan 9.4 ¢
2, less than 84 €
3. lees than 52 ¢
4. less than £2 &
Quastion 1D - 264330100837
_ Mot Attempted and
gty Marked For Raview
Chosen Option | —
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.49 Tha effective lengths of a column about the x axis and y axis are 3 m and 2.75 m,
respectively. If the size of the column iz 400 mm * 600 mm, classify the column.

Ans X 1. Long column
7 7. Pedestal
75 3, Slender column

4, Srmort column

Questian 10 @ 26433096322
Etatus : Answered
Chosen Option @ 1

https:isse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207022254/220T02228451 02371816687 ..

Q.50 smidy the given table and answer the question that follows.

Line FB ER
AB T6° 300 259° 10°
BC 110° 007 289" 30
cD 227° 00 47° 00
DA A09° 00" 1305 00"

The fore bearings and back bearings for a closed traverse ABCD are given
above. Among the stations A, B, C and D, find the stations affected with local
artraction and what will be the corrected FB of the line AB,
Ans Local aitrecton; A and B, FB of AB: 75" 307
2 2. Local attraction; & and B, FB of AB: 77* 30
3. Local attraction: C and O; FB of AB: 75 30"
4. l'ocal attraction: G and D; FB of AB: 777 30"

Question 1D : 264330100650

Mot Attempted and
Marked For Review

Chosen Option : —

Slatus @

CL51 As per IS 456-2000, what is the maximum free watar-to-cement ratio of an M40 grade of
reinforced concrete under extremes exposure conditions? ]

Ans 1.05
X 2.0.60
3.0.55

4. (.40

Question 10 : 26433096520
Stalus : Answered
Chosen Option : 4
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Q52 A simply supported beam of span L is subjected to two point loads, each of
magnitude P, acting at one third of the span, as shown in the figure below. Which
of the follloing statements is correct about the natre of the BMD?

) P

—_—
fia

Ans 1. Bending momant & constant in the middle ona third pan
2. Bending moment is constant in the left one third part

75 3. Bending moment Nirst Increasss lingary up 1o mid span then decreases lingarly In e
middie one hird part.

75 4 Banding moment s 2ero at the mid spar s2ction,

Cuestion 10 ; 26433092163
Status ; Answered
Ghosen Option ; 1

Q.53 The moisture content at which specified amount of mmpaﬂ.lm produces maximum
dry dansity is known as

Ans X 1. specific molsiure content

X 2 absolute moisture content
3. optimum rcisture contant

4. retgined moisture content

Question |0 ;. 26433096644

Mot Attempted and
Status: Marked For Review

Chosan Option = -

0.54 An automatic rain gauge Is usedtomeasure |
Ans 1. evaporation

2, precipiattan

3. transpiraiion

4. Infiltration

Ouestion 10 : 26433095847
Status @ Answearad
Chosen Option @ 2
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.55 According to IS 456:2000, the assumption made in the limit state of collapse In lexurs:
The maximum strain in concrete at the outermost compression fiber is taken as
in bending.

Ans X 1,0.035
* 2002
2 3.0.002

4, 00035

Question 1D ; 26433096326

Mot Attempted and
S1alUS - yarked For Review

Chosen Option ;

0.56 Irrigation is necessary in an area where:
A.Ralnfall is uniform throughout the year
B.Ralnfall is highly erratic and imegular
C.Land is waterlogged
D0.There are inadequate drainage facilities

Ans X 1.C
K2A
3B

Xap

Question 1D 1 26433095834

Mot Attempted and

Stallis | Marked For Reviaw

Chaosen Option ;

1

https:iisse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207022254/220T02228451 02371816687 ..

Q.57 As per noise pollution rules — 2000, the permissible limit of noise {in dB) during night
time of a residentfal area is given as:

Ans 1. 55
2. 40

3. 45

Ouestion 10 : 26433005922

Not Attempted and

Statls  prarked For Review

Chosen Option

1

.58 The proposed design speed (km/h) for urban expressways as recommended by IRG is:
Ans X 1.BD

2.120
a &n

4, 100

Ouestion 1D : 264330100973

Mot Atternpted and
Marked For Review

Chosen Option ; =

Status
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.59 Which of the fallowing relationships represents tho hydrologleal cycla?
Ans
x 1,

* 2. Precipitation = Evaporation * Runoff

3

X 4.

Cuestion 10 : 26433096111
Statlus @ Answered
Chosen Option ; 4

CL60 Consider the following statements with regard to service unit method.

I. The estimates prepared by this method vary considerably according to the types of
construction and standards of finish.

Il. The estimates prepared by thiz method can be used for the actual execution of the

project. _
Which of the following options Is true?
Ans 1. Statement I only is true
2, Statamant | = jrue and slatamant || 15 (2lze

2 5. Statamant | only lstrue
2 4, Statements | and |l ars irie

Cuestion 1D ; 26433091142

Mot Attermmpted and
Marked For Review

Chosen Option @ -

Status

0.61 The surface of a liquid acts like a stretched elastic membrane under tension. This is
mainly due to .

Ans X 1. visoosiy
X 2 capiliarty
- Surface teRgion

2 4, velooity of flow

Question 10 : 26433088702

. Mat Attempted and
" Marked For Raview

Chosen Option | =

Status

Q.62 The aggregates which are avallable near the riverfront are found to have a rounded
shape dus to

Ans 1. Impacilan

]

2 erushing
3. afriticy

4, segregation

Qwestion |0 : 264330100151
Status - Answered
Chasen Option : 2
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.63 Whileh of the follewing Instruments can be used Tor oblique offsets, at angles ather
than 45 degrees?

Ans X 1. Opticai square
7 7. Cross—siaff
75 3. Franch cross—staff

4, Adiestanle cross-stafl

Question 10 : 264330100642
Etatus ; Mot Answered
Chosen Option @ ==

Q.64 Water head upstream Is Increased when the main canal is running with low supplies
by means of .

Ans X 1. bedbanks
£, oross regulatons
5 3 sldees
2 4. gales

Question |0 : 26433095867
Status | Mot Answered
Chosan Option ! -

Q.65 A technician reports the liguid limit of an undisturbed clay as 50%. Accarding ta Ralph
and Peck, what will be the estimated compression Index of this clay?

Ans X 1048
2 036

7 3042
4.0.24

Question |0 ; 26433098739
Elatus 1 Mot Answered
Chosen Option ; -

Q.66 The formwork s measured In .
Ans |, squars metre

2. cublc metre

3. Par metre

4, lalagram

Cuestion 1D © 264330100902
Status | Answered
Chosen Option ! 2
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CLET Whieh of the follewing Is unfaveurable for econamic bridge construction?
25 1, Imexpensive labour and ample construction materal |5 avallable near (he proposed

bridge site.
7 2. The river widih is narrow. The curent velocity is small. The river has mild gradient.

Ans

75 3. The exlsiing road passes very near to the proposed bridgs site,

4 The rock laundation i available at 40 m depth fram the greund surface

Question |0 26433099762
Status : Mot Answered

Chosen Option © =

Q.68 Which of the following errors in linear measurement by chains or tapes will always be
negative?
Ans 1, Chaln lengih oe long

& 2. 8ag in chain
X 3. Bad ranging
& 4. Temperalure vanstion

Cuestion 1D © 264330100637
Status - Mot Answered
Chosen Option ; =

Q.69 Identify the method of road construction which has the following properties:

I. Has large number of transversz joints
il During rains, the water gels collected between the finished bays

iii. Needs complete diversion of traffic
Ans X 1, Continuous bay method

& 2. Dowel bar methad
3. Altermate bay rmathod

4. Expansion jnint mathod

Question |0 ; 26433086537
Statiss.: Not Answered
Chosen Optlon @ =

0.70 A compound plping system consists of 1500 m of 50 em, 600 m of 40 em and 400 m of
30 cm diameter pipas of the same material connected in series. Calculate the
equivalent length of a 40 cm pipe of the same material.

Ans 1. 2500 m
2. 2400m
3. 2900 m

4 2778 m

Question 1D : 26433001147
Satus | Answered
Chosen Option : 4
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Q.71 With passage of time, which of the following scales will NOT glve accurate results due
to shrinkage of the sheet or the paper?
I. Plane scale

ii. Engineer's scale
iii. Representative fraction
iv. Diagonal scale

Ans X 1land v

2. |, liand i
3 0 and
X 4. i and v

Question 10 : 264330100635

Status : Mot Answered
Chosen Option ;-

0.72 Which of the following statements Is/are true?

i. CST series of sleepers are made of wood,

il. The composite sleeper index Is calculated for wooden sleepers.
Ans X 1.Bothiandii

75 2. | s true and il is the correet explanztion of |

3. Only |
X 4. Only
Question 1D 1 26433086545
Status @ Mot Answered
Chosen Option | —
= ==
Q.73 From the engineering peint of view, sandstone and limestonas belong to which types
of rogks?
Ans 1. Intrusive rock

7 2. |lgneaus rack
3. Metamarphlt moks

4. Sadimentary rotks

Cuestion |0 ; 26433006649
Status ; Mot Answered

Chosen Option ; =
Q.74 A very thin sheet of wood which [ cut from the round logs with 0.5 to 5 mm thickness
is called:
Ans 1. blockboard
2. chipboard
3. veneer

75 4. fire wood

Ouestion |0 : 26433088059
Status . Mot Answered
Chosen Option @ =
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Q.75 Calculats the sound pressure level in decibel for a given sound pressure of 20 = 10°
Micro-Pascal.

Ans w1 40t
24
¥ 340

4. 80

hitps:isso.digialm.com/peng2Tipubl 2207 touchstone/AssessmentQPHTMLMode 1/2207 022254/ 2207022254 51 D 2371816687 ..

Guestion 10 © 26433095920
Stetus : Answered
Chosen Option ; 1

.76 The Central Pollution Control Board of India functions under the:
Ans 1. Ministry of Environment, Forast and Chmate Change

2 2. Ministry of Sience and Technology

7 3. Ministry of Earth Sciences

X 4. Ministry of Home Affalrs

Question 1D ; 26433085841
Status : Not Answered

Chosen Option @ =

Q.77 Which of the following is NOT a fundamental building block in estimating construction
labour estimatos?

Ans XX 1, Wark hour unil rates per guantity
X 2. Project guantities
3. Project nwnsae

&, Craw mix

Questlon 1D : 26433089715
Chosen Option © =

Q.78 The theory for the time rate of one-dimensional consolidation is NOT hased on which
of the following assumptions?
Ans 1. The clay layer | homogensaus
2. Tha cornprassian of the sall layer iz doe to the change in volume only
3. Barcy's Law is valid

4. The olay tayer is not satumaizd

Question 10 - 26433098738
Status © Mot Answered
Chosen Optlon © =

https:lissc_diglalm comiperfg2?/pub/2207 touchstonelAszsessmentQPHTMLMode 112207022254/ 2207 022254810237 1814 BEETEI024G1416T6/2002. . 55/59



Lt

23122, 12:38 PM hitps:iissc.digialm.com/perg2Tipubl 2207 touchstone/AssessmentQPHTMLMode 1/2207 022254/ 2207022254 51 D 2371816687 ..

O.79 For caleulation of velume of earthwork, which of the following formulas assumes that
short lengths in parabolic arcs are conzidered as parallel to each other?

Ans X 1. Trapezoidal rufe formola
7 7. hwerage area formula
75 3, Mid-zsaction foermula

4, Simpson's rula Tormnuls

Ouestion |0 @ 26433096885
Etatus : Answered
Chosen Option: 3

Q.80 For laminar flow through pipes, the Reynolds number should be:
Aneg X 1. Greater than 4000

X 22000 to 3000
3. bess than 2000

5 4. 3000 w 4000

Cluestion 1D © 26433090748
Status @ Answerad
GChosen Option © 1

Q.81 In which of the following cases, valuation is not required?
Ang X 1. Compulsory acquisition

2. Buying and =elling of pronerty

3. Beturity of loans against the property 1o be marigaged

4. & governimant bulding B o e constnicied on govamment lang

Question 10 26433099717
EStatus . Mot Answered

Chosen Option § =

0.82 According to IS 456: 2000, The expression for equivalent shear is given
Iy :

WHERE

Wy = SHEAR

Ve = EQUIVALENT SHEAR

Ty = TORSIONAL MOMENT

b = broadth of the beam

Ans 1

Cuestion 1D ; 26433099429
Status ;| Mot Answeraed
Chosen Option ;| =
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0.83 Tha damaged material an the surface of road which Is removed by rubbing or ehipping
action is called:

Ans X 1. rutting
¥ 2. sftrition
£ 3. stripoing

4, abiresion

Ouestion |0 : 26433088062
Etalus | Answered
Chosen Option @ 4

Q.84 Which |s the product that is formad after the heating of gypsum at 393 K and
evaporation of 75% of water content from 7

Ans X 1. Geo-polymer
7 2. Calined lime
5 3. Cement

4, Piasier of Parlu

CQuestion |0 26433088084
Stalus | Answered
Chosen Option @ 4

Q.85 The direction of a line given by an angle measured clockwise fram the north end of a
merldlan Is called:

Ans X |, horlzontal curve
7 2 parabolic curve
3, ezimuih

& eantour

Question |0 ; 26433099726
Elatus © Mot Answered
Chosen Option ; -

0.86 Polyethylene and polyvinyl chloride resins are used in various parts of bullding areas
for:

Ans 1. waler procfing

5 2. struetural strength

3. termite proofing
75 4. structural ductlity

Cuestion 1D - 26433088090
Btatus © Answared
Chasen Option : 1

£5/58
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.87 Tha type of footing in which the load bearing structures share the common
rectangular or trapezoidal footing is called:;

Ans 1. combinad footing
7 7. eceenlric footing
75 3. |zolated losting

7% 4. slepped footing

Question 10 @ 26433096587
Etatus Mot Answered
Chosen Option @ ==

Q.68 IM limit state of collapse:
Thie area of stress block for a rectangular section subjected to flaxure Is.

Ans X 1. Ares of rectanguiar portion + Area of triangular portlon
X 2. Area of rectangular portion
2 3. Area of trlangular portion

4. Araa of reclanguiar portion + Area of parabolic pertlan

Question 10 26433099424
Status | Not Answered
Chosen Option ! -

Q.89 The Thiessen palygon method is used 1o ;
Ans 1. divide catchments into sub-calchmenis

2. estimate the convective part of rainfall
7 3. calculate wind cormection for rainfall

4, calouiats average precipitation over #n area

Question 1D : 26433005852
Status : Mot Answered
Chosen Option - =

Q.90 When the water table is close to the ground surface, the bearing capacity of as soil is
reduced to :

Ans 1. one=thard
2, one-hall

3. ene-fifth

4, three-=sventh

Cuastion 1D ; 26433096807
Status | Mot Answered
Chosen Option ! —
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0.91 Forthe M 20 concrete and the Fo 415 steal, the balanced moment of resistance is:
An® X 1.2.27 bd"

7 2. 2.07 bd?
276 be?

X 4. 286 bd?

Question 10 ; 264330100901
Status - Answerad
Chosen Option : 1

0.92 In diagrams of the croas-sections of the rails, the rails are sometimes shown tifted.
The reason for this tilt in rajls js:

Ans ¥ 1 lo provide super-slavation
X 2. to provide smooth movemant siong a umout
7 3. to provide grade compensation

4. to eiiminate the cemetitz of coning of wheets

Cluestion 1D © 26433086548
Status @ Not Answered
Chosen Optlon © -

Ans

What is the specific term that is described for the % grade of bitwmen?
1. Panatration

2 2. Residual
3. Blown

X 4. Cuthack

Question |0 26433088069
Status : Answered
Chosen Option : 1

Ans

Q.94 The value of maximum shear force In a rectangular section of 3 beam having depth
150 mm is 50 kM. Calculate the width of the beam zection if the permissible maximum
shear streas of material is § MPa.

1. 100 mm
75 2,200 mm
3. B6.ET mm
4. Cannot be predicted using the givan data

Question 10 : 26433088035
Status . Answered
Chosen Optian @ 4
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0.95 For locating contaurs by indirect mathod, two gulde polnts A (Elevation = 600 m) and
B {Elevation = 610 m) are established. The horizontal distance between the two points
on the plan Is 1 em. Find the distance of the contour of 605 m from polnt A (o the

plan).
Ang X 1.1m

2. 0.5em

X 3.1 om
7 4.06m

Question 10 - 264330100663
Etatus : Answered
Chosen Option : 2

https:isse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207022254/220T02228451 D237 1816687 ..

0.86 Initially, the Central Pollution Control Board was constituted only for the control of:
Anzs 1. wakerpoliution

74 2. nolse pallution
X & alr poliutian

4. =ail pollution

Question 1D : 26433095940
Status ; Answered
Ghosen Option @ 4

0.97 Which recording raln gauge s NOT able to givas a plol of a mass curve of ralnfall?
Ans X | Symons rin gauge
2. Tipplng-bucket bype
& 3. Weighting-bucket type
4. Nalural-syphon tyoo

Question |0 ; 26433095848
Elatus © Mot Answered
Chosan Oplion @ -

0.93 The design speed for a highway increases with an increase in the:
Ans 1. curvature

2. quality ol the pavement meterlal
3. crass-slope of the terrain

4, traffic density

Cuestion 1D © 26433091094
Stetus | Answered
Chosen Option ! 3
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0.99 For measurement of vertical angles through theoadolite, the Instrument should bae
levelled with reference to the bubbile and the clamp
that is used to rotate the telescope in the vertical plans.

Ans X 1. foot-serew; lowsr plate

25 2. albtude, upper plate
7 2 spindle; vertical piste

i

=

alfifude, verical nircle

Question 1D ; 264330100655
Etatus  Answerad
Chaosen Option : 1

Q. 100 Wihen the fine aggregate s molst, volume batching Is not considerad as a good
method for proportioning because of the

Ans 1. specific. gravity
X 2. fineness modulus
3. bulking of =2and

4. irregular grain particles

Question 1D - 26433096524
Status ; Answered
Ghosen Option @ 1
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Junior Engineer Civil Mechanical Electrical and Quantity Surveying and

Contracts Examination 2022

oll Number
Candidate Mame
Nenue Name

Exam Date 15/11/2022

[Exam Time @:00 AM - 11:00 AM

Subject Junior Engineer 2022 Civi
saclion : Geporal Intelllgence and Reasoning

Q.1 A person starts from point @ and moves10 km West. He turns left and moves 5 km,
turns left again, and moves 5 km, then turns right and moves 3 km and takes a final
laff turn and moves 5 km to reach a polnt F. How much and In which direction does he

need to move now to reach point G7
Ans X 1.5 lom Easi

X 2 10 km Esst
3. 5 km South

#. 8 kmy Marth

Cuestion |0 26433068164
Status . Answered
Chosan Oplion : 4

0.2 Select the option that is related Lo the third word In the same way as the second word
Is ralated to the first word. (The words must be considered as meaningful English
words and must not be related to each other based on the number of letiersinumber of
consonants/vowels in the word)

India : Asla : : Brazil : 7

Ans 1. Sauth Americs
M 2 Afmce
3. Morth &merica

4. Europe

Cluestion 10 264330656238
Status | Answarad
Chosan Option @ 4

.3 Select the option that is related to the third number in the same way as the second
number is related to the first number and the sixth number is related to the fifth
numbaer.

18:335 0147 22:495

Anzs X 1.227

2. 203
3.223
X 4,237

Cuiestion 10 26433067911

Mot Attempted and
Marked For Review

Chosen Option @ —

Status
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G4 1A Gt * 4 B it 5, i -, moef £ ot =%, Flusn ool will be Uie sabis of tie Sl iy et
128 € &8 B2 ASD o= ')

Ans X 1.3
Xo2g
oAy

Guestion 10 © 26433085373
Stetus . Answeared
Chosen Option ; 3
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Q.5 Select the comveet miror image of the given fignee when the mivrar is placed ar"AB' as shown.

A
b
*—'Q
B
>
-
Pk
L
P> *
X a

Question 10! 26433057946
Status @ Answered
Chosen Optlan @ 3
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o & paper is folded and cut as shown. How will it appear when unfolded?

Ans

Xz

Cuestion 10 : 26433068493
Status @ Answered
Chosen Option © 4

Q.7 In this guestion, three statements are given, followed by two conclusions numbered |
and Il Assuming the statements to be true, even if they seem to be at varlance with
commonly known facts, declde which of the conclision(s) logically follow(s) from the
statements.

Statements:

All consonants are vowels,
Some vowels ars alphabets.

All alphabets are words.
Conclusions: )

l. All consonants are alphabets,
Il Some vowels are words.

Ang Only conclugian I folows

Z. Both conclusions | and 1 follow.

X 3. Meither conclusion | rar 1] follows.

4. Only conciusion [ follons.

Question 10 © 26433057924
Etatus : Answered
Chosen Option : 1
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0.8 Salact the option that is related to the fifth letter-cluster in the same way as the second
letter-cluster is related to the first letter-cluster and the fourth letter-cluster is related

to the third letter-cluster.
FRAMCE : QEZMDE : : DEMAND : DCLECM : : PRIMCE : 7

Ans X 1. QOHMBD
X 2. QCMHDE
3. QOHMDEB

< 4. OGHMDE

Question 1D - 26433056034
Etatus : Answered
Chosen Option © 3

0.8 Thers are seven students M,N,0,P.00,R and 5. Esch scored different marks in a test. P
scored highar marks than only three students, § scored higher than M. N scored
higher than P. Q scored higher than R, who scored the least marks among all. W
scored highor than N. O scored higher than Q. Who is at the third position from the top
among all?

Ans b
K 2. M

3. P

X a0

Question 1D ; 26433068875
Status | Answered
Chosen Option | 4

Q.10 Select the word-pair that best represents a similar relationship to the one expressed in
the pair of words given below.
(The words must be considered as meaningful English words and must not be related
to each other based on the number of lettersinumber of consonants/vowesls In the

word.)
Temperature ; Kelvin

Ans 1. Temperature ; Degres
2. Ohm ; Resistance
3. Pazcal ; Pressure

4, dmounl gfsubslenees @ Mole

Question |0 ! 26433092955
Stalus | Answered
Chosen Option @ 2

Q.11 Which of the following numbers will replace the question mark (7) in the given series?
7,10, 22, 49,97, 7

Ans 1. 172
2.175

3. 184

X a4 182

Cuestion 10 ; 26433067886
Status o Answered
Cheo=sen Option : 1
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.12 Salect the optlon that s related to the third term In the same way as the second tenm is
related to the first term and the sixth term is related to the fifth term.
2:10:9:7:1:4.:66
Ans X 1,738
K2 ey
M 2730
4 71
Cuestion 10 ; 26433067520
Etatus | Not Answered
Chosen Option ; =
Q.13
Ans
B
3.
4
Ouestion 1D | 26433068209
Status - Answerad
Chosen Option': 4
.14 A # B means "A is the Brother of B

A B means ‘A |s the daughter of B

A & B means "A is the husband of B’

A % B means 'A is the wife of B'

If LEMEPFOLZ, than how I= Q related to L?

Ans 1, Husband
2, Father'a bratner
3. Brother

4, Brother's san

Question |0 ; 26433082528
Status | Answerad
Chasen Option : 2
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Q.15 Whieh of the given lotter-clustera will replace the gquestion mark [?) In the following
series?

EUZB, ISXE, MOVH, 7, UMRN
Ans X 1. RPTK

2 QOTK
X 3 ROTK
75 4 nouUK

Question 1D ; 26433056139
Etatus | Not Answered
Chosen Option ; =

Q.16 Which of the following numbers will replace the gquestion mark (7) and complete the
given number series?

42,43, 48,57, 74,99, 7
Ans X 1.135

2.136
3. 134
X 4,133

Question 10 : 26433067470
Status @ Answerad
Chosen Option © 3

Q.17 Two statements are given, followed by two conclusions numberad | and Il, Assuming
the statements to be true, even if they seem to be at variance with commonly known

facts, decida which of the conclusions logically follow(s) from the statemants.
Statements:

All gems are stones,

Some gems are diamonds.
Concluslons:

l. Same stones are gems.
il. Some stones are diamonds.

Ans 1. Meither conclusion | nor 1| follows
2. Only conclusion [ follows
3. Only concleston | Tollows

4, Both conglli=ons Fand || folkw

Question |0 : 26433056697
Stalus | Answered
Chosen Option: 3

.18 In a certain code language, 'PAPERS" is writtan as "WVFTHTT and "CUTTER' is written as
IZXWGES' . How will "JUNGLE' be written in that language?

Ans X 1. FYRJINF
2. PZRINE
3. PZRJOF

4 PPRINF

Ouestion |0 : 26433056666
Status @ Answered
Chosen Option : 3
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Q.19 Arrangs the following words In a logical and meaningful erder.
1. Stratosphere
2. Mesosphere
3. lonosphere
4. Thermaosphere
5. Troposphere
6. Exosphers

Ane X 1.5;1,4,2, 3.8
X 251,324,686
35,1, 2.3 6,4

E 4 741
4 51,24, 3, 6

Question 10 : 26433085609
Stalus @ Answarad
Chosen Option ; 2

.20 Select the option that indicates the correct arrangement of the given words in the
order they appear in an English dictionary.
1. Deelivity
2. Decipher
3. Decapitate
4. Deception
5. Debauch
6. Decompose

Ans X 1.2,5,2,4,1,8
X 2.2,54,2,1,8
3.6 3. 4.2 1.8

453,24 1,8

Question 10 : 26433068258
Status . Mot Answered
Chosan Option @ =

0.21 Select the word-palr that best represents a sim|lar relationship to the one expressed in
the pair of words given below. (The words must ba considerad as meaningful English
words and must NOT ke related to each other based on the number of letters! number
of consonantsfvowels in the word)

Servant : Master

Ans 1. Much | Mars
2. Adnof - Amiable
3. Fertile : Productive

4, Mess - Clumsy

Cuestion 10 26433080424
Status | Answored
Chaosen Option © 4
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.22 Sealect the correct combination of mathamatlcal signa to sequantlally replace tha *
signs and to balance the given equation.
56*23°70"33

Aﬂ" K’I b T T i
K24

Question 1D ; 26433057953
Etatus | Not Answered
Chosen Option ; =

Q.23 Which of the given letter-clusters will replace the guestion mark {7) in the following
seres’?

MEBH, QGDK, UIFN, 7, CMJT
Ans 1. YKHQ

2 2. ZKHO
3. 7KIa
X 4. YKIg

Question 10 26433056135
Stalus @ Mot Answersd

Chosen Option & -
Q.24 Arrange the following in a logical and meaningful order.
1. Trouser
2, Shirt
3. Socks
4, Headgear
5. Necklace
Ans 1.3,1.2, 5.4
23,4126
XN 332145
43,5241

Question 1D : 26433079463
Stalus - Answered
Chosen Option © 1

Q.25 Seven paople, A, B, C, D, E, F and G, are sitting In 2 stralght row, facing the north. Only
two people sit to the left of G, Only two people sit between A and F. A sits to the left of
F. D I= an immedlate nelghbour of F to the right. Only one person sits to the right of B.
E iz not an immediate neighbour of G. Who sits to the immadiate left of F?

Ang 1. C

2D
& E

4, G

Question 10 . 26433055895
Etatus : Not Answered
Chasan Option @ -
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Q.26 =elecr the figure froati the aptionn that can eeplace the quaction maek |71 abd comiplets the izl oeaton & NOT
aliowrad ),

+d

Ans

> 1

e

Cuestion 10 28433078987
Status - Answerad
Chosen Option @ 4

0.27 Select the option that is related (o the third term In the same way as the second tarm is
related to the first term and the sixth term Is related to the fifth term.
347 - 668:: 284 7 415736

Ans 1. B2C
2. 805
3. 676
4. B4

Question 1D : 26433057581

Status : Mot Answered
Chosen Option ; -
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Z. Ghina
5 3, Thailand
2 4. Spain
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.28 Salect the option that s related to the third word In the same way as the second waord

is related to the first word, (The words must be conzidered as meaningful English

words and must not be related to seach other based on the number of letters/inumber of
consonants/vowals in the word.)

Eiffel Tower . France :: Great YWall : 7
Ans X 1. India

Quiestion 1D : 26433067356
Slatus : Answered
Chosen Option @ 2

Q.28 In a code languags, ‘cake has sugar’ is written as "est bon wig', 'a slice of cake® is
writtan as 'bleu eau tuf wig', "sugar Is sweet' s written as "lat gif bon'. What Is the code
for the word "has’ in this language 7
Ans X 1. bon
& 2. wig
4 sl
> 4. lat
CQuestion 10 : 26433056766
Status : Answered
Chosen Option = 1
.30
Anz
h
2
3.
> 4
Cluestion |0 : 26433068136
Status | Answered
Chosen Option ; 2
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0.31 Which lattar cluster will replacs the gquastion mark (7) to complets the given sories?
EAHU, KQTC, 7, WWRS, CMDA

Ans 1. QGEFK
X 2 RTGL
75 3. PHGL

X 4. YESD

Question 10 : 26433079431
Etatus ; Mot Answered
Chosen Option @ ==

.32 Which letter-cluster will replace the question mark (7) to complete the given serles?
FTYG, IXDM, 7, OFNY, RJSE

Ans X 1. KCHS
X 2 KBJT
3 LBIS

¥ 4. LDER

Question |0 : 26433068050
Status | Mot Answered
Chosen Option ! -

0.33 In a code language, 'PURE’ is written as ‘NSPC' and ‘WHITE' is written as ‘UFGRC’".
How will 'COLOUR' ba written In that language?

Ans 1. AMIMSP
> 2. ANJNSP

X 3. ALILSP
4. AMIKMRP

Question |0 ; 26433056756
Elatus 1+ Mot Answered
Chosen Option ;| =

Q.34 Thees differcat positions of the same dice s showa Find the anber ont the faes apposise to the fice showang 4.

.-f"_‘a’_\\_ F-\/j\ﬂ _,':‘-.

|2\|4 L2y I}‘ﬁj

"‘\\__'_,.-f "'.]_.-' " |

Fig | Fig2 Fig 3
Ans 1.6

25

4,

Lt

Cuestion |0 . 26433076714
Status = Answarad
Chesean Option : 3
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.35 Sealect the number from among the given eptons that can replace the question mark

(7} in the following series.
241, 208, 171, 130, 85, 7

https:isse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207022254/2 207022284 54 D 2464016687 ..

Ans 1. 38
;245
> 340
¥ 438
Question 1D ; 26433057029
Etatus | Answerad
Chosen Option : 1

Q.36 Which of the following Iinterchange of signs would make the given squation correct?
20+20%20-20+20=20

Ans t. —and

2. +and -
X 3 eand=+

4.+ and.=

Question 1D : 26433067524
Status ; Mot Answered
Chosen Option @ =—
0.3y

A4

S

Status - Answered
Chogen Option @ 2

Question |0 : 26433068210

13156
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.38 Which of the fallowing letter-clusters will replace the quastion miark (?) in the alven

series?
ADV, EBX, IXZ, ORB, 7

Ans X 1. UC
2 UiD

7 3. WIE

X 4.TID

Question 1D ; 26433057131
Etatus | Not Answered
Chosen Option ; =

Q3% gelect the carrect mirror image of the given figure when the mirror is placed al
'AB' as shown,

Ans =

P

Question |D : 26433057804
Status - Answered
Chosan Option @ 2
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.40 Salect the option that s related to the fourth term In the same way as the first tarm s
related to the second term and fifth term is related to sixth term.
18B1:10 5020110 265:12

Ans X 1,225

2. 24

X 3. 202
* 4216

Question 1D ; 26433057503
Etatus : Mot Answered
Chosen Option ; =

Q.41 Town A ls to the south-west of Town B. Town € is to the south of Town M. Town A is to
the south-east of Town C. Town D is to the north of Town E. Town M is to the west of
Town O, What is the position of Town M with respect to Town B?

Ans X 1. Norh
5 2 Bouin-west
3. Piorih=wwest

25 4. Easl

Duestion 10: 26433076691
Status @ Mot Answered
Chosen Option | =

@42 A paper is folded and cut as shown. How will it appear when unfolded?

==
|

On

[ -
La

L}
i
L]

Ans

g e
el

2O Os
Helel

https:/sse diglalim.com/perfg2 Vpub/ 2207 touchstone/AssessmentO PHTMLMod e 1/ 2207022254/ 2207 022254 24024 640/1 GEATE2453TORER 184417 .

Cuastion |0 : 26433068454
Status | Answered
Ghosan Oplion ; 2
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.43 In a certaln code language, 'THOUSAND' |s written as "B2013792T1424" and

"WARIABLE' is written as '627101927261623" . How will ‘UMBRELLA’ be written in that
language?

Ans X 1. T15281023151527
25 2 7526102385162

3. 1526102316162

¥ 4 715251022181627

Question 1D ; 26433056656

Etatus | Not Answered
Chosen Option ; =

Q.44 Which of the following interchanges of numbers would make the given equation
correct?

W=5+25+16+10=20
Ans X 1.5and25
2 2. 5and 10
3. T6and 25

4, 20 and 30

Question 10 26433067482

Stalus : Not Answered
Chosen Option © -

.45 Arrange the following cricket equipmant in a logical and meaningful order.
1, Shoes

2, Helmel

3. Thigh guard
4, Chest Guard
5. Shin pad

Ans 1. 2,5, 541
252,341
X3 254731
4,2.4,5 5.1

Cuastion 10 : 26433099142
Slalus : Answered
Chosen Option @ 4
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CL46 Salect the optlon that represents the correct order of the given words as they would
appear in an English dictionary.
1.Fasting
2.Fascinating
3.Fashionable
4. Faux
5.Fault
G.Farther
T.Father

Ans X 1.5,7.2.3.1,5.4
2.6,2,3,1,7,5,4
X376 L5
45,231,745

Question |0 26433067549
Status : Mot Answered
Chosen Option © -

.47 Seven students P, O, R, 5, T, U and V are sifting around a eircular table facing tha
contre. R is an immediate neighbour of both T and U. S is sitting third fo the left of R
and immediate right of P. P is sitting second to the right of T. Q is an immediate
neighbour of both T and P. V is immediate left of U. What is the position of P with
respeact to V7

Ans 1. Second 10 the jefl
2. Third to thie right
5 2. Third to ike left
75 4. Becond 1o the right

Cuestion 10 26433056896
Zfatus - Not Answerod

https:isse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207022254/2 207022284 54 D 2464016687 ..

Chosan Option | =
Q.48
Ans X 1. 18
3. 18
X 4, 47

Cuestion 1D : 26433057977
Status | Answerad
Chosen Option ! 1
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0.49 'A + B' means ‘A s the brother of B,
‘A = B' means ‘A is the mother of B',
A = B means “A is the husband of B,
‘A B means ‘A ls the sister of B'.
IfC % M=25+K+T=0, then which of the following statements is NOT correct?

Anz X 1.TisC's daughter
Z. M Is Q's mother’s mather.
7% 3.5 is O's mothar's brother

4_Clz'K's father's fathet

Cuiestion |0 26433056822
Status | Answered
Chosen Option @ 1

Q.50 Select the set In which the numbers are related in the same way as are the numbers of
the given sets.
(NOTE : Operations should be performed an the whole numbers, without breaking
down the numbers Into its constituent digits. E.g. 13 — Operations on 13 such as
adding /subtracting /multiplying ete. to 13 can be parformed. Breaking down 13 Into 1
and 3 and then performing mathematical operations on 1 and 3 is not allowed.)
(182, 118, €5)
(236,172, 119)

Ans 1. (158, 97, 48)
75 2 (238,179, 118)

3. (1789, 103, 56!
4, 1218, 155, 1029
Cuestion 10 - 26433057077
Status : Not Answered
Chosen Option © =
Saction Genaral Awarsnnss

Q.1 Which is the programme launched by the Government of India In 2020, focusing on
making India a self-sufficient country?

Ans 1. Saansad Adarsh Gram Yojana
2 Z. Pradhan Manin f&was Yoiana (PMAY) (Urban)
2 3. Stand Up India Scheme

4. stmanirpher ghamt

Cuestion 10 : 26433081890
Status © Answerad
Chosen Option @ 4

Q.2 The ‘Right to Work® pilan, under the National Rural Employment Guarantee Act, 2005,
was implemented in how many districts in the first phase?

Ans 1. 100
2,180

3, 200

Question 10 : 264330100025
Status | Answered
Chosen Option : 4
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.3 Hurnter Commission, 1882 was related to development of in ealonlal Ingia.
Ans X 1, rallway

X 2 amy
75 3. trade

W 4. educstion

Question 1D - 26433085261
Staetus - Answerad
Chosen Option : 1

a4 Din AIDS stands for:
Ans X 1. Disorder

7% 2. Dlastolic
X 3. Dysfunction
o 4. Defioiency

Cuestion 1D ; 264330100704
Stalus | Answerad
Chaosen Option ; 2

—_—
.5 Which of the following s an example of a flow variable?

Ans X 1. Money supply it 8 country on thes first day of its financial year.

«F 2 Expori of food grains in 8 partioular financisl yean
75 3. Amount of capltsl goods employed in sn ecanamy an the first day of its financlal year,

% 4. Amount of feod gralns avallable In all warshouses of the couniry on the first day of lis
financial yaar.

Question 10 ; 26433064502
E_-tﬂ:l‘..l.lﬂ-.: Mot Answered
Chosen Opllon : —

0.6 Which of the following sports s the Bultan Azlan Shah Cup related 107
Ang o 1 Hockey

75 2. Badimintar
7% 3. Football
75 4. Grickset

Cuestion 10 : 2643301007441
Status : Answered
Chosen Option : 1
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Q.7 Whilch of the following Articles of the Indian Constitution provides thal no child below
14 years of age shall be employed to work?

Ans X 1. Aficle 58
* 2. Article 87
& 3. Artlale 24
7% 4. Articla 40

Question 10 @ 26433086810
Etatus | Answered
Chosen Option @ 1

hitps:isso.digialm.com/peng2Tipubl 2207 touchstone/AssessmentQPHTMLMode 1/2207 022254/ 2207022254 540 2464 011 BEET ..

.8 Which of the following s NOT an ebjective of measuring Primary Deficit of the
governmant?

Ans X 1. Tosstimate the efects of fiscal expenditure on goverment borrowing

7 2. To obtain an estimate of bomrowing on account of current expenditures exceeding
revenues

7 3. To focus on prasent fiscal Imbalances

& 4. To ntl focus on present fiscal Imbalance

Question |0 26433072057
Status ; Mot Answered
Chosen Option @ -

0.9 In 2022, which state government launched the "Naan Mudhalvan Scheme” which aims
to equip about 10 lakh youth across the State annually with skills that will help them
realise their talents for the benefit of the country?

Anz g 1. Tamii Nadu
& 2. Odisha
2 3. Maharashlea
75 4. Kerala

Question 10 - 26433086873
Status : Answered
Chosen Option @ 4

.10 Which of the following countries are covered by the Amazon raln forest?
Ans X 1. South Africa, Zambla, Zimbabwe and South Sudan

25 2 USA, Canada, Mexico and Peru
" 3, Brazl, Colombia, Venszusla:and Bolivia

75 & Indonesia, Cambodiz, Malaysia and Indis

Cuestion 10 ; 26432064118
Status ; Mot Answered
Chosen Optian | =
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Q.11 In 2020, Prasident of , Jair Balsonaro, was called as the chief guest to the
Republic Day celebration of India,

Ans X 1. Thailand
v’ 2. Brazi|
#5 3. Vietnam
7% 4. Singapore

Question 10 @ 26433064325
Status ; Answered
Chosen Option © 4

.12 What is the most cammon symptom of osteomalacia®
Ane X 1. Protruding eyes

75 2. Loes of teeth anamal
7 3. Pigeon chest

& 4. Bone pain and muscie weekness

Question 10 - 26433092194
Status @ Not Answered
GChosen Optlon © -

.13 The flow of nutrients and energy from one organism to another at different trophic
levels is known as;

Ang X 1. Tood processing

2 2 food digestion process
3. food wab

o 4. food chain

Cuestion 10 : 26433054043
Etatus @ Answerad
Chosen Option © 3

Q.14 According to the World Bank, what was the literacy rate of the total adult population
(% of people ages 15 and above) in 2019 in Pakistan?

Ans X1 68%

Xz 48%

v 3 58%

X4 T8%

Question 10 : 26433089268
Stalus : Answered
Chosen Option @ 1
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.15 Which of the fallowing states rank first and second, respactivaly, in population,
according to the Census 20117

Ans X 1. Utter Pradesh, Bihar
75 7. Uttar Pradesh, West Bengal
o 3. Utar Pradesh, Maharashirz

7% 4. Maharashira, Uttar Pradesh

Question 10 @ 264330100713
Status ; Answered
Chosen Option : 3

75 2. lron

7 4. Sillcon

Q.16 Which metal is used for making bulb filaments?
Ang 1. Tungsten

7 3. Copper

Cuestion 10 - 264330100638
Status @ Answerad
GChosen Optlon © 1

< 2. A Adll

Q.17 Upon the fragmentation of Bahmani Kingdom, the sultanate of Bijapur was founded by

Ans X 1. Mallu Adil Shah

o 3. Yusul Adil Bhah
X 4, |smal Adil Shah

Shah |

Question 10 : 26433085246
Etatus : Not Answered
Chaosaen Option - =

_— =

Q.18 Which of the following options is cormectly matched 7
Ang X 1. Neon — radinactive flarnmabla gas

2 Helium — heavy gas
75 3. Argon —radicactive rare gas

" A Racon — radioactive rans gas

Question |0 : 28433064133
Status : Answered
Chosen Optian @ 3
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.19 Whileh Article of the Constitution of India empowears High Courts to lssua writs?
Ans g 1 Adlole 226

X 2. Article 353

7 3. Article 32

2 4 frticle 354

Question 10 ; 26433064708
Status : Mot Answered
Chosan Option © =

0.20 Which Is a commanly used antimicrobial preservative in food and beverages,
especially carbonated baverages, as it presents its strongest antibactarial actlvity at
pH 2.5 - 4.07

Ans X 1. Acrylic acid
7 2. Proplonic a=id
o 3, Benzole acid

2% 4, Tarronic scid

Question 10 26433055148
Stalus | Answered
Chosen Option @ 4

.21 The National Multidimensional Poverty Index is released by the i
Ang X 1. Home Ministry

o 2 MITI szyog
75 3. Ministry of Bocial justice and Empowenment
2 4. Ministry of Finance

Cuestion 10 : 26433054966
Etatus @ Answernad
Chosen Option © 3

Q.22 Animage formed with a lens that can be projected onto a screon is called:
Ang 1 armal imane

7 2. an objeciive

75 3. an imaglnary image

75 4 avintual image

Cuestion |0 © 28433064407
Etatus - Answered
Chogen Optian @ 2
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0.23 Under Rall Kaushal Vikas Yelana, launched In September 2021, how many candidates
will be provided training in four trades viz Electrician, Welder, Machinist and Fitter,
over a perlod of three years?

Ans 1. 50,000
#5 230,000
X 3. 10,600
7 420,000

Question 1D ; 26433082806
Etatus 1 Answerad
Chosen Option : 4

Q.24 Which Articla of the Constitution of India abolishes the concept of fitles” and says "no
titie {except for military and academic titles) shall be conferred by the State™?

Ang X 1. Article 18
o 2. Artlgle 18
* 3. Article 15
¥ 4 Article 17

Question 1D : 26433054532
Status : Mot Answered
Chosen Option @ =—

0.25 In 1856, Barthelot synthesized which compound by the reactlen of a mixture of
sulfated hydrogen with carbon disulfide on red-hot copper?

Ans X 1. Suffuric acid
7% 2. Pentanie
75 3 Bumne

o 4. Nethane

Question |0: 26433064063
Status . Answered
Chosan Option - 3

.26 Pandit Ram Narayan, an Indian musiclan, was cradited with populdrising the musical
instrumant as a solo concert instrumant.

Ans X 1. vesna
75 2. samd
7 2. ghatam

W 4. =3amng

Question |0 26433054466
Status @ Answerad
Chiszan Optian : 1
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0.2T7 As of February 2020, which of the following players has won the highast number of
tennis grand slam men singles category tournaments 7

Ans o 1. Roger Fedarsr
7 7. Rafael Madal
7% 3. Novak Diokovic
7% 4. Leander Paes

Question 10 : 264330100725
Status ; Answered
Chosen Option @ 1

Q.28 Electron microscopic studies of eukaryotic calls reveal the presence of a network of
tiny tubular structures scattered In the cytoplasm that is called the 5

Ans 1. Endoplasmic Reticulum
X 2. Golgl apparatus
7 3 Péroxisomes

2% 4, Mitochondrla

Question 10 26433092204
Status | Not Answered
Chosen Option ! -

Q.28 wan the ESPNericinfo ‘Test Batting Award’ 2021,
Ans o 1. Rishabh Pant

X 2 Saglb Mahmond

7 3. Fakhar Zaman

2 4. Kane Williamsan

Cestion 10 : 26433055058
Etatus @ Answared
Chosen Option - 4

.30 defaated the Indian Railway 3 - 0, to win the men’s title at the Senior
National Volleyball Championship 2021-22.

Anas «F 1. Saryana
7 2. Kamstaks
3¢ 3. Bihar
X 4, Kersla

Cuastion 1D ; 26433081832
Stetus | Answered
Chosen Option ! 2
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.31 Whieh of the following Constitutional amendments entered the Fundamantal Duties in
the Indian Gonstitution?

Ans X1 it
X 2 44t
x 3.ggth
o A, 4208

CQuestion 10 @ 26433064816
Status ; Answered
Chosen Option : 3

.32 In which of the following states did the Moplah Reballion take place?
Aneg X 1. Andhra Pradesh

X 2 Orisea

7 3. Maharashira
& 4. hemia

Question |0 : 26433089147
Status @ Mot Answered
GChosen Optlon © -

0.33 Wha among the following clinched gold medals in the men's youth competition at the

Asian Youth and Junior Boxing Championships in Amman, Jordan held in March
2022%

(i) Vishwanath Suresh
{ii} Vanshaj

Ans X 1. Only (i)
o 2. Both (1) and {B]
25 5. Nalthar (i¥ nar (i)
2 4. Oniy (i)

Cuestion 1D : 26433055057
Status | Not Answered
Chosen Option | =

_ == = _—= = . Tz =
Q.34 What chemical reactions eceur when the proteins and sugars In and on your food are
changed by heat, creating new tastes, aromas and colours?

Ang X 1. Caramelisation

7 2. Pextrinisation
o 3. Malfard resction

X 4 Gelatinisation

Cuastion 10 | 26433055143
Stetus ; Mot Answered
Chosan Option | =
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0.35 Why do low-pressurs trough over the northeim plains of India become weaker during
October-November?

Ang 1. Due o the apparent movement of the sun towares the south
7 2. Due 1o jet stireams from the Caspian S=a
75 3. Due to the Corlolis foree
7% 4. Due ta La-Nina

Question 10 @ 264330100746
Etatus ; Mot Answered
Chosen Option @ -

.38 Which of the following statements |s INCORRECT about migration in India?
Ang 2% 1. Migratien may be rural ls urban,

75 2. It may be urban ta rural amas.
7 3. Migrafion has pull and push factors.

& 4. Migration doees not depend on socs faolons

Question |D : 264330100036
Status @ Mot Answered
Chosen Option © =

Q.37 Which of the following is @ major component of Compressed Natural Gas?
Anz X 1, |sc-Bulana

o 2, Methans
75 3. Propare
75 4. Butana

Questlon 10 © 264330100699
Etatus . Not Answered
Chosan Option @ —

0.38 Which of the following Is NOT a pesticide?
Ans X 1. Harblclda

7% 2 Fungicide
& 2, Fominide
X A& Larvicide

Question 1D ; 264330100706
Sfatus : Mot Answered
Chosen Option | =

Q.39 In which year was the National Tansen Samman instituted?
Ans o 1 1580

75 21974

X 3 1080

X 41078

Question 1D : 26433074132
Status | Mot Answered
Chosen Option | =
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.40 The evidences of the Mauryan Emplre are guoted In the texis of Megasthenes who was
an ambassador in the court of:

Ans o 1. Chandregupta Maunm
7 7. Bindusara

#, 3. Ashula

7% 4. Dasharatha Maurya

Question 10 @ 26433064596
Etatus ; Mot Answered
Chosen Option @ ==

Q.41 Which of the following river is known as Ponnanl in Kerla and has a total dralnage area
of the basin as 6,186 sq. km?

Ans X 1. Ithikkara
X 2. Ayiroor
7 3. Achankavll

& 4 Brarathappuzha

Question |0 : 26433055170
Status | Mot Answered
Chosan Option ! -

.42 When did John Dalton publish a paper titled “A Mew Systam of Chemical Philosophy”
describlng principles such as the unlqueness of atoms of the samae element, relative

atomic mass and the laws of chemical combination?
Ans 1 1808
7 21800
7 3. 1820
7 4 1814

Cuestion |0: 264330100012
Status . Not Answered

Chosan Option © —

Q.43 Gaur Maria is an important ritualistic dance from which state?
Ans X 1, Karnataks

o 2. Chhattisgarh

75 3. Punjab

X 4 Kersla

Cuestion 1D - 26433086570
Btatus : Not Answerad
Chasen Option ; =
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Q.44 |y the early 20" century, who among the following published a paper explaining the
theory that continental landmasses flowed’ over the Earth, sometimes plowing
through the occeans and Into each other?

Ans X 1. Johan Koch
75 2. William Smith
w" 2 Alfrad Wegener

#5 4. James Hutton

Question 10 © 26433089697
Efatus @ Not Answersd
Chasen Option @ -

.45 As perthe 2011 Census, what percentage of the total population in India fives in rural
areas?

Ans X 1.66.8%
o 2, G8.8%
¥ 3. 588%
* 4, 57.8%

Cuestion 10 264330100029
Etatus : Mot Answered
Chosen Option & —

Q.46 Indlan shooter Singhral Adhana wen the bronze medal In the men's alr plstal
SH1 class at the Tokyo 2020 Paralympics.

Ans X 1.B5m
o 2 10m
¥ 3. 50 m
* 4.35m

Question ID - 26433061618
Status | Not Answered
Chosan Option ; =

0L47 Condensation ls the process of the transformation of:
Ans X 1. liguid Into vapour

75 2. vapour inte soiid
25 3 liquid intn semi-liquid

o 4_vapour ko [Bguid

Cestion 10 264330100685
Status : Mot Answered
Chosan Optian © =
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CL48 In the Fourth Five-Year Plan, how many Indian Schaduled Commercial Banks wara
nationalised?

Ans X 1. 1%
2 18
& 3 14
W a

Question 10 @ 26433059266
Status : Mot Answered
Chosen Option @ -
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Q.43 which year census Is the 15™ National census survey conducted by the Census
Orgenisation of India?

Ans X 1.1891
X 218
W 3, 20N
x 42001

Question 10 264330100056
Status : Mot Answered
Chosen Option @ =

Q.50 in the IUPAC nomenclature system s considorad to be a darivativa of
hydrecarbons In which a hydrogan atom |z replaced by -OR -0fr groups, whera R and
Ar represent alkyl and aryl groups, respectively.

Ans X 1. Alcohols

7 2. Phanols
5 3. Aldehydes
" 4. Ethars
‘Question ID : 26433055082
Status ; Answered
Chosen Option © 4
Sardlan @ Par A Geperal Englnsaring Civil & Strugtural

Q.1 The junk or demolition value of a structure, calculated at the end of its utility span, that
has lost all of its structural strength and is near to its demolition is called:

Ans " . sorap value
75 2. book valus
X 3. markat value

7 4. pssessed vaiue

Question ID © 26433006584
Status © Not Answered
GChosen Option ; -
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Ans

0.2 Flat, gravitational and hump yard are the types of:

marsnalling yard
X 2 coaching yard
7 3. passenger yard
7 4 locomolives yard

Question 1D : 26433086546
Status - Answerad
Chosen Option © 4

0.3 The length of one rail is 15 m and the number of sleepers per rail length is 22, Find the
axpression for sleeper density and also find the number of sleepers roaquired for the
construction of 525 m of track.

Ans g1 T, (MAT)

75 2. BB, (M+T)

K 8. 770, (M43

5 4. Ba8g, M43y

Question 10 26433086544
Stalus | Answered
Chosan Option @ 4

Q.4

On which of the following facters does the duty of irrlgation water MOT depend?
Ane X | Tyoe of soil

75 2. Type of crop
o 2, Popuiation of the locslty

2 4. Culthvation practices

Question |0 ; 26433099752
Elatus 1+ Answarad
Chosan Option 1 2

.5 According to IS 287; 1993, in classifying timber, the average annual relative humidity |
) of Zone IV region of India Is more than:

Ans X 1,50
o 2 67
X 3.60
> 4.40

Question 1D : 26433099700
Btatus : Answared
Chosen Option : 3
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0.6 Which of the following componants of the weir divides the river width Into wair portion
and under sluices pocket?

Ans X 1. Weir proper
75 2. Weirs ancillary work
75 3. Canal head regulatar

hitps:iissc.digialm.com/perg2Tipubl 2207 touchstone/AssessmentQPHTMLMode 1/2207 022254/ 2207022254 540 2464 011 BEET ..

o 4. Divide watl
Question 10 @ 26433095862
Etatus © Answered
Chosen Option : 3
Q.7 Inoven drying method, the soil cample ls kept in the oven for about hours.
Ans X 148
224
X 3.36
X 4. 12

Question |0 : 26433006827
Status @ Answerad
GChosen Optlon © 1

Q.8 Which of the following bogue compounds in OPC responsible for progressive strength
by slaw hardening and releasing less heat of hydration?

Ang X 1. Tricaloium silicate
X 2 Tetracalcium afuming ferrile
o 3 Dicalcium =ilicate

2 4. Tricalcium aluminate

Cuestion 10 : 26433091042
Etatus @ Ansiverad
Chosen Option - 4
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L9 As per IS 456:2000, for the design of doubly reinforced beam, the area of compression
reinforcement Asc is given by
where,

Mu = utimate flaxural strength of doubly reinforced section
Mulim = limiting momant of resistance
fec = stress in the compression steel

d = effactive depth
d' = depth of compression rainforcement
BRI
o hac = Mttt
o1 hoc = ek

Mu-Muylim

%4 Asc = fsc(d+d)

Duestion 1D ; 26433096324
Status ; Mot Answered
Ghesen Option § =

Q.10 There are two types of energy losses through pipes, major losses and minor losses.
Major losses through pipes are due to -

Ans o 1. fricthon
X 2 pontraction of plpe
3. leakaoge of pipe
7 4. sudden enlargement af pipe

Question |0 : 26433088715
Status - Mot Answered
Chosen Qption : -

Q.11 A combination of two or more pipes connected end-to-end (series) is known as pipe in
series, For pipes in series, the discharge through the pipe is

Ans X 1. constant for & particular section of the pipe
2 Z. sum of discharge through each pips
2 3. not constant

o 4. consiant

Question 1D - 26433091049
Status © Answered
Chosen Option & 2
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.12 Dus to which of the following reasons is reinforcement inatalled during tha
construction of concrete pipelines?

Ang o 1. To eneble it o withstend inside and oulside pressuns
75 2. To prevent concrete oracks
75 3. For waler seepage pravention

7% 4. To orevent efMomescence

Question 10 @ 26433088061
Status . Answered
Chosen Option : 3

Q.13 Chezy's coefficient (C) Is related to Manning's roughness coefficient (n) as

An ST
2 1 C=—Rls
n
1
Xz C==RI
n
1
X3 C==R»
n
1
?a C=—R
n

Cuestion 1D . 26433088718
Status - Answarad
Chosen Option @ 2

Q.14 Long wall-short wall method is also calied =
Ans X 1. genarsl mathod

& 2 single wall method
W 3. seporgie or individual 'wall methad

X 4. centra fine methad

Question I : 26433093334
Status - Answered
Chosan Cption ; 4

Q.15 condition develops In saturated thiek laver of loose fine sandy soils, when
disturbed due to vibration from pile driving in adjoining area or by pressure of flowing

water.
Anms o« 1, Cuick sand
75 2. Fallure
5 3. Collapse
XX 4 Unstabis

Questlon 1D ; 26433096655
Status | Not Answered

Chosen Option @ -
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.16 A eombinatlon of two or more plpes connected betwesn two points so that the
discharge divides at the first junction and re-joins at the next is known as

Ans 2 1. pipes in serles
W 2. plpes in parallel
2 2. pipas in vertical
X 4 pipas in horizontal

Question 1D ; 26433088713
Status | Not Answered
Chosen Option ; =

Q.17 Which the following Is NOT an assumption of Rankine Theory 7
Ans X 1. 5ol s homogenous and dry,

o' 2. Soil (5 cohesive
2 5. Viertical boundary farmed by the veriicsl back of 8 smpoth wall surface.

2 4. Seminfinle mass of soll bound by a harizontal surface,

Question |0 : 286433096641
Status | Not Answered
Chosan Option ! -

Q.18 The stage of plate laying in track construction includes:
Ans «F 1. placing of rall and slespeis

25 2 placing of fish plates
5 3. placing of rafls, sleepers and ballast
2 4. preperation of formation

Question 10 : 26432091101
Status @ Mot Answered
Chaosaen Option - =

Q.19 Which of the following is NOT a function of GPS?
Ang X 1. Monilarng of any ebject or parsonal rmisvameant
7 2 Measuring precise time
< 3. Moving from one locstion to another

o A Measzunemant of earitwork

Cuestion |0 - 284330100882
Etatus : Not Answered
Chosen Optian @ =
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.20 X Is the measura and adjustmant of price levels for goods and services across a broad
sector of the economy, where X is:

Ans X 1. dilution
7 2. reversal
o 3. Indoxation

7% 4. reciprocatian

Question |0 : 26433099721
Etatus ; Mot Answered
Chosen Option @ ==

Q.21 The failure plane in direct shear test is the -
Ans 1. principal warical plans

X 2 weskesl major plane
X 3. major vertical plane

& 4. horizontsl plane

Cwestion 1D © 26433096820
Status @ Mot Answered
Chosen Option © =

.22 The capacity of doing work by a skilled labour in the form of guantity of work per day
is known as ;

Ans X 1. percent labour

o 2. out iurn of Bhour
5 3. product of labour
25 4. output of labour

Question 10 : 26433001143
Status : Mot Answered
Choaen Option - =

Q.23 In traversing by included angle method, which of the following is correct?
i. if the direction of progress is counter clochwise, the included angles measured
clockwise are interior angles. )
il If the direction of progress Is clockwise, the Included angles measured clockwise
are interior angles.
iii, If the direction of progress is counter clockwise, the included angles measurad
clockwise are exterior angles.
. If the direction of progress is clockwise, the included angles measured clockwise
are exterior angles.

Ans X 1.iiandii
X 2 |andii

o 3 Land Iy
25 4 il and by

Question 1D : 264330100656
Stalus | Mot Answered
Chosen Option @ —
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0.24 For 45-degree cranked or bend up bar, the Inclined lenath of crank Is aqual to:
Ans X 1. 2d

X 2d
o 3. 1424
T

Question 10 ; 26433099716
Status © Mot Answersd
Chosen Option : =

0.25 According to IS 456, the anchorage value of a slandard U-type hook shall be equal o X
times the diameter of the bar, where X is:

Ang o 116
x 212
X 3.20
X 4.8

Cwestion 1D © 26433095780
Status @ Mot Answered
Chosen Option © =

.26 During painting, white lead is added to paint and it acts as:
Anz X 1, drier

< 2. pigmeni
> 3. varrer

" 4. baga

Cuestion 10 : 26433088083
Status : Answered
Chosan Option : 4

Q.27 A plale at a distance of 0.03 mim from a flxed plate moves at 0.8 m/s and requires a

force of 1.50 Nim? area of plate. Determine the dynamie viscosity of liquid between the
plates.

A X1 66.25 x 109 N-S/m?
X 2 6.25 % 109 N-S/m?
X 5. 50.25 x 109 N-S/m?
4 56,25 x 10% N-S/m?

Cluastion 1D 26433088705
Statue | Not Answeared
Chosen Option ;. =
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.28 Whieh of the fallowing s NOT a method of neise abatement and contral?
Ansg X 1. Proper maintenance af vehicles

& 2, Fephazard planning of cifies
7 3. Enforcement of lega! laws and ordinances

75 4. Planiation of thick and high vagetation aleng roadsides and ralis

Question 1D : 26433085942
Stetus - Answerad
Chosan Option © 2

0.29 Upon a detalled topographical investigation, an engineer wants to align a canal. Along
which of the following should he align the canal?

Ans X 1 Almospheris pressure lino
" 2. Ridoa lina
7 3. Contour line
75 4. Vallsy line

Question 10 - 26433098754
Status @ Answerad

GChosen Option © 4

.30 Engineering hydrology does NOT deal with:

Ana 1. estimation of water demand
< 2. study of problems such as flood and droughts
75 3. estimation of water resources

2 4. study of hydrological process

Question 1D : 26433095841
Etatus : Answered
Chosen Option @ 2

.31 A elreular beam mﬂun'iiuxsuhjm:_tud toa nfi_nnr foree of 40w kM. The maximum shear
stress allowed in the material is & MPa. Calculate the safe diameter of the section.
assuming a factor of safety equal to 2.

Ans X 1. Canrot be predicted using the given data
W 2. 26865 mm
25 3 13333 mm
X 4,53333mm

Cuestion 1D ; 26433088034
Status | Answered
Chosen Option ! 4
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0.32 The sprinkler irfgation method for water distribution s most sultabla:
Ansg X 1, for crops with deep roots

2 2 when the land lopography is regular
3. when the water table Is very low

W 4. whaen b [and topography is raguler

Question 10 ; 26433099758
Status - Answerad
Chosen Option ; 2

0.33 Which of the following formulas is used for calculation of earthwoark volume and is
also known as the average end area formula?

Aneg X 1. Prismoidal formula
X 2. Mid-zaction formila
X 3. Simpsons formuia

& 4. Trepezoidal formule

Cwestion 1D © 26433096590
Status @ Answerad
Chosen Option : 2

0.34 Which of the following oxides is present in highest proportion in Ordinary Portland
cement?

Ans X 1. NaD
7 2 Moo
« 3. Ca0
X 4,510

Question 1D : 26433009782
Etatus @ Answered
Chosen Option - 4

€35 If (W) is the weight of brick at room temperature and (W2] is the brick weight after the
brick immersion in water for 24 hours, then the percentage of brick water absorption is

caleulated as:

" W2 g
X2 %x 100
3 w x 100
K*ﬂ-%xlm}

Question 10 . 26433088047
Status @ Mot Answered
Chosen Optlan ; -
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0.36 During a concrete mix deslgn process, what happens to its free maximum water
cemant ratio when grades of concrete is increased?

Ans X 1. Increases non-lingady
7 7. Remain constant
7 3, Increases linearly

o 4. Decreases

Oueztion |0 @ 26433096834
Status ; Mot Answered
Chosen Option @ ==

.37 Which of the following is NOT a mathod for estimating deflections in beams?
Aneg X 1. By Integration of bending mament eguatiasn

' 2. Mahr's circia mathod

7 3 Moment area methad

75 4. By Integration of shear force and load equation

Cwestion 10 . 26433098777
Status @ Mot Answered

GChosen Optlon © -

Q38 4 simply supported beam of length L is associated with two pomt loads, each of
magnitude P. acting at one third of span from either end as per the following
diagrarn Calculate the magnitude of bending moment acting at the left and
support.

Ans  #1 Fero

Question ID : 26433088029
Zlatus © Mot Answered

Chesan Option & =
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.39 Consider the following statements with regard to cublcal eontent method.
I. Length and breadth should be taken as the external dimensions of the buildings at

floor level,
IIl. Height ehould be taken from flaor level to the top of the roof.

Which of the following options are true?
Ans X 1. Oniy statemant | is Tue

7 2. Both statements | and |l are false

25 4. Only statement Il s true

& 4 Buoth siztermants | and |l are trug

Question 10 : 26433091140
Status | Not Answered
Chosen Option @ =

.40 Seashore gravels are of which of the following types?
Ans «F 1. Rounded

75 2. Angular
7 3. Flaky
2 4 rreguiar

Question 10: 264233096509
Status : Mot Answerad
Chosen Option | =

C.41 For a BG track with WM+5 sleeper density, find the number of fish plates reguired for 1

km of track.
Ans " 1 308
7 2200
xXam
X 4,154
Question 1D ; 26433091100
Statig : Mot Answered
Chosen Option | =
_ == = —_— e m =
Q.42 Tha process of stones which includes sxcavating, wedging, heating and blasting is
called:

Ang X 1. seasoning
75 2. placing

o 3. quartiing

X 4. dressing

Cuastion |0 : 264330868070
Status ; Mot Answered
Chosan Option | =
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CL.43 Which of the following statements is correct with reapect to modulus of rigldity?

Ans o 1 =2 ratln bepwoan shear siress and =hear siraln
2 2 Itis not known as shear modulus of elasticity.
75 3. It depends only on modulus of elastcity and has no relation with Poisson's ratio.

75 4.1t 15 alse known 28 bulk modules of elasScity.

Question 10 ; 26433088024
Status © Mot Answered
Chosan Option © =

0.44 While designing a concrete mix, if § % of the results are allowed lo fall below the
characteristic strength and if the assumed standard deviation Is & MPa, then what will
ba the Targel mean strength (TWMS) (MPa) of M40 grade of conorete?

Ans X 1.56
X 253
7 5.60
o 4. 50

Question |0 : 28423099792
Status | Not Answered
Chosan Option ! -

Q.45 The objective of lime-soda softening process is:
Ans X 1. lo enhanee biochemical reartions

25 2 1o add taste to waler
" 3. to remove hamdness by forming an insclubls precipitate

2 4. tn carbonise walker

Question 1D : 26433099769
Status : Mot Answered
Choaen Option - —

Q.46 Signs having red border, white background and black symbols are:
Ang X | mandatony signs

o 2. can be botiv waming and pohibitory slgns
75 3. prohibitary signs
75 4 waming slans

Question |0 264330100975
Status : Mot Answered
Chosen Optian @ =
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CL47 Tha hydraullc mean depth of a clrcular sewer of internal diamater 100 em, running In
fully ococupied cross section is given by:

Ans X 1.G60cm
X 2. 75om
7 3. 100em
o 4. 25 cm

Question 10 : 26433095944
Etatus Mot Answered
Chosen Option @ -

Q.48 Which of the followling is an INCORRECTLY stated assumption In the theory of simple
banding of beams?

Ans X 1. Plain section remaing plain before and after banding
7 2. Tne material of beam is isotropic and hemogensous
o 3. The radius of curvature s small compared to beam dimensions

2 4. Young's madulus [s same In compression and leasion

Uuestion |0 : 284230100960
Status | Not Answered
Chosan Option ! -

.49 The rolled steel l-sections are most commonly used as beams because of which of the
following reasons?

Ans 25 | They provide greater lateral stebliity and have large moment of nerdz with less cross-

sectional area only.

o 2. Thay have grester fateral stabiiity, larnar mamant of neaistanes and higher moment of
Imertla with less cross- secllons! ares

75 2. The have large moment of resistance as compared to other sections and have large
marment of inertla with less cross-sectional area anly,

75 4, They provide grester lsteral stability and have large moment of resistance a5
compared to othar seclions onty,

Question |0 ; 264330100839
Etatus ; Mot Answered
Chosen Option | =

Q.50 A channel is said to be the most economical section when, it gives maximum
discharge for a given area and slope. What |= the relation between hydraulic radius
and depth for the most economical trapezoldal section?

Ans 1 Hydmadlic radics = denthy2
75 2. Hydraulic radius = 1.5 times depth
7 3. Hydraulic radius = 2 times depth
75 4, Hydraulle radius = depthvd

Question |0 26433091053
Status @ Not Answered
Chesen Optian @ -
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relative closing error would be:
Ans X 1.5

o 2.0.005

305
7 4.0.08

Q.51 i the pearimeter of traverse Is 2000 m and the amount of closing ermer is 10 m, then the

Cuestion 10 @ 26433099732
Etatus ; Not Answered
Chosen Option @ -

shoulder?
Ans X 1. It's surface must be rough as compared to the adiacent road,

X 2. It's colour must be different from that of the road.
o 3, It's minimum width should be 4.6 m

2% 4, It must be able to support a truck load In wet weather,

.52 As per IRC, which of the following is NOT a recommended characteristic of the road

Cuestion 10 26433091093
Status . Not Answered
Chosan Option ! -

Q.53 In a level crossing, the canal and the drainage meet each other at
Ang X 1.8 oss

X 2 adifferent
< 3. a parallel

o 4. the same

level,

Question 1D : 26433005859
Etatus : Mot Answered
Chosen Option - -

Q.54 The maximum bulking of sand occurs at'a water content between
Ans o 1 4% snd 5%

¥ 2. 5% and 8%

75 3. 1% and 6%

75 4. 6% and 8%

Cuestion |0 : 26433096814
Etatus : Not Answered
Chosen Optian @ =
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.55 If R Is the horizontal distance and d s the diamster of the sarth, than usually the
correction due to curvature in levelling is given by

Anz 2 d'2R
7 2 6%4R
X 3.4%R
X adm

Ouestion 10 @ 26433099723
Etatus ; Mot Answered
Chosen Option @ ==

.56 Which of the following methods Is used to calculate average precipitation over a
catchment area?

Ans X 1. lsochrens method
X 2. |sopleth method
7 3. |so-erodent methad

& 4. lsohyotal method

Question |0 26433095851
Status | Not Answered
Chosan Option ! -

Q.57 Select the cormect statement with respect to oval or egg shaped sewers.
Ang X 1. These are less costly a5 compared o cirellar sewers.

o 2 Ihese are suliable for varying discharps
» 3. Tnese-are highly stable In comparison o circular severs.
2 4. These are easier to construct 85 compared bo circular sewers.

Question 1D : 26433005046
Status : Mot Answered
Choaen Option - =

Q38 As per 18:2386 (part - I11) — 1963, the following formula of ageregates is given

for: = Net weight of aggregate in kg
Capacity of container on litre

Ang X 1. Specific Gravily
75 2. Density
o 3. Bulk Dansiiy
X 4. Absorption Capacity

Cuestion 10 : 264330100750
Status @ Answered
Chosen Option © 3
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.59 The method that measures changes In the price of inputs to the construction process
by monitoring separately the cost of each factor is called as:

Ans X 1.relstional indices
7 7. seller's indices
75 3, output indloes

o 4. Inputindices

Question |0 : 26433099719
Etatus | Answered
Chosen Option : 4

Q.60 As per Indian Standard (IS 383 : 2016), the grading of fine aggregates |s divided Into
how many zonasT

Ans X 1. Two
X 2 Tnee
5 3. Five
« 4. Four

Question |0 : 26433088075
Status | Answered
Chosan Option @ 2

Q.61 Select the incorrect statement regarding biomedical wastes segregated into red
coloured bins as par Indlan Rules, 1998,

Ane X | These wastes nesd o be Incinerated for disposal,
X 2 These wastes may microwave disposa
" 2. These may contain chemicel salid wastes,

X 4. Thase may canialn human anatomical wastas.

Question |0 ; 264330952933
Elatus - Answarad
Chosan Option : 3

Q.62 Inglis formula for the calculation of peak drainage discharge is applicable to:
Ans X 1. oroular shaped catchments in old E"Dmbay Etate

o 2. fan shaped catghments In old Bombay Stale
25 3. clreular haped catehments |n Hyderabad Deccan reglons
X 4, fan shaped catchments in Hyderabad Deccan regions

Question 10 ; 26433085854
Status | Mot Answered
Chosen Option | —
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Q.63 In structural steel constructlon, the distance betwoan centre of fasteners shall NOT be
less than X times the nominal diameter of the fastener, where X is;

Angs 1 25
Xz 20
53,30
X415

Ouestion 10 @ 26433099794
Etatus ; Mot Answered
Chosen Option @ ==

Q.64 If the pessimistic estimate of a project is ¥12 Cr, the optimistic is T3 Cr and the most
likely estimate Is 10 Cr, then the expected valua (Fin Cr) would be

Ans X 1.12
X 2. 1142
75310
o 4. 10,18

Question |0 : 26433099713
Stetus | Mot Answered
Chosan Option ! -

hitps:iissc.digialm.com/perg2Tipubl 2207 touchstone/AssessmentQPHTMLMode 1/2207 022254/ 2207022254 540 2464 011 BEET ..

0.65 Which of the following is NOT the most commeon laboratory methods for determining
the coaffllclent of permeabliity of solls?

Ane X |, Constant hesd
& 2. Indirect determifation from compaction fest
7 3 Indirsct determinstion from consclidation test
7 4. Falling head

Question |0 ; 26433099736
Elatus - Mot Answered

Chosen Option ; -

Q.66 The machines which transform a power input {e.g. from an electric motor} into a
hydraulic power output are: y )
Ans o 1. pumps

X 2 Wrbines
* 3 jets
7 4. dams

Cuestion 10 © 26433099746
Status : Not Answered
Chasen Option ; =
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.67 The RL af a point Is 120 m and elevatlon of the Instrument is 1 m. If a contour ling of
119 m is to be plotted, the reading on the staff should be:

Ans o 1.Z2Zm
Xa1m
M 3.18m
AN 40m

Question 10 @ 264330100662
Etatus : Mot Answered
Chosen Option @ -

Q.68 Which of the following physical inspection test apparatus Is used for determining the
Coment Initial and final setiing times?

Ans X 1. Le-Chatelisr apparatus
X 2. Flow cone apparatus
.‘f‘ 2. Vice!l apmargius

2% 4, Blaln apparatus

Question |0 26433088051
Status | Mot Answered
Chosan Option ! -

Q.68 A rectangular suppressed weir is 3 device used to measure stream flow in an open
channel. For a rectangular suppressed welr flowing fres, the discharge Q1 Is relatad to
the head H over the weir as *

X 1.Q=3Ca 2g H3
Tl -
2 Q—EQ,JZgHz

8 3
KG-Q-EE.;Jz_gHz

Ang

1
X 4. Q=§C¢J2—gLHE

Question 10 : 26433091051
Status © Mot Answered
Chosan Option @ -

Q.70 According to IS 800:2007, beams shall be designed and checked for;
Ans ¥ 1. stiffness only

7 2. hending strength anly
5 3. buckling only

W’ 4. stiffness, bending strength, and buakiing

Question 10 © 264330100833
Status ; Not Answered
Chosen Option ; =
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.71 Corrosion In reinferced eoncrete structures affects the struetural durability dua to;
Ang X 1. poor concrela compactian

X 2 poor sggregate quality
o 2. chilorinstion and carbonation

X 4 |ess cemant contant

Question 10 ; 26433088064
Status @ Mot Answered
Chosen Option ; =

0.72 The meridians that are parallel to the directions taken by freely moving magnetised
needles; as in a compass are called as:

Ans 1. grid meridizns
X 2 dynamic maridians
7 3. peographic meridians

& 4. magnelic masidisns

Question 10 . 26433098730
Btatus © Mot Answered
Chasen Optlon ; -

the year:
Ans X 1. 1UEQ

X 2 1883
o 3. 1881
X 4. 192z

Q.73 The Indian Parliament passed a Central Legistation named Alr Fu_lluﬂnn Confral Act in

Question 10-: 26433005938
Stalus @ Mot Answered
Chaosen Option - =

Where

Ans X 1.D=3d

% 3.0=2d

.74 ldentify the correct expression with respect to depth of beam in RC structures.

D =0verall depth of beam
d = Effective depth of baam
d' = Effective cover

X 2D=d-d

v AD=d+

d'

Question |0 : 26433099421
Status ; Answered
Chosan Oplion ; 2
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Ans

0.75 A good bullding stane should have which of the fallowing qualities?
i. Uniform texture
Ii. Strenath
i, Fire resistance
iv. Hardness

(Y, iy, (e
2. Only (1), (i} and i)
75 3. Only (1) and (i}
4. Only (i)

Quiestion |0 : 286433088071
Slatus | Not Answered
Chosen Option @ =

Ang 1

Q.76 According o the assumptions made In the linit state method of design of a
compression mamber, The maximum compressive straln In concrete under axial
compression is

X 2. 0.0035
2% 5 045
X 4. 0.001

Cuestion 10 : 26433099419
Etatus . Mot Answered
Chosen Option @ -

Q.77 Defective outlat and head regulator, alang with Inadequate slope and nat-regime
section result in of the channal.

Ans X 1. sedimeniing
75 2. alignment
2 3. scolring
o 4. sliting

Question |0 26433095861
Status : Not Answered
Chesgan Option © —

called

Q.78 A carpet area which includes the inner walls and balcany of the structure at floor is

Ans X 1. herizents droulation area
7% 2. buiit up area
o 3. plinth area
7 4, verandah

Cestion 10 26433096579
Sfatus : Not Answered
Chosan Option @ =
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0.79 For an Isotrople homoganeous body, the ratio of lateral strain to axial strain Is called
A%

Ang o 1. Poiszon's ratic

75 2. modulus of elasticity
75 3. plasticity Index

7% 4. yisld valua

Question 10 @ 26433099780
Status ; Mot Answered
Chosen Option @ -

.80 The clear minimum perpendicular distance between the Inner faces of two ralls s
called as:

Ans X 1.cross-slope
X 2. camber
o 3. 15l gauge
2 4 supar alevation

CQuestion 10 26433099760
Status . Mot Answered
Chosan Option ! -

Q.81 For a closed pentagonal traverse, the sum of measured angles came out be 545°,
Angle A calculated by measured bearings was 507, What will be the comrected angle A7

AME X 1. 450
¥ 2 490
X2 51°
2 4 55°

Question |0 - 264330100651
Status ; Mot Answered
Ghosen Option ; —

hitps:iissc.digialm.com/perg2Tipubl 2207 touchstone/AssessmentQPHTMLMode 1/2207 022254/ 2207022254 540 2464 011 BBET ..

Q.82 With respect to plane table surveying, the tarms “triangle of error’, ‘great circle’, ‘great
triangle” are related to:

Ans o 1 Lohmann methed
X Z graphic tianoulstion
& 4. two-paint proble
75 4. Bessel method

Cuestion |0 264330100644
Status : Mot Answared
Chosen Option @ =
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Q.83 Chemical compounds such as Dichloro-diphenyl trichloro-athane (DDT) are applied on
wood for the prevention of:

Ans X 1.wetrot
75 7. fodiness

& 3. insocts
7% 4. discoioratian

Question 10 : 26433088089
Etatus ; Mot Answered
Chosen Option @ ==

Q.84 In the design of a cantilever beam, main steel reinfercement is provided along
face of the beam:.

Ans X 1. central
o' 2. tenmon
5 3. side
7% 4. comprazsion

Question |0 26433096329
Status | Mot Answered
Chosan Option ! -

municlpal taxed ameunt to be collectad from the cwner s called
Ane X 1. book valus

Q.85 The value of the property recorded in the municipality register for ana,tyarng the

" 2, azsessed valuw
2 2. saivage valus
7 4. markat valus

Question |0 ; 26433096883
Elatus 1 Mot Answersd
Chosen Option ; -

Q.86 Levelling in which staff and readings and the distance between the points is required
is called: o :

Ans X 1, irgonomelie levelling
f 2 profibes Ia'.-'Ll.llu'u:l
2 3. auto levelling

7 4. My lavelling

Cuestion 10 : 264330100671
Status : Not Answerad
Chasen Option ; =
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Q.87 What will be the effective length of a discontinuous strut eomprised of a single angle
connected with more than one bolt in the plane of gussst?
Glven: L Is the actual length of the sirut.

Ans o 10851
ManalL
X307L

F A

Question 1D ; 264330100829
Etatus | Not Answered
Chosen Option | =

.88 If a structural steel member having an ultimate stremgth of 1100 unlts is to be iius{gnld
for resisting buckling, then the design strength to be considered as per the Indian
standard shall be:

Ans X 1. 900 units
o' £ 1000 unjis
7 3. 1210 units
25 4, 1100 units

Question 10: 26423099753
Stalus : Not Answered
Chosen Option & -
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€.89 Which level has internal compensator mechanism to automatically adjust the line of
sight?
Ans o 1. Auto-level

2 Wye-leval
2o B Abnay level
2 4, Tilting level

Cuestion 1D 264330100665
Statis | Not Answered
Chosen Option | =

Q.20 The characteristic strength of concrete is defined as the strength of material below
which NOT more than X percent of the test results are expected to fall, where X is:

Ang X 1.2
K23
»wisb
P

Cuestion |0 © 26433099710
Status ; Mot Answered
Chosan Option | =
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0.91 As per 1S (383-1970), in how many zones are the Grading limits of fine agoregates
distributed?

Ans X 1.2
X 2B
537
4.4

Question 10 @ 26433096510
Etatus ; Mot Answered
Chosen Option @ ==

it Iz dona by the raised crest?
Ans X 1. Weir

7 2. Weir with shutter
2 5. Welrwithout shutter
& 4 Bamape

.92 In which type of barrier is most of the ponding done by gates and smaller or nil part of

Question 10 26433095865
Status | Not Answered
Chosan Option ! -

Q.93 Which of the fallowing will have more viscous bitumen?
Ans X 1. Bollom coat

o 2. Tack coal
. 3. Wet coat
2 4. Prime coat

Question 1D : 26433086534
Status @ Mot Answered
Chaosaen Option - =

Q.94 The specific gravity of soil solids is determined by:
Ans X 1. oven diying mehod

o 2. pyonomatar method
75 3. sand bath method
75 4 slave analysis

Cuestion |0 - 28433096825
Etatus : Not Answered
Chogen Optian @ =
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0.95 According to 15 800 - 2007 ,In the deslgn of a tenslon momber using bolted
connections, the net area required to carry the design load t is given by eguation
Wihera '

A, = net cress sectional area required
1, = yield stress in stesl

AR e Ag=Tyx £/ 135
vz A=T./(£1125)
x3 A=T,xf,/15
x4 A=To/(fu/15)

Cuestion |0 : 26433099442
Status © Mot Answered

Chosan Optian @ -

.96 Consider the following statements regarding standard measurement book and
ordinary measurament book. Which of the following options isfare true?
i.Standard measurement books show only the measurement of bullding works.
it.Ordinary measurement books are used for the purpose of checking the bills of
contractor while standard measurement books are helpful In preparing repair
astimates.
iii.Ordinary measurement books are numbered alphabetically while standard
measurement books are numberad numerically.

Ans 21, Only |
o 2. Bolh | and il
A 3. Both i and il
7 4. Both § and il

Cluestion 1D ; 26433099319
Status ; Mot Answered

Chosen Option ; =

Q.97 A water supply pipe with a diameter of 0.5 m conveys 0.8 m*fsac of water from a
source, where the lowest water level is at RL 92.00 m to a reservoir level where it [s
delivered at RL 108.00 m. The distanca between source and supply s 500 m and the
friction factor of a pipe is 0.03. Calculate the static head required to calculate the
capacity of the pump.

Ang o 1. 16m

X2 18m
a4 m
¥ a12m

Question 10 . 26433097152
Etalus | Not Answered

Chosen Option ; =

https:/sse diglalim.com/perfg2 Vipub/ 2207 touchstone/AssessmentO PHTMLMad e 1/ 2207022254/ 2207 022254 24024 640/1 BEATE2453TOGER 184417 .

5556



112322, 12:45 PM

hitps:isso.digialm.com/peng2Tipubl 2207 touchstone/AssessmentQPHTMLMode 1/2207 022254/ 2207022254 540 2464 011 BEET ..

Q.98 In granular materials, the resistance to sliding on any plane within the soll mass
depends upon the ;

Ans X 1. langential force only
7 7. tlangential force and sngle of sliding ction
75 3. normal force only

o 4. normat force and anale of intermal fristion

Question 10 : 26433096658
Etatus ; Mot Answered
Chosen Option @ ==

.99 Which of the followling staterments In the contaxt of a elfrcular sewer of full depth ‘D' i
correct?

Ang X 1. Maximum discharge is obtained whan denth of flow is D81 D,
o 2. Maxomum discharge 5 obialned whan dapth of flow &5 0.95 0.
75 4. Mazimum veloelty Is 20% higher than that when running full
25 4, Maximum velocily |2 oblained whan depth of flow s 0.85 D

Question 10 26433095945
Status | Mot Answered
Chosan Option ! -

2,100 The phenomenon of increase in the volume of a given mass of sand caused by the
films of water pushing the sand particles apart Is referred to as:

Ans
7 2 ehalking

bualking

& 2. leaching
25 4. waler absorplion

Question |0 ; 26433099783
Zlatus © Mot Answered
Chosen Option ; -
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Junior Engineer Civil Mechanical Electrical and Quantity Surveying and
Contracts Examination 2022

IRoll Number
{Candidate Name

Nenue Name

Exam Date 15/11/2022

Exam Time i5:00 PM - 7:00 PM

Subject Wunior Engineer 2022 Civil
Genaoral Intelllgence and Reazoning

Q.1 A#B means 'A is the brother of B'
A @@ B means ‘A is the daughter of B’
A & B means ‘A |s the husband of B'
A% B means "A Is the wife of B’
If CE@N &KEH Y PH#ME &F, then how is K related to J7

Ans X 1. Hushand's mother
75 2. Daughter
7% 3 Son

" 4 Son’s daughisr

Question 1D ' 26433082529
Status | Answered
Chosen Option: 3

Q2 Select the option that is embedded in the given figure (rotation is NOT allowed).

“‘%/\
/

=]

Ans

:‘
X2 | TN
4|

X 4.

Cuastion 1D - 26433058096
Status ; Answered
Chosan Option @ 2
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@3 How many triangles are there in the given figure?

Ans X 1.1
x 23
X 3.12
& 410

Quiestion 1D : 26433066225
Status | Answered
Chosen Option @ 2
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Q.4 Select thecorrect mitror image of the given figeie when the mirrer s placed at M asshown below;
]

Ne. 5
52> >

Question 10 ; 26433056112
Status ; Answeared
Chosen Option : 1
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0.5 Select the option that represents the letters that when placed from left to right In the
blanks below will complete the letter series.
L N_PN_K_OP LK _O_NL_NO_

Ans X1 NOKLNNNPKP

75 2. NKOLNLNKPP
o 3. MHOLNNNFPKP

X 4 NKOLNLNPKP

Question 1D ; 26433059876
Etatus : Answerad
Chosen Option : 4

Q.6 Selectthe option that represents the letters that, when placed from left to right In the
blanks below will complete the letter series.
WaA D_BC _W_CDWDGC_

Ang 1. CWDCD
X 2. CWDCW
7% 3. CWCDG
54, cwoow

Question 10 26433066010
Status @ Answerad
Chosen Option @ 2

Q.F Seleot the correct mirror image of the given flgure when the mirvor 15 ploced af M as shown.
M

hF59qk

N
Ans x1 Jdqes53y

s2dpe2id
xidqge53d
Xeybgesdy

Question |0 ; 26433055958
Status | Answered
Chesen Optian ; 1

Q.8 Select the option that is related to the third number in the same way as the second
number Is related to the st number and the sixth number is related to the fifth
mumlar.
80:728::42:7::12: 27

Ans X 1.226
o 2216
* 3,234
x 4224

Cluestion |0 © 26433067912
Status ; Answerad
Chosan Optlion ; 1
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Q3 gelect the correct mirror image of the given figure when the mirror is placed at

'AB' as shown.
- A
F,f:.-.;;]r,'m, =, E
e
L f’# hc."__. E
=]
Ang = |
A |
N
/ \
I\

g

Question |D : 26433057802
Status - Answered
Cheosen Option : 3

Q.10 Select the option that is related lo the third word in the same way as the second word
is related to the first word, (The words must bo considered as meaningful English
words and must not be related to each other based on the number of lettersmumber of
consonants/vowels in the word,)

Shavel : Scoop 1 Dar & 7

Ans ¥ 1. Dig
X 2. Grind
o 3. Row
7~ 4. Bore

Question 1D : 2642330672388
Etalus - Answored
Chosen Option : 2
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Q.11 In a code languags, TREASURE' s written as "GIVZHFIV', "OCEAN' is written as
‘LEVEN'. How will *PIRATE' be written in that language?

Ans X 1. KRIGZV
X 2. VGIRIK
o 3 KRIZGY
¥ 4. KIRZGY

Question 10 @ 26433056759
Status ; Answered
Chosen Option: 3

.12 Select the option that is related to the fifth tarm in the same way as the second term s
related to the Tirst term and the fourth term relatad to the third tarm.
356 ;1009 ;178 ;1049 ;: 283 ;7

Ans X 1.B70
o 2. 665
X 3634
X 4. 58S

Question 1D : 26433057978
Status : Mot Answered
Chosen Option @ =—

Q.13 Three different positions of the same dice are shown (Figures 1-3). Find the
number on the face opposite to the face showing *3'.

3 . e F 4 B
1 5 3 5 i 2
| ~ |
Flgurs 1 Figare 7 Fagure 3
Ans X 1.5
»o2
w34
X 4.6
Question |D - 26433076576
Status : Answered
Chosan Option : 4
Q.14 '+ maans =" | ' maans 5, W' means "+ and "+ means ', then what will come in

place of "7 in the given equation?
W+2x5-5+5=7

Ans X 1.38
5230
o313
2 4,25

Duestion 1D ; 26433091647
Stalus | Answered
Chosen Option : 3
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CL1E LA e '+, 10 demotel "=, C deebed '~ sl 1 deaiies ~+*, il wiee will lig the valoe of the lellowtig enpesiio
Ioh D IV A BV C A D § = 4

At o 1.2
X 28
p
> 4.4

Guestion 10 © 26433085372
Status : Answarad
Chosen Option ; 4

.16 Select the set in which the numbers are NOT related in the same way as are the
numbers of the given set.

(MOTE: Operations should be performed on the whale numbers, without breaking
down tha numbars into its constituent digits. E.g. 12 — Oparations on 13 such as
adding /subtracting /multiplying etc. to 13 can be performed. Breaking down 13 into 1

and 3 and then performing mathematical operations an 1 and 3 is not allowed)
(96, 112, 104)

Ans X 1.(48, 116, 82
25 2. (56, 114, 85)
o 5. (92, 114, 108)

7 4, (84, 118, 101}

Cestion |0 © 26433068341
Status @ Not Answered
Chosen Option © =

CL17 Which of the following letter-clusters will replace the question mark (?] in the given
series?
Kn, 10, EQ, YS, au, 7

Ans X 1 PW
* 2 EW
* 3 HW
o 4 G

Cuestion |0 ;- 26433057202
Status | Answered
GChosen Option : 3

Q.18 Select the set in which the numbers are related in the same way as are the numbers of
the following set.

(MOTE: Operations should be performed on the whole numbers, without braaking
down the numbers into its constituent digits. E.g. 12 — Operations on 12 such as
adding /subtracting fmultiplying etc. to 13 can be performed, Breaking down 13 into 1
and 3 and then performing mathematical operations on 1 and 3 Is NOT allowod)

[57, 24, 04)

(41, 18, 69)

Ans X 1.(68.37.88)
75 2. (53 21, 84)
7% 3. (45, 16, BB)
o 4 (48,25, 72)

Question 1D | 26433067936
Stalus | Mot Answered
Chosen Cption @ -
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.19 Salect the optlon that s related to the third term In the same way as the second tenm is
related to the first term and the sixth term is refated to the fifth term.
5:15:013: 7181

Ans 1,102
o 2. 91
> 338
X 4105

Question 1D ; 26433057576
Etatus : Not Answered
Chosen Option ; =
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a.20 Selsct the figure from the oplions that can replace the question mark (?) and

complete the patiem.

%
B
=

https:ifssc. diglalm.comiperig2 ¥pub/ 2207 touchstonelfssessmentQPHTMLMode 12207 0222542207022 25456002 TE64/1 6EETE2H24THRE1 TE/BE041 .

Question |0 © 26433092792

Status ; Answered

Chosen Option ; 2

aia8
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.21 Salect the option that represents the lettors that, when sequentially placad from left to
right in the blanks below, will complete the letter series.
RS_NRST_R_T_RS__

Ans X 1. STMNSTH
< 2 TNTSTN
2 3 BNTNTM

o 4 THENTN

Question 1D ; 26433056238
Etatus | Not Answered
Chosen Option ; =

Q.22 Sefect the option thar will repiace the quesﬁm mark (71 o the given fignre 1o conplers the pattem:

Ans

Cuestion 10 ; 26433058058
Status : Answared

Chosen Option : 1
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0.23 'A<+ B means ‘A is the brother of B'.
‘A = B' means ‘A is the father of B,
‘A % B means "A is the sister of B".
‘A= B' means ‘A ls the mother of B'.
HP+M+5xR~-T=x 0, then which of the fellowing statements is NOT correct?

Ans X 1. FisE's mother's brothar.
X 2. Ris Qs father.
5 8. M s Ts father's mother,

o 4. T Iz '3 brathe's so0

https:isse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207022254/ 2207022284 56D 2756416687 ..

Quiestion 10 : 26433056926
Slatus | Not Answered
Chosen Option @ =

Q.24 Select the option that will replace the question mark {7} in the following number series,
2,3,5,09,17, 7

Ane 1 33
b "

X3
> 8.3

Question |0 ; 26433068244
Etatus | Answerad
Chosen Option © 1

0.25 In & code language, ‘PANIC' is written as ‘SDOLF’ and ‘CHAQS’ is written as 'FKDRV,
Hew will "TROUBLE' be written In that language?

Ans X 1. XURYEOH
X 2 WYRYEOH
2 3 XVRYEDH
W 4, WURKEDH

Question |0 : 26433056758
Status | Not Answered
Chosen Option : =

h'l;tps:ffssl:'.|:IIg_Edm.cnmfpengET-’PubﬂZﬁTMchsmn&'Asmmam&PHThﬂ_Mnde!f??ﬂ?ﬂi?ﬂﬂﬂﬂﬂiﬁﬁd&ﬁﬂﬂ?ﬁﬁ#ﬁ BEATEZO24TSR51T5/BE04. . 11/58




11123122, 12:44 PM https:iisse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207 022254/ 2207022284 56D 2756416687 ..

.26 In this guestion, three statements are given, followed by throe conclusions numberad
I. 11 and ll. Assuming the statements to be true, even if they seem to be at variance
with commonly known facts, declde which of the conclusion{s} loglcally follow(s) from
the statements.

Statements:

Some erasers are rulers.
All rulars are coples.

All pens are erasers.

Conclusions:

I, All pens are rulers.

Il. Some pens are copies,

lil. Some erasers are copies.

Ans X 1. Only conclusions || and Il follow,
2 2. Oniy conclusions | and (1| follew.
75 2. Only conclusion | follows.

o 4. Only conclusion Il follows

Cuestion 10 @ 26433057852
Status : Answerad
Chosen Option @ 2

Q.27 i A denotes *+°, B denotes "%, C denotes =, and [ denotes "+, then what will come in
place of “? in the following equation?
95 C14D2B7=60

Ans X 1.8
¥ 2 42
X3
VR

Question 10 : 26433067660
Status @ Mot Answered
Ghasen Oplion : =

Q.28 Select the number from among the given options that can replace the guestion mark
(7} in the following saries.
174, 161.8, 7, 1314, 113.2, 93

Ans X 11484
7% 2 1486
X 51512
,dﬁ' A 14T 6

Question 10 264330570338
Status | Not Answarod
Cheosen Option | -
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0.29 A parson starts frem poeint X and moves & km towards the East. He turns left and
mowvas 3 km, takes a left tumn, and moves 5 km. He tums right and moves 2 km and
then turns left and moves 1 km and reaches a polnt Y. How much and in which
direction does he need lo move now to reach poimt X7

Ang X 1.4 jom South
> 2.4 lan Waest
w* 3. 5 km South
75 4. B kn Nodh

Question 10 - 26433068161
Etatus : Answered
Chosen Option © 2

0.30 Seven friends, A, B, C, D, E, F, and G are seating around a square table, facing towards
the centre. Some of themm are sitting at the corners while some are sitting at the exact
centre of the sides of the table. One seat Is left vacant. D is sitting exactly at the centre
of one of the sides of the table. C iz sitting at a corner, third to the left of B, There are
exactly two people sitting between C and D. F is an immediate neighbour of both B
and D. A Is sacond to the right of F. E Is not an Immadiate neighbour of &, but third to
the left of F. G is an immediate neighbour of C. Where is the vacant seaf?

Ang X 1. Third to the Aght of D
W 2. To theimmediate a7t of B
75 3. Third to the right of ©
25 4, To fha Immedists [aft of E

Question 1D ¢ 26433068369
Status @ Answered
Chosen Option - 3

0.31 Select the option that is related to the fifth term in the same way as the second ferm s
related to the Tirst term and the fourth term Is related Lo the third term.
SINGLE : ELGNIS :: AWESOME : EMOSEWA :: HISTORICAL : 7

Ans X 1. LACIRTOSIH
7 2. LACRITOISH
W 1. LACIROTSIH
X 4. LACRIOSTIH

Cluestion 10 : 26433055928
Status : Mot Answered
Chosen Option @ =

032 PO, R, 8 T, Uand V are seven colleagues of different ages. T s iminediately vounger
than P but older than only & and U. @ is not the oldest. V is immediately older than P.
Who amongst the seven colleagues is the oldest?

Ans X 1P
o 2R
X3V
xXas

Question |0 : 26433068761
tatus | Mot Answered
Chosen Option @ =
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0.33 In a certain code language, "DAD" Is codad as "18" and "MOM" is coded as "50'. How will
"ACT be coded in that language?

Ang o 1.33
X2
b By |
X 43

Cuestion 10 @ 26433067324
Etatus ; Answered
Chosen Option: 3

.34 Select the word-pair that best represents a similar relationship to the one expressed In
the pair of words given below. [The words must be considered as meaningiul English
words and must MOT be related to ezch other based on the number of letters/ number

of consonants [ vowels in the word).
Marriage : Diverce

Ane X 1. [lustration © Instance
" 2, Maximuen © Merest
& 3. Amazing . Proaductive

X & Brave : Couragecus

Question |0 ; 26433080425
Etatus | Answerad
Chosen Option © 3

Q.35 Select the option that is related to the third word in the same way as the second word
i= related to the first word. (The words must be considered as meaningful English
words and must not be related to sach other based on the numbaer of lettersinumbar of
consonantsivowels in the word)

Bird : Feathers : : Fish: 7

Ans X 1. Swim
W 2. Scsles
3 Water
5 4. Rock

Question 1D : 26433065629
Slalus - Answered
Chosen Option © 3
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Q.36 Select the option figure ln which the given figure is embedded (rotation is NOT allowed).

.

> 1

Ans

SO

Question |0 ; 26433057380
Status | Answered
Ghosen Option ;. 3

Q.37 Select the option that indicates the correct arrangement of the given words in a logical
anhd meaningful order.
1. Sea
2. Stream
3, Ocean
4, Pand
5. River

Ang X 1.4,2531
WA 4523
N N
o A.4,2.51,.3

Cuestion 10 : 26433074511
Status | Answerad
Chosen Optian : 2
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.38 Tewn M Iz to the north of Town B. Town C Is to the west of Town B. Town D Is to the
north of Town C. Town D is to the south of Town A, Town A is to the west of Town M.
What |s the position of Town B with respect to Town A?

Ans X1, West
7 2. North-wes!
7 2 Boutn

o 4. South-sasl

Question 1D ; 26433076696
Etatus | Not Answered
Chosen Option ; =

Q.39 Which of the following numbers will replace the gquestion mark (7) and complete the
given number series?
350, 308, 272, 238, 7

Ans 1. 210
K225
X 3220
X 4.5

Question 10 26433067474
Status : Answerad
Chosen Option @ 3

.40 Select the option that indicates the comect arrangement of the given words in the

order they appear in an English dictionary.

1. Oblivious

2, Obloquy

3. Obligation

4. Dbscure

5. Dbsolete

6. Dbliterate

Ans X 1.6.3.2.1,45
M 23,682,145
X 36312464
A58 1,486

Cluestion |0 : 26433068258
Status : Mot Answered
Chosen Option : =
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.41 Two statemnents are glven, fallowead by two concluslons numbered | and |l Assuming
the statements to be true, even if they seem to be at variance with commaonly known
facts, decide which of the conclusions logleally followis) from the statements.
Statements:

Some authors are illustrators.
Some illustrators are arfists.
Conclusions;

I. All artists are lllustrators,

ll. Some authors are artists.

Ans X 1. Oniy conclusion || follows
7% Z. Only conclusion | follows
7% 3. Both conclusions | and Il follow

o . Nelther conclusion | nor || follows

CQuestion |0 26433056696
Status © Answerad
Chosen Option : 3

.42 In a certain cods language, *SPECIAL’ Is writtan as ‘ILWYSAP' and "SECURITY" i=
written as "TWYGJSHC . How will 'REQUIRED" be written in that language?

Ang X 1. JNKGSIVR
o 2. JWKGEIWK
7 3. JWKFRIVW
X 4. IWKGTKWX

Question 10 ! 26433056650
Status @ Not Answered
Chissen Option @ -

.43 Arrange the following in a logical and meaningful order.
1, Eyes
2.
3. Thigh
4, Knee
5. Chest

Ans X 1.1.53,4 2
o 2 1.6.2.34
Xa14.2.62
41,8534

Question 10 26433070465
Etatus : Answered
Chosen Oplion = 2

h'l;tps:ffssl:'.dIg_de.cnmfperIgET-’PubeZﬁTMchsmn&'Asmmenb&PHThﬂ_Mnde!f??ﬂ?ﬂi?ﬂﬁﬂﬂﬂﬂiﬁﬂ&ﬁﬂﬂ?ﬂﬁ#ﬁ BEATEZO24TESR51TE/BE04. . 17/58



11123122, 12:44 PM https:iisse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207 022254/ 2207022284 56D 2756416687 ..

.44 Salect the option that represents the cormrect ordor of the given words as they would
appear in an English dictionary.
1.Euphoria
2.Euthanasia
#Everything
4. Evening
5.Eustace
6.Europaan
T.Euclid

Ans K 1.7.B.1.5Z43
X26T7,1,264.3
o 3. 7.1,6.5:24,3

MAAET L6243

Question |0 : 26433067553
Status - Not Answered
Chosen Option @ -

.45 Sslect the option that is related lo the third ward In the same way a= the second word
is related to the first word, . (The words must be considered as meaningful English
words and must not be related to each other based on the number of lettersinumber of
consonantsivowels in the word)

Eye : Sight : : Tongue : 7

Ans 1 Talk
M 2 Eat
o 3. Taste
7 A, Small

Cuestion 10 26433065631
Zfatus - Not Answearod
Chosen Optlan @ =

CLAG 1A demtirn +°, B diolen =", © daptes =, e T3 devmas * =7, G whin 9l e i syalue of tie dolkesing exmesian?
I8 0 AIBD GC 4= )
Ans X 1129
o 2. 118
X 3188
< 4. 188

Question 10 | 26433085368
Status | Not Answered
Chosan Option @ =

Q.47 Seven people, A, B, C, I, E, F and G, are sitting in a straight row, facing the north. Only
two people sit lo the left of G. Only two people sit betwean A and F. A sits to the left of
F. I} is an immadiate neighbour of F fo the right. Only one parson sits to the right of B.
E is not an immediate neighbour of G. Who sits to the immediate right of B?

Ans X 1.D
XiG
o 3 E
X arF

Question 1D : 26433055893
Status | Mot Answered
Chosen Option | =
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.48 Salect the option that represents the lettors that, when sequentially placad from left to
right in the blanks below, will complete the letter series.
MEY_MB_CM_VC_BYCMB__

Ans X 1. MVCVE
‘J‘ 2, EVBMYE
X 3. BCVRCM
7 4 cMCeMC

Question 1D ; 26433056242
Etatus | Not Answered
Chosen Option ; =

Q.49 Arrange the following In a logical and meaningful order.
1. Forehead
2. Walst
3. Collar bone
4. Chin
5. Heel

Ans X 1.1,4,5 23
K21,8.4,256
¥ 34,2488
o 1,4 325

Question 1D 1 26433073464
Status | Answered
Chosen Option | 3
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Ans

Q.50 Select the option in which the given figure is embedded (rotation is NOT allowed),

X4
Question 1D ; 26433076723
Status  Answered
Chosen Option : 2
Sigllon : General Awareness

.1 Which of the following is NOT a political party?
Ans X 1. Jharkhand Mukfi Morcha:

75 2 Indizn Union Muslim League
75 3. Naga Peogla's Front

" 4, Bharaliya Kisan Linion

Queastion 1D : 264330100088
Ststus | Answered
Chosen Option: 3

of-war?

X 4 MNersis

.2 Which animal belonging to Phylum Coslenterata also known as the Portuguese man-
Ans X 1. Adamsia
o < Physaiia

7 3. Ancylastoma

Questicn 10 ;| 26433055777
Stalus | Not Answered
Chosan Option © =
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0.3 The Suprems Court an 28 January 2022, quashadthe ____ Legislative Assembly's
resolution of 5 July 2021, which suspended 12 BJP MLAs for a | period of one year for
afteged disorderly behaviour in the House,

Ans 1, Goa
W 2, Manarashira
7 3 Karnatalka
75 4 Chennai

Question 1D ; 26433071493
Etatus  Answearad
Chosen Option : 2

Q.4 In which of the fellowing parts of India Monsoon Trough encourage(s) the
development of thermal low?
A. North India
B. South India
C. Northwest india
0. Nartheast India

Ans X 1.BandD
X2 AandD
o 3 Aand C
4 fandB

Question 10 26433054984
Status  Not Answered

https:iisse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207 022254/ 2207022284 56D 2756416687 ..

Chosen Option | —
== ==
.5 Agar is obtained from:
Ans * 1. reoalgas
75 2. brown glgae
7 3. gresn algae
25 4, grasn-blue algan
Question |0-; 26433064419
Status : Not Answered
Chazan Option © =
Q.6 A type of freon called was/were once very widely used as asroscl sprays and

refrigerants.
Ans X 1. Bromopropanes

" 2. Chienfivorocarbons
X 3. Bromoethanes
7 4, Chloreform

Question 10 - 26433064266
Bfatus : Not Answered
Chosan Option @ =
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G.7 A large area characterised by s vegetation, soll, climate and wildlife is known as:
Anz X 1, biotic potantial

X 2 bia system
o 2. bigme

7 4 pcosystem

Question 1D : 26433054045
Status - Answerad
Chosen Option © 4

0.8 Which protein is found in cardiac muscle and type | skeletal muscle fibres, one of the
two types of fibres that make up the muscles the body uses for movemeant?

Ang X 1. Rannin
X 2. Koratin
o 3. Myosin
75 4. Troponin

Cluestion 1D © 26433092193
Status @ Not Answered
GChosen Optlan © -

0.9 The Victaria Memaorial Hall is located in the state of
Ana 1. West Bengal

< 2. Punjsb
2 3. Maharzshira

7 4. Uttar Fradesh

Question 1D : 264330100731
Etatus . Answered
Chosen Option © 4

Q.10 Indira Bora, an internationally acclaimed dancer was awarded Padma Shri in 2020. She
is renowned for her contribution to which of the following dance forms?

Ans X 1. Manipur
2. Sattriy=
75 3. Kathax

75 4 Kathakall

Cuestion |0 - 28433070832
Status : Answered
Chosen Option © 4
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.11 Under the tuitelage of , the Indian foothall team won the gold medal in
1851 Asian Games, and finished fourth in the 1956 Olympics.

Ans X 1. Kartick Chandra Mukheries
o 2. Sy=d Abdul Rahim
75 3. TM Varghess
7% 4. Sallen Manna

Question 10 : 26433055186
Etatus Mot Answered
Chosen Option @ -

Q.12 What is the term for the large cauldron-like hollow formed when a volcano srupts and
collapses?

Ans X 1. Sills
X 2. Ginder cors
2 3. Conduli
o 4 Caldera

Question 10 26433055162
Status | Not Answered
Chosen Option ! -

Q.13 Which of the following allowed trial of British subjects in India by senior Indian
Judgas?

Ane X | Government of India Act, 1858
2 2 |ndian Councils Act, 1852
& 2 Indian Pengl Code, 1880
o 4. libart BII, TBE3

Question |0 ; 26433081948
Status 1 Answarad
Chosan Option 1 2

Q.14 The Banaras gharana of Kathak developed under
Ans X 1. Bhanuji

7 2. Nawsb Walid All Khan
W 2. Jankiprasad

X 4, Raja Chakradhar Singh

Cuestion 10 ; 26433086566
Status | Mot Answered
Chosen Option ! —
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.15 In February 2022, which state government passed an ordinance to amend its
Lokayukta Act 1939, according to which the state government would have the power
to “either accept or reject the verdlct of the Lokayukta after an opportunity of being
hoard"?

Ang X 1. Odisha
X 2 Rajasthan
o' 5. Kesals

75 4. Punjaby

Question 1D - 26433086875
Etatus : Answered
Chaosen Option © 3

Q.18 Ustad Asad Ali Khan was a Rudra Veena player with expertise in
school of Drupad.

Ans o 1. Khandar
. 2. Dagar
7 3. Gohar
25 4. Nauhar

Question 10 26433054467
Status © Mot Answered
Chosen Option | =

Q.17 In reference to the Census of India, what is the full form of CMMS?
Ang o 1. Ceneus Manageimen! and Monitoring Systam

75 2. Census Mentoring and Monitaring System
75 3. Census Managemsol and Maintenance Sysiem
7 4. Census Managing and Monltoring Soclety

Cuestion |0 26433089246
Status . Answered
Chosan Option - 4

Q.18 How many ocean depths or trenches have been discovered In the Indian Ocean so far?
Ans X 1,15

X 210
X 3.3
o 4.6

Cuestion 1D : 26433055833
Status : Answered
Chasen Option : 3

h'l;tps:Hssl:'.|:IIg_Edm.cnmfper!gET-’PubeZﬁTiﬁmchstan&'Asmmam&PHThu_Mnde!f??ﬂ?ﬂi?ﬂﬁﬂﬂmﬂmmaﬁﬂﬂ?ﬂﬁ'#i BEATEZO24TSR51TE/BE04. . 24/58



11123122, 12:44 PM hitps:isso.digialm.com/perg2Tipubl 2207 touchstone/AssessmentQPHTMLMode 1/2207 022254/ 2207022254 560 27 564/166ET ..

Q.19 Trade winds that cross the equator and enter the Indian peninsula in direction
bring monsoons to India.

Ans X 1. north-\Wast
W' 2. south-wrest
75 3 north-eas

75 4. south-east

Ouestion 10 @ 264330100740
Etatus Mot Answered
Chosen Option @ -

.20 The famous weight lifter Salkhom Mirabal Chanu is from:
Ans X1 Aszam

75 2. Mizaram
7 3. Meghataya

o 4. Manipur

Qwestion 10 - 264330100727
Status @ Mot Answered
GChosen Optlan © -

Q.21 |dentify the Sultan of Delhi who brought Bengal under the control of Delhi Sultanate
and appointed his son Bughra Khan as the Governor of Bengal?

Ans o 1. Baiben
75 2. Alsuddin Khaljl
2 3. Bahlul Lodl
2 4. Muhammad Tughlug

Question 10 : 26433085238
Status : Not Answered
Choaen Option - =

Q.22 The temperature at which air becomes saturated is known as:
Ans X 1. waler poinl

7 2. humidity point
75 3. lce point

" A dew point

Question |0 - 284230100690
Status - Answerad
Chosen Optlan @ 2
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.23 India Iz assoclated with which trade bloc from the fellowling?
Ans X 1. NAFTA

X 2 OPEC
7 3. FTA
& 4. SAARD

Question 10 ; 26433074145
Status : Mot Answered
Chosen Option : =

0.24 What provides the centripetal force for the motion of the moon around the earth?
Ans X 1. Force of the orbits

7 2 Feroe exered by the atoms of non-living things on earth
2 3. Centrifugal farce of mooh

" 4. Forze of atfraciion Of the earth

Cuestion 1D ; 26433066662
Stalus | Not Answered
Chosen Option | -

Q.25 Who published the book "General Merphology of Qrganism’” in 1866, providing tho first
definition of ecology as ‘the relation of animals to their arganic and inorganic
environment'?

Ang X 1. Alexander Humbobdt

25 2. Eugene Odum
2 3. Gar Linnasus
o 4. Emst Haeckel

Question 1D : 26433055129
Status : Mot Answered
Choaen Option - =

_— =

Q.26 Manish Marwal and Singhraj Adhana are associated with which of the following
sports?

Ans X 1. Wrestling
7 2. Welghtlifting
w2, Shooting
2 4, Boxing

Cuwestion 10 ; 26433061871
Status | Mot Answered
Chosen Option ! —
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Q.27 \hat among the following is the required prefession of the applicant as on 3™ ilarch
2022 In arder to apply for the benefits of PM KUSUM Yojana?

Ans X 1, ASHA Workers
o 2. Farmer
3 Weavers
75 4. Primary School Teachers

Cuastion 1D © 26433086868
Etlatus : Not Answered
Chosen Option ;-

0.28 Who among the following lald the foundation stone for the werld's third-largest cricket
stadium in Jaipur in February 20227

Anz X 1. Naviot Singh Sidhu
7 2. Gaulam Gambhir
WF 4. Souray Gangaly

75 4. Rahul Dravid

Cuestion 10 26433081843
Status . Answered
Chosan Option @ 2

In January 2022, which governmaent dalegated power to the District Collector to grant
permission for the conversion of agricultural land for non-agricultural purposes up to
12 and a half standard acre against a fee of 5 per cent of the market value of the land
notified under the Stamps Act'?

Ans X 1. Sikkim
7 Z. Uttarakhand
X 3. Goa

o 4 e and Kashni

Question |0 : 26433081809
Status | Answered
Chosen Optian @ 2

Q.30 When will you find the magnetic field stronger?
Ans X 1. VWhen the field lines are not-se=n

& 2 Whan field linss are orowdead
25 3. Whan the poles are togather
2 4. When the lines are together

Quastion 1D ! 264330100045
Stalus | Answered
Chosen Option: 3

h'l;tps:Hssc'.l:lIg_idm.cqupengE?.‘pubeZﬁTMchstanm‘AsmmamﬂPHThﬂ.Mnde!fﬂ?ﬂ?ﬂigzw{jmﬁdsﬁﬂi?ﬁ#i BEATEZO24TER51TE/BE04. . 27/58



11123122, 12:44 PM hitps:iissc.digialm.com/perg2 T /publ2207 touchstone/ AssessmentQPHTMLMode 1/2207022254/2207022254 56027564/ 16687 ..

0.31 Which Article of the Constitution of India fays down the maximum strength of the
Rajya Sabha as 2507

Ans X 1. Adficle 58
7 . Article 78
# 3, Article G4
o 4. Article 80

Ouestion 10 @ 26433054542
Status : Answered
Chosen Option: 3

.32 When was the Pradhan Mantrl Jan DhanYejana launched?
Ang X 1. April 2015

75 2. August 2015
& 5. August 2014
25 4. Aprll 2014

Question 10 - 264330100711
Status @ Answerad
GChosen Optlon © 2

.33 What is the characteristic of a small-scale industry?
Ans X 1, |t should be a subsidiary of large industry

o 2, Il = geneally a labou—ntersiva unit
75 3. It shauld ba established In rural sres anly,
75 4. It should be =upportive to the agricuttural eector.

Question 10 : 26433054615
Etatus - Answered
GChosen Option @ 2

—_—— —
.34 What Is revenue deflcit?

Ans 21 It s the excess of government's capitsl expendliure over caplial rece(pls,

o 2. It ls tha ekcess of governmesnt's niken U e expendliy s dver revenue fecsipts
2 2 Itis the excess of govermment's tolal expendituse over tols! receipts,
XA I s the difference belween revenie and capltsl expendilure,

Question 1D ; 26433064854
Sfatus . Mot Answered
Ghesen Oplion | =
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0.35 Which sfement created by bambarding California-249 with a carbon-12 nucleus Is
named in honour of New Zealand chemist Ernest Rutherford, who was the first to
explaln the structure of atoms?

Ans X 1. Element 87
W 2, Element 104
/< 2 Element 118
7 4 Element 112

Question 1D ; 26433055090
Etatus | Not Answered
Chosen Option ; =

Q.36 Geologlcally, which of the following physiographic divisions of India |s supposed to be
one of the most stable land blocks?

Ans X 1. The Northem Plains
#< 2. The Indlan Deserl
' 3. Tho Perinsular Plateau

75 4. The Himalayas

Question 1D : 264330100080
Status : Mot Answered
Chosen Option @ =—

0.37 What is the cytoplasm and nucleus of a cell called?
Ans X | Tissus

& 2, Protoptasm
& 2. Cylosol
& 4. Nuclsoplasm

Question |0 ; 26433058116
Elatus 1+ Answarad
Chosan Option ; 3

©.38 Which chemical compound is used as a bleaching agent in some foods such as wheat
flour, edible oil, egg white ete.? i

Ans X 1, Chlopabenzoats
5 2. Calelum hypechlorite
2 3. Banzene hexachlonde

& 4. Hydrogen paroxide

Cuestion 1D : 26433092209
Btatus © Answared
Chasen Option : 3

hitps:/issc. diglalm.com/per/g27/pub/2207 touchstonelAssessmentQPHTMLMode 1/2207022254/2207 0222548600 T564/1 6687620247585 175/6604... 28158



11123122, 12:44 PM hitps:isso.digialm.com/perg2Tipubl 2207 touchstone/AssessmentQPHTMLMode 1/2207 022254/ 2207022254 560 27 564/166ET ..

0.39 Doubls fertilization |s the characteristic of:
Ansg X 1, gymnosparms

& 2, angmspasm

2 3, fung

7 4 algas

Question 10 ; 26433064417
Status - Answerad
Chosen Optian ; 4

0.40 Wha beacame the first Swiss chemist to win the Nobel Prize in 1313 for his work on the
linkage of atoms and the coordination theory?

Ang X 1. John Dallan
75 2. Walter Hailtiar
7 3. Charies Friede!

o 4, Alfred Wemer

Question 10 . 264330100047
Status @ Mot Answered
Chosen Option © =

0.41 Whichof the fallowing is India’s longest road tunnel and the first tunnel with a fully
integrated tunnel contral systam?

Ans X 1. Sangaldan Tunnal
25 2 PirPanjal Tunnal
& 3. Chenani-Nashri Tunned

2 4. Karbude Tunns|

Question 10 264330100071
Etatus @ Answerad
Chosen Option © 3

.42 From which of the following countries did India borrow the parliamentary system of
aovernment?

Ans X 1. Austria
" 2. Brltain
2% 3 Canada
X 4. Australia

Cuestion 10 ; 26433086777
Stats | Mot Answered
Chosen Option ! —
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CL.43 Which of the fallowing Articlas of the Indian Constitution mentions that for avery state
there shall be a Legislature?

Ans X 1. Ardicle 80
¥ 2. Article 56
7 3, Article 123
o 4. Article 168

Question 10 © 26433086851
Etatus | Mot Answered
Chosen Option @ -

Q.44 In 2020, approximately what was the percentage of population In India aged between -
14 years?

Ans o 1 2B2%
X 2.23.2%
7 3.20.2%
> 4.359%

Question 10 264330100065
Status | Answered
Chosen Option @ 3

Q.45 Which of the following Acts shifted the powers to the British Crown from the English
East Indla Company?

Ane X 1. Charter Act, 1813
X 2 Chartar Act, 1863
& 3. Gavernment of India Act, 1A58

2 8. Indian Council Act, 1867

Question |0 ; 26433082248
Slatus - Mot Answered
Chosen Option ; -

Q.46 Select the FALSE statemeant from the given options.
Ans X 1. UUL is termination codon.

75 2. AUG Is start codon
2% 3 AUG codes for mathlonine,

& 4. AUGIE tsmination codon

Cuestion 10 ; 26433064156
Status : Answerad
Chosen Option ! 3
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.47 Which feature of the Kuchlpudi dance Invalves the foet of the dancer on the odges of a
brass plate?

Anz o | Tarangam
75 2. Jala Chitra Nitrayam
75 3. Tandava
7% 4. Manduk Shalbdam

Question 10 @ 26433086567
Etatus | Mot Answered
Chosen Option @ -

Q.48 Tha body of which of the following phyla Is triploblastic, segmented and bilaterally
symmatrical ¥

Ans X 1. Coslenterats
X 2. Echinodermata
o 3. Arihropods
2 4. Porlfera

Question |0 26433064139
Status | Not Answered
Chosen Option ! -

Q.49 Which type of farming in India is practised on small patches of land with the help of
primitive tools like hoe, dao and digging sticks, and family/community labeur?

Ane X | Inensive Subslstence Faming
o 2, Primiilve Subsistence Farming
75 2. Plantation farming
& 4. Rudimentary sedantary farming

Question |0 ; 26433074142
Elatus 1+ Answarad
Chosan Option ; 3

Q.50 What does the ratio of Nominal GDP and Real GDP represent?
Ans X 1. Economic development

7 2. GDP growth
7% 3 Real income

o 4. GOF oeflalor

Question 10 @ 26433059261
Stetus | Answered
Chosen Option ! 2

settion - Part A Seneral Engmeering Gl & Structural
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CL1 Which of the following Is one of the reasons to provide extra-widening on highways?
Ans X 1. Apsthellc reasons

F 2. Consideration for off-iracking of vahicles
7% 3. Providing super-efevation
75 4. Provide sel-back sight distance

Question 10 ; 26433086525
Status : Answared
Chosan Option © 2

0.2 Which of the following is an INCORRECT statement?
Ans X 1. Principal planes are subjected to cnly nomal siress

W 2. Aslab s primanty deslgned for torslon
& 3. Buckling is related to iateral defiection of 2 column

X 4. Rankine gave the maximum principal stress theory for the failuré of 8 material &t its
alastlc point

Cuestion 10 ¢ 26433099770
Status | Answered
Chosen Option : 4

.3 As per 15 383 (1970), the grading limit percentage ﬂffhnam in Zone It which
are passing through a 4.75 mm 15 sieve is

Ans o 1. 90-100
75 2. 35-59
X 3 1534
X 4010

Question |0 26433096514
Status : Answered
Chosen Option: &

Q.4 Chain survey is mainly done using triangulation technigue because;
Ans o 1 & inangls s theoonly simpla o that gan ke plotied foem B length of its-sides
measired in fiald

25 2 triangles reduce the eror by 30%
7% 2. in‘triangulation, the survey work can be checked using chech line
75 4. 1t Is needed 1o form a well-conditioned trlangle

Destion |0 . 264320100841
Etatus : Answared
Chosan Option - 4
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0.5 The structural membar camying compressive load in a truss is called:
Ans X 1.tle

X 2 chesl
o 2. strul
75 4. purlin

Question 10 ; 26433096333
Status - Answerad
Chosen Optian ; 4

06 Munsell references are primarily used for classifying which of the following materials?
Ans X 1. Rock

5 2. Timber
X 3. Cament

o 4. Paints

Cuestion 1D ; 26433099703
Status | Answerad
Chosen Option : 2

.7 Select the correct statement.
Anzs X 1. Due to noise wikd |ife animals bacome mora active.

o 2 Frequent awaramng 15 causs due o nama pollution,
75 4. Noise pollution enhences sleeping duration,
2 4, High bood pressure Is not caused due to nolse pallutlen,

Question |0 26433085917
Siatus | Answered
Chosen Option : 1

.8 The point of intersection of the obstruction clearance line and the extended plane of
the runway surface and the other end of the runway Is called as;

Ans X 1, effecive Mght width
2, effectve Tength af rarmeay
2 3. base width of hanger
Fo 4 effectve length of xdway

Question |0 ; 26433099759
Slatus © Answarad
Ghosen Option ;1
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L9 While drawing a cross-section of a contour map, the following values were noted fram
point A to point B on a strip of paper to draw the graph = 500 m, 400 m, 300 m, 200 m,
200 m, 300 m, 400 m, 500 m.
Which cross-section would be drawn by using the above values?

Ans X 1. CIFf
X 2. Bieap slops

o S. Depression

2 4 Hil

Cuestion |0 - 264330100661

Etatus : Answered

Chosen Option : 2

Q.10 In which tvpe of canal escapes is the crest of the weir wall kept at R.L. equal to the
canal FEL?

Ans X 1. Orifice type
¥ 2 Shulce type
o 2. Wair ype
2 4. Regulator type

Question 10 26433095869

Statuz : Answerad

Chosen Option @ 2

.11 To prevent bricks from defects such as shrinkage and warping, which major ingredient
is added in the mix during its preparation?

Ans X 1. Feric oxide
7 2. Alumina
W 3, Sllica
2 4, Lime

‘Question 1D : 26433091039

Status : Answared

Chosen Option-© 1

Q.12 Poisson's ratio for linear elastic, homogeneous and isoftropic materials:
Ans X 1. linearly varies with respect to siress

7% 2. |s not same for tension and compresslon
o = remains constant throughowt

5 4, Iz in the rangs of & Lz 1

Guestion |0 : 26423088025

Status @ Answerad

Chosen Optian @ 2
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QL13 In approximate quantity method, Tor suparstructurs, -
Ans XX 1. prica par cubje faet |s determined

X 2 price per square metrs |s determined
7% 3. price per cubic mefre is determined

W 4. prica per running metrs is detarined

Question 10 ; 26433091137
Status - Answerad
Chosen Option @ 3

0.14 Which type of soil is most suitable for construction material?
Ans X 1. Humus

" 2 Loam
X 3. Bentonite
X 4. Peat

Cuestion 1D ; 26433096651
Statlus | Answerad
Chosen Option : 3

Q.15 While raising a barrier wall between nolse source and nulﬂ receiving and to reduce
noise level at the receiving end, the noise reduction in decibel:

Ana 1, depends on the neight of the barmisr wall
< 2. does not follow & logarithmic function
75 3. e directly proportional to the wavelangth of saurd
75 4. is directly proportional to the distance between the barrier and the recetving end

Question 10 : 26433095943
Etatus - Answered
Chosan Option : 3

Q.16 Water is flowing through a pipe of 5 cm diameter under a pressure head of 20 m, which
is 5 m above the datum line. Find the haight of the hydraulic gradient line with respect
to the datum.

Ans X 1.30m
XK 220m
X 3.15m

425

Cuwestion 10 ; 26433091146
Status : Answered
Chosen Option ! 1
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Q17 The length of a rectangle measured with a 10 m chain was found to be 100 m.
This chainwas 10 cmn too long. Also, during the measurement of breadth with a
chain of 20 m length, the applied pull was 20 kg; whereas, the standard pull for
the chain was 10 kg. The measured breadth was 50 m, Find the actual area of

the rectangle in 0, Modulus of elasticity of ¢hain = 2 « 10° kg/cm?® and area of
cross-section of chain is 0.05 cm,

Ans X 1, 5050
" 2. 5060202
¢ 2 5050.101
7 4.5049.798

Question 10 © 264330100638
Status @ Mot Answered
Chosen Option ; =

Q.18 Which of the following with respect to Centre Line method is NOT true?
Ans o 1. If o walls come from cpposite diections and meet a wall at the same juncthon, then
there will be one |unction (&% per aenbre lire rredbod)

75 2. Al the comers of the buillding where two walls mest, no subtraction or addition is
required for tho conire line length,

75 3. Feor a bullding having different types of walls, each set of wall has 1o be dealt with
separataly

7% 4. Total quantity for an item i obtalned by multiplying the total centre fine langfh by the
respective breadih and heignt.

Cuestion 1D ; 26433099333
Status : Answered
Chosen Option - 4

Q.18 Which of the following particulate poliution control devices CANNOT be used for a
particle size less than 50 micron?

Ans X 1. Cyclone colleciar
X 2. Spray towears
7 3. Elsctrostalic precipitator

o . Gravisafional settling chamisers

Question 10 ; 26433095200
Status @ Answered
Chosen Optlion = 1

Q.20 As per |15 10262: 2009, what is the assumed standard deviation in MPa of a M 30
concrata?

Ang 15
X 24
XK 3.35
Nae

Question |0 : 26433006522
Status @ Answerad
Chosen Optlon : 2
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.21 Tha portion of the trunk having inner annular rings surrounded by the pith is callad:
Ans X 1, bark

2 2 camblum
7 3. sapwood

W 4. heartwond

Question 1D : 26433088081
Staetus - Answarad
Chosen Option : 3

0.22 Transported soil known as "Talus® is transported by "
Ans X 1 wind

25 2. Nowlng watsr
& 3 aravitallonal force

2 4 lce

Cuestion 1D ; 26433096653
Stalus | Answered
Chaosen Option : 3

Q.23 The minimum amount of water required to be addad to the ,&nll, pxpressod as
percentage of weight of the soil, that will just make it flow like a liquid when jarred
slightly is known as .

Ang X 1. plastic limil
o 2. lloule lenft

7 3.shrinkage Hmit

2 4. elastic limit

Question 1D : 26433096656
Status @ Answerad
Chaaen Option - 1

Q.24 Which of the following rules of measurament book is true?
Ans X 1. Maasuramants can be recorded before complotinn of & work.

7 2 Description of work is not necessary for recording measurement
75 3. Measurements of the same |lem under different conditions can be recorded together.

o 4. Dimanslons sheaild be ontared [n the order of langth, breadih, and thickness.

Question |0 : 28433099315
Status - Answered
Chosen Optian - 4
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Q.25 For calculating annual property depreciation. the following described formula is
used by which method of deprecation calculation?

Original Cost — Scrap Value
Life in years

Annual Depreciation =

Ans  oF 1. Staight line mathod
% 2 Quallty survey method
X 3. Sinking fund method
< 4, Declining balanse mathod

Cuestion 10 1 26433096582
Blatus | Answerad
Chesen Option @ 1

0.26 During the construction of particle board in the extrusion pressing process, what is
the orientation of the wood particles with respect to the plane of board?

Ans 21 90°
xzQ°
> 2 45°
x 4. 30°

Question |0 ; 26433088058
Status © Answered
Chosen Option: 3

Q.27 Which of the following jolnt types primarily relisves tensile stress In a concrate
pavement?

Ans X |. Expansion
7 2. Consfruction
o . Conlraclan

X 4 Lonmaltudinal

Question 10 : 264330100972
Etatus ; Anawared
Ghosen Oplion ; 4

Q.28 The bitumen that Is obtained as a residue during the distillation of a high-resin
petroleum is called:

Ane X 1. cutback bitumen
X 2. siraight run bitumen
o’ 3. residual bilumen

7 4. plastic bilumen

CQuestion |0 26433088068
Etatus @ Not Answered
Chosen Option @ =
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.29 The use of Electronic Digital Theodallte attached to a total statlon Is to measurs:
Ans o 1 horlzondal and vertlcal angles

X 2 thie degree of a curve
7 3. horizontsl distance

75 4 he latiiude and the longiude of a ke

Question 10 ; 264330100672
Status - Answerad
Chosen Option : 1

0.30 Which of the following gradients will have the maximum value?
Ans X 1. Minimum gradient for plaln and rolling terain

w2, Exceptional gradlient for plaln and rolling terraln
2 3. Minimum gradient for steep lerrain

X 4. Limiting gradient for plain and rolling terrain

Cuestion 1D ; 26433086526
Stalus | Answerad
Chosen Option @ 2

4.3

Q.31 Which of the following soll type has the highest value of ce-afficlant of permaabllity?
Ans X 1. Clay

o 2. CoBree sand

75 3. Fine sand

Question |0 : 26433099733
Siatus | Answered
Chosen Option + 4

Q.32 In surveying, a point is established using:
Ans X 1. atthe mostthree points of reference

75 2. et the most o, already Txed points of misence
2 3. at lsast tvo points of refarance

o 4. al teast twoy already fixed points of reference

Cuestion 10 264330100632
Status @ Answered
Chosen Option . 4

Ans % 1130
X 2. 128
X a2

.33 Detarmine tha total water force (in KN) acting on the bottom of a tank which is
completely filled with water, Height and width of the tank is 2 m and 3 m, respectively.

o 4 17

Quection 1D : 26433088707
Status | Answerad
Chosen Option : 2
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0.34 Surface water will alsa include pariculate and dissolved organic matter formad dus to
decay and leaching of organic detritus. This is collectively referred to as:

Ans X 1. biologicsl load
W' 2. nafural organic mattsr (MO
7 3. chemical effervescence

7% 4. biochemical matter

Oueztion |0 @ 26433099773
Status ; Answered
Chosen Option @ 1

Q.35 As per IS 456:2000, short axially loaded RC column members using mild stesl are
designed by the equation ;
where,
P, = factored axlal load on the member
e = characteristic compressive strength of the concrete
fy = characteristic strength of the campression reinforcement
A,' = gross cross sectional area
A, = area of concrete
A, = area of longitudinal reinforcement of column

Ane - # Pu=04fu A+ 0.67 fA,
% 2 Pu=04f3 A —0.67 A
X 3. Py=0.25fx Ac + 0.87FA

X 4 Py=0.25fq Ac — 0.87THAx

Question |0 26433096323
Status - Answarad
Chosen Option : 2

https:iisse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207 022254/ 2207022284 56D 2756416687 ..

Q.38 A water supply pipe of diameter 0.5 m conveying 0.8 m*/sec of water from a source to
supply. The distance betwesn source and supply Is 500 m and Darcy Walsbach friction
factor of a pipe is 0.03. Find the head loss due to friction.

Ans X 1.28.5m
o 2.25.3m
A 3I5m
¥ 4.275m

Question 10 @ 26433091148
Status . Mot Answered
Chosan Option © =
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0.37 As per 1S B00:2007, permissible maximum slendemess ratlo for a member normally
acting as a tie in a roof truss or a bracing system not considered effective when

subjected to possible reversal of stresses resulting from the action of wind or
sarthgquake forcas will be

Ans 2 1250
* 2. 400
W 3. 350
7 4,300

Question 10 - 264330100830
Etatus : Answered
Chaosen Option © 1

0.38 In the case of lap joint welds, the minimum lap should MOT be less than X times the
thickness of the thinner part joined or 40 mm (whichever s maore), where X is:

Ans X 1.8
X265
3.2
o 4.4

Question 10: 26423099795
Status © Answerad
Chosen Option © 4

.39 Basin lag in hydrology is the time difference betwoeen the
Ans X 1. evcess rainfali and surface runoff

7% 2. precipitation and evaporation
W' 3. cantraid of rainfall ewess and centroid of surEce-rnofl

75 4, ralnfall and runo of tao basine

Cuestion |0 28433095854
Status . Not Answered
Chosan Option - =

.40 A ractangular eolumn 300 mm x 300 mm size and 5 m long I= restrained In position
and dirsction at both ends. The recommended value of it's effective length is

Ans ¥ 1.5m
X 225m
o 3 525m
4 4m

Question |0 26433099418
Status @ Answerad
Chesen Optian @ 4
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CL41 Two litres of an oll welgh 16 N. Calculate the specific gravity of the oll. Take density of
water as 998 kg/m®,

Ans X 10786
o 2. 0818
X 3 0.B46
> 4. D.B56

Cuestion 10 © 26433088700
Elatus : Not Answered
Chosen Option ;-

.42 The flow of water into the ground through the soll surface Is called
Ang 2 |. evaporation

o 2. mfiftration
# 3. evapolranspiration
75 4 Intercaption

Question |0 ; 26433095842
Status ;. Answared
Ghesen Option ; 2

Q.43 Select the correct option for the given statements,
Statement

1: Consolidation I dua to a reduction In the veluma of alr voids at a glvan water

content.

Statement -

2 : In compaction volume reduction is due to sxpulsion of pore water from volds.
Ans X 1. Both staiements 1 and statement 2 are true and statamant 2 is the comesct

explanation of statemeant ‘|

75 2. Both statement 1 and statement 2 are false
25 5. Statemeant 1 is true bul statement 2 is falss

w4, Both siztermanis 1 and slatement 2 are truo bULstatemean] 2 (5 nol e comeat
exptenation of statament 1

Question |0 © 26433006643
Status : Nol Answered
Choegen Optlon: -

C.44 The major segregation of biomedical solid waste for safe and economic disposal is
done an the basis of:

Ans 1. hazardous and non-bazatdous catagones
7 2 biodegradable and non-bicdegradable categoriss
7 3. colour of the weste
7 4, organle and Inamanic categories

Question |0 . 26433095931
Status : Not Answersd
Chosen Option | -
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.45 Tha phenomenon of rise or fall of liquid lavel in a caplilarity tube is callad as
capiliarity. In non-wetting liquids (e.g. mercury), what is the relation between cohesion

of mercury and adhesion betiveen mercury and caplllary tube?
Ans 1. Cobesion is grester than adhesion

25 2. Cohesion (s lesser than adhesion,

7 2 Mo refation betwesn cohasion and adhesion

7 4. Cohesion Is equal to adhesion.

Question 1D ; 26433094795
Etatus | Answerad
Chosen Option : 1

Q.46 For a catchmant In Rajasthan, India, the mean monthly temperature in June [s 28°C
and average rainfall in June ia 16 cm, Estimate the runoff {in om) for the month of June

by Khosla's method.
Ans X 1.64cm

W £ 2.8 cm
7 3.8.8cm
X 4.38cm

Question 10 26433095845
Status : Answered
Chosen Option © 3

Q.47 Which of the following is NOT a desired stress distribution diagram at the base of &
masonry dam?

. "\I
=l g _J]
v \I

COuestlon |0 : 264330100862
Stetus : Answered
Chosen Option @ 4
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.48 A Venturl meter ls a device which is used extenzively for measuring flow rate of Aulds.
Which of the following is the working principle of a Venturi meter?

Ans X 1. Euler's theorsm
7 7. Reynold's thearsm
7 3 Pascal'slaw

o 4. Bamoull's theoram

Question |0 : 26433088709
Etatus | Answered
Chosen Option @ 4

.49 Which of the following characteristics of a brick make It a good quality brick?
Ans X1 Warping

W' 2. Good durabillity

X 3. Uneven texture

7 4. Shrinkage

Cwestion 1D © 26433091040
Status @ Answerad

GChosen Optlon © 3

Q.50 According to IS 800:2007, if a built-up column is subjected to axial foroe, the lacing for
comprassion membaers should be proportioned to resist a total transverse shear ¥,
aqual to percentage of the axial load on the colamn.

Ans o 125
X 21
’x 3815
a4z

Question |0 ; 264330100825
Stalus  Answered

Chosan Option @ 3

Q.51 In the design of tension members, the design strength due to yielding of gross section
is glven by
Where
Ag = Gross area
fy = Yield stisse
fu = Ultimate stress

At o1 Tae=AgTY/ Yao
x2 Tag=0.9 Agfu/ Yo
X3 Tagg=Agfu/ Ym
X4 Tag=Ag1y/ Ym

Cuestion 10 1 26433099440
Btatus . Answerad
Cheosen Option © 3
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0.52 |dentify the state of sand, If the number of blow In the SPT test is mors than 50.
Anz X 1, Densa

X 2 Looss
2 3. Medium dense

W 4. Very densas

Question 1D : 26433006646
Status - Answarad
Chosen Option @ 3

0.53 The impact value of aggregate is calculated for understanding which one of the
following characteristic property of aggregate?

Ang 1 Resistnces o sudden dynamic inad
X 2. Abrasion
X 3. Porosity
7 4. Spesific Gravity

Cuestion 1D © 26433096833
Status © Answerad
GChosen Option ; 4

€.54 According to IS 300:2007, the nominal bearing strength of the bolt V., is given by

Where f, = Ultimate tensile stress of the plate
dy= nominal diameter of bolt
t = thicknoss of connected platas

AE o1 Vn=2.5 ks dt S,
X2 Viw=3lkdth
X3 Vap= 15k dtf,
X4 Ve =2knd t

Cuestion 10 : 26433093438
Status. Answered
Chosen Option : 2

0.55 Suppose magnetic declination is 180 degree East and the magnetic bearing is 60
degrea, find the true bearing of the line.

Ans 1 240 dagroe
2 2. B0 degree
25 3, 180 degree
K 4 120 degres

Question 10 © 264330100642
Status © Answerad
Chosen Oplion @ 2
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0.56 As per Indian Standard 15 456 : 2000, whare {_. Is the concrete comprassive strangth,
the tensile strength of concrete is calculated as:

Ans 107 r_rd(
X2 0.57Vix
* 3.0.87v 1k

740,45y Tk

Chestion 10 ; 26433088065
Status © Answeared
Chasgen Option @ 4

Q.57 The actual discharge of liquid through an orifice is determined by multiplying ideal
discharge by a factor called coefflcient of discharge. The coefflclent of discharge is

givenby .
- o , Theoretical discharge
 Actual discharge

) Actual discharge

x
Velocity

; Discharge
~ Velocity
Actual discharge
4
¥* Theoretical discharge

Question 10 : 26433091048
Etatus »© Answored
Chosen Option’: 3

.58 Cubical content of & building is:
Ans & 1. Length ® Bresdih « Heaght

75 2. Length * Heigh
7% 3. Length = Braadth
X 4. Breadth » Helght

Cluestion 10 - 26433091139
Status - Answered
Chosen Option : 3
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.59 For estimating the water abaorption of aggregate used for concreta, the prescribed
oven drying temperature (degree C) is:
Ans X 1.90-100

o 2.100 = 110
2 3. 120—130
> 4110120

Ouestion 10 @ 26433099785
Status ; Answered
Chosen Option @ 1

Q.60 Based on coarse aggregate's shaps, what shape is mestly recommended for good
bonding and high strength in concrota?

Ans g 1. Angulsr sgoregates
X 2. Flaky sogregates

7 3. Elangeted aggregates
2 4. Rounded aggregatas

Question 10 26433088060
Status | Answered
Chosen Option @ 2

Q.61 Which of the following options is INCORRECT?
AS 3 1 Lateral strain is generally less than longitudinal strain
X 2. Longitudinal strain acts along the longest dimension.

Longitudinal strain
Lateral strain

X 4. Lateral strain can be measured along transverse direction.

- = Poisson’s ratio

Question |0 . 26433088023
Stalus © Answered
Chosen Oplion : 2

0L.62 Wind pressure on a chimney is expected to act on:
Ans 1 projected ares
70 2. nel cross-sectional ar=a

75 3. lotal contact area

7% 4. total surface area

Cuastion 10 : 264330100965
Status ; Answered
Ghosen Option © 3
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0L63 A tintometoer is usad to determine which of the following water guality parameters?
Ans X 1. Speclfic conductivity

X 2 Taste
o 4. Colour

75 4 Turbidily

Question 1D ; 26433095062
Status © Answarad
Chosen Optlon @ 3

0.64 The total width of the road is 10 m and the camber is 2%. Find the height of the crown
of the road.

Ang X 1.0.01m
MEDOEm
¥ 3.0.02m
&4.01m

Guestion 10 - 26433081081
Status © Answerad
Chaosen Optlon © 3

CL65 What will be the excess of water at the soil surface (mm), if the total precipitation is
150 mm, infiltration in seil is § cm and direct evaporation is 10 mm?

Ans X 1.50
X 268
o 390
X 4. 100

Question 1D : 26433009757
Status @ Answered
Chosen Option © 2

Q.66 Total quantity method is a type of f,
Ang X 1. prelimimary astinate

o 2. defmiled estimate
75 3. approximate estimaie
75 4 revised estimate

Question |0 : 26433091132
Status : Answered
Chosen Optian @ 2
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CLEF Which of the given options are NOT listed as a type of sewear appurtenances?
Ang X 1. Lamp haoles

2 2 Calch basins
" 3. Suclion pumps

X 4 Manholes

Question 1D : 26433085350
Status - Answarad
Chosen Option : 1

0.68 Which of the following is NOT a major irfigation method according to WRCS?
Ans X 1. Surface

W 2 Meos
2 3. Sprinkler
X 4. Micro

Cuestion 1D ; 26433099755
Status | Answered
Chosen Option ; 2

—_—
€.69 Which of the following Is NOT classified under the category of carriageway markings?
Ans X 1. No-overtsking zone markings

o 2 Kerh marking for visibility
75 4. Pedestrian cinssings
2 4 Pavemenis adge |ine

Question |0 : 264330100976
Siatus | Answered
Chozen Option ¢ 2

Q.70 A 10 m (supported length) structural steel column is designed with its both ends
restrained against translation and rotation. The affsctive I,_a[l_-g:th iafthn column shall be:

Ans X 1 10m
o 2 B6m
X 3. 42m
X Aa20m

Question 1D ; 26433099797
Slatus . Answarad
Ghosen Option : 2

Q.71 The schedule of bars does not contain .
Ans X 1. the total length of each bar

o Z. thelabolr required for each bar
25 3 the ol welnht of each bar
X 4, the shape of bending

Cuestion 1D @ 26433091130
Status | Answerad
Chosen Option ! 4
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0.72 As per IS (383-1970), the percantage passing of fine aggrogates under a 2.36 mm S
sieve during the grading Zone 1 is

Ans X 1. 0-10%

X 2 95-100%

» 2 25-45%

4 60-95%

Cuestion 10 © 26433096511
Stalus : Answered
Chosen Option ; 1

0.73 Both granite and basalt belong to and are used as building stones.

Ans & 1. lonaous group
25 2. Metamarphic group
7 3. Marble group
5 4. Sadimentary group

Question |0 : 26433086650
Status : Answered
Chosen Option : 4

0.74 Canal bed level - (thickness of culvert + depth of culvert) = Level of the floor of

Ans X 1. agueduct
X 2. subway
o 3. syphion anusduct

X 4. super passage

Question 10 : 26433005860
Status : Answered
Chosen Option © 3

0.75 As per IS standard specifications for timber door, window and ventilator frames, the
symbolic designation of 12 DT 20 would indicate: 1 '

Ans 2 1. frame of venlilator with a width of 12 madules and helght of 20 modules
X 2 frame of defined shutter door with a width of 12 modulas-and helght of 20 modilas
" 3. feme of double shuttes door with @ width of 12 mogales and height of 20 modules

75 4. frame of window shutter door with & width of 12 moedules and height of 20 modules

Cuestion 10 © 26433098708
Status @ Mot Answered
Chosen Optlon : =
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C.76 Tha minimum number of parsons required for direct ranging Is 2. Similarly, the number
of persons reguired for indirect ranging is

Ans X 1.4
Xz
R
W a3

Cuestion 10 @ 264330100636
Etatus ; Answered
Chosen Option @ 2

Q.77 ldentify the correct statemsents.
l. Contour lines form shamp V-shaped curves across valley line, with the convex side of
the curve towsrds the higher ground.
il. Contour lines form U-shaped curves across valley line, with the convex side of the
curve towards the higher ground.
jii. Contour lines form U-zhaped curves across ridge line, with the concave side of the

curve towards the higher ground.
Iwv. Contour lines form sharp U-shaped curves across ridge line, with the convex side

of the curve towards the highoer ground.
Ang 1 iandii

75 2. iand iv
75 3. liand v
?{ 4, [l and (il

Question |0 ! 264330100659
Status @ Answered
Chisgen Option = 4

Q.78 In case of uniform slope, the contour lines:
Ans X 1. widsly space sach other

W 2. lend i patallel cach ofher
X 3. cross each other
7 4. space very close fo each other

Ouestion 10 : 26433009727
Blelus - Answered
Chosen Option - 1

.79 During the construction of a steal truzs roaf, which of the following statements are
correct?
(1) Steel truss transmits self-weight and roof loads vertically on the walls.
(il) Spacing between steel trusses are usually betwean 10 feot to 15 foet.
(iii} Steel trusses use reduced dead load of building making strocture unstable.

Ans X 1. (i}, (), &nd (i)
2 2. Onty {1y, Giih
& 3 Only {1, {if)
2 4 Gy (1), (A

Question |0 : 26433096884
Satis | Not Answered
Chosen Option @ =

h'l;tps:Hssl:'.l:llgﬁdm.cnmn’perIgE?.‘pubeZﬂTMchsmnm‘Asmsmam&PHTMLMnde!fﬂ?ﬂ?ﬂi?ﬂﬁ#ﬁﬂﬂiﬁﬁd&ﬁﬂﬂ?ﬁﬁ#ﬁ EEBTE2O24T5R51T5/BE04... 52/58



11123122, 12:44 PM hitps:i/ssc.digialm.com/perlg2 T /publ2207 touchstone/ AssessmentQPHTMLMode 1/2207022254/2207022254 56027564/ 16687 ..

.80 A eantllever beam subjected to poaint load of 10 units at its free end s having
maximum deflection of 1250/{3El) units. Find the slope at its free end.

Anz o | 1Z50El unlis
25 2. 12.5/(El) units
5 3. G2.5/(El) uniis
< 4. 2501El) units

Question 10 : 264330100965
Etalus ; Mot Answered
Chosen Option @ ==

Q.81 Centre Line method Is used for preparing
Ang o 1 bullding ssilinates

75 2. bridges estimate
7 3. road estimate

75 4. |rigation works estimats

Question |0 : 26433099331
Status @ Answerad

GChosen Option © 1

Q.82 Fly-ash is a by-product of:
Ang X 1, lime

X 2. gypsum
75 3. plg lren
o* 4. coB|

Question 1D ;. 26433088087
Etatus . Answered
Chosen Option © 4

— —
Q.83 The unit of measurement for damp prquf course (DPC) Iu i
Ans X | mele
25 2 kilogram
" 3, square metre

X 4. eubic metra

Question 1D ; 26433099314
Slatus ;. Answarad
Ghosen Option : 4
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.84 For petty works such as minar repairs, annual repalrs, ete., which of the fellowing
sanctions isfare required?

Ans X 1. Technicsl sanction onfy
oF 2. Adimimsirative sanction onfy
75 3, Nalthes adminlstrative sanction nar technlcal sanetion

7% 4. Both administrative sanction and technical sanction

Question 10 @ 26433099310
Status ; Answered
Chosen Option: 3

.85 Sound level due to a nolse pollution Is NOT measurad in terms of.
Ans X 1. Micro-Pascal

7 2. bals
7 3. decibels

& 4. meterseoond

Question 10 - 26433085818
Status @ Answerad
GChosen Option ; 4

0.B6 Compressive strength development due to cement and its fineness are in which
refation with each other?

Ang X 1. Parlially connected
7 2 Inversely propariional
o 3. Oirectly proportanal

2 4. Insignificant

Cestion 10 : 26433088052
Status @ Answerad
Chosen Option © 2

Q.87 A contour of constant rainfall iz known as
Ans X 1. jsoplath

7 2 izochrone
75 3. isopluvial

" A isolnys

Cuestion |0 : 28433095850
Status - Answered
Chosen Optian © 4
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.88 In a direct shear test, the soll load is subjected to more stross at the
Anz X 1, centro

o 2. mdges
7 3. bottom
< 4 1op

Question 10 ; 26433096828
Status - Answerad
Chosen Option @ 3

Q.89 For prevention of creep In a rallway track, which of the following methods can be
adopted?
l. Using creep indicator
it. Using anchors below the rails
fil. Use of steel sleepers
w. Avold fast movement of trains

Ane X 1. Baoth land v
X 2. Only i, if and il
w2, Boih i and i

75 4. Both liand v

Cuestion |0 ; 26433086543
Etatus | Answerad
Chosen Option : 4

.90 The flow in which the depth changes in the flow direction slowly ﬁihugh that the
plezometric haad can be assumed constant on every tross saction Is called as:

Ans X 1, hwydraulle Jump
o 2. aradually varad flow
2 3. unifomm fiow

75 4. turbulent fiow

Question |0 : 26433099744
Status - Answerad
Chosen Option - 4

.91 The following statements given pertain to theodolite used in surveying. ldentify the
incorrect statemeant

Ans X 1. The axs of the plale bubbie should be ina plans perpendicutar to the vertical axis
& 2 The vertical cross halr should be perpendlcular o the horizontal axs (Hiting axis),
o 3. Tho line of sight should be paraliel 1o the horzonta) axis

7 4. Tne honzonta! axis should be perpendicular to the veriical axis (standards
adjustment).

Question D © 26433099731
Status © Answered
Ghosen Option ; 3
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.92 The centre to centre distance between individual fasteners In a line, In the direction of
load is called

Ans X 1. Gauges distance
7 2. Edge distance
7 3 End distance
o 4. Piteh

Question 10 @ 26433099437
Status ; Answered
Chosen Option @ 2

Q.83 As per IS BOD:2007, if a member carrying compressive loads resulting from dead loads
and imposed loads, then what will be its permissible maximum slenderness ratio
limit?

Anz X 1.250
> 2 300
o 3. 180
> 4 350

Question 1D : 264330100828
Status ; Answered
Chosen Option @ 1

0.94 For columns of unsupported langth L with one end restrained in translation and
rotation and the other end restrained in rotation bul free to translate, the effective

length will be .
Ans & 1.12L

M 20aL
23 065L
Xail

‘Cuestion 1D 264330100840
Status . Answarad
Chosen Option-: 2

_ == = —_— e m =
Q.85 As per IS 456-2000, the parmissible limits for inorganic solids in the design mix is

Ang X 1400 mgh
o 2. 3000 mg
2 3. 2000 mgh
X 4200 mah

Cuastion 10 | 26433096517
Status ; Answered
Chosan Option ; 4
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0.9 Find the head loss due to friction In a pipe of diamoter 200 mm and langth 50 m,
through which water is flowing at a velocity of 1.5 m/z using the Darcy-Weisbach
equation. Take the Darcy-Weisbach friction factor = 0.018.

Ans X 1, 0.566m
X 20616 m
7€ 30590 m
w4 0516 m

Question 1D ; 26433088714
Etatus | Not Answered

hitps:isso.digialm.com/perg2Tipubl 2207 touchstone/AssessmentQPHTMLMode 1/2207 022254/ 2207022254 560 27 564/166ET ..

Chosen Option ; =
Q.97 The rock reinforcement systems are used:
Ans X 1. in making of coferdams
X 2. for constructing bridges on long rivers
7 3. while sasting foundations for high Ase bulidings
& 4. (o add additional stabilly o mck funneds In which siructural defects exist In the rock

Question 10 264330100970
Status | Answered
Chosen Option @ 4

.88 Which of the following ingredients is found in high cantent in rapid hardening cement
which results In shortaning the final setting time?

Ane 1 Lime
2 2 Alumina
7 2. Suiphales

25 4. Silica

Question |0 ; 26433088053
Elatus 1+ Answarad
Chosan Option ; 3

0.99 Precipitation in the form of irregular pellets or lumps of ice of size more than & mm is
known as .

Ans o 1. hall
X 2 stest
» 3. glaze
X 4. fog

Cuestion 1D : 26433095853
Btatus : Answared
Chasen Option ; 2
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Q.100 The rate of an item at the store godowns from public market at a given tima is called
the

Ans X 1. cumment rate

7 2. item rale
75 3. storage rate

o 4. markat rate

Oueztion |0 @ 26433091136
Etatus ; Answered
Chosen Option @ 1
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Junior Engineer Civil Mechanical Electrical and Quantity Surveying and
Contracts Examination 2022

IRoll Number
{Candidate Name |

Venue Name

Exam Date 116/11/2022

[Exam Time 9:00 AM - 11:00 AM

Subject Wunior Engineer 2022 Civil
clion : General Intelllgence and Reasoning

Q.1 Which of the given letter-clusters will replace the question mark (7} In the following
series?
UDPJ, YGSL, CJVN, 7, KPBR

Ans o 1. GMYP
¥ 2. GMzZP
X 3. GNYP
X 4. GNZP

Question 10 ; 26433056140
Elatus 1 Answarad
Chosen Optian : 3

Q.2 Inacertain code language, IMPORT is written as ‘KOOPPR' and "EXPORT is written
as ‘GZOPPR' . How will "CREDIT" be written In that language?

Ans X 1.ETGEBGR
& 2 ETDEGH
X 3. ETDEKV
X 4. ETEDGR

Question 10 : 26433056660
Stalus : Answered
Chosen Option ; 2

.3 Select the option that is related to the third term In the same way as the second term is
refated to the first term and the sixth term is related to the fifth term.
56:616: 45, 7:70;1284
Ans o 1. 405
N2
X 3410

Ka

Cuestion 1D 26433067521
Status © Answarad
Chosen Option : 3
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4 A parson starts from point G and moves 10 km East. He turns left and moves 5 km,
turma left again moves 5 km, then turns right and moves 3 km and takes a final left turm

and moves 5 km to reach a polnt F. How much and in which direction does he need to
move now to reach point G7

Ang 2 1.8 om Morh
> 2B lom Waest
o* 3. 8 km South
75 4. 10 kn \West

Question 1D - 26433068165
Etatus : Answered
Chosen Option © 3

0.5 Which of the following numbers will replace the guestion mark (?) in the given series?
4,12, 24, 7, 144, 432

Ans X 1.56
/™ 2.48
7 3.84
o 4. T2

Question 10 26433068100
Status @ Answerad
Chosen Option © 4

Q.6 Six people, A, B, C, D, E, and F are seated in a row facing north. Only two people sit to
the right of C. Only two people sit between B and C. F sits fourth to the right of B.E is
an immediata nelghbour of & and B. What is the position of D7

Ans X 1. Third to the right af E
o 2. Third to thia plghl of A
2 3. Third to the left of A
75 4. Third to the leflaf E

Question |0 : 26433068371
Status : Answered
Chosen Option ; 3

Q.7 Which letter-cluster will replace the guestion mark (7) to complete the given series?
UDPC, TBMY, 7, RXGQ, QVDW

Ans X 1. RAKU
X 2 RY.s
o 3 871U
X 4 uvim

Cuestion 10 - 26433068044
Etatus - Mot Answered
Chosen Option : -
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Q.8 Select the option that is embedded in the given figure (rotation is NOT allowed).

Ans L/

<[ ]
&
R0

Cuestion |0 : 26433058099
Status ; Mot Answered
Chosan Oplion | =

Q.28 5 T U V,W XandY are seven students In a class who scored different marks In an
axam. X scored less marks than only V and Y. U scored the lowest marks. W scored

legs marks than $ but more than T. V scored the highest marks. What would be W's
rank if the student scoring the highest marks was given rank 1 and the student scoring

the lowest marks was glven rank 77
Ans 10
Xz
Xaa
4.4

Cuestion 10 . 26433068759

Status - Mot Answered

Chosen Option © -
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Q.10 Arranges the following words In a logical and meaningful erder.

1) Eyes
2) Nose
3) Lips
4) Shoulder
5) Thigh
Afis o 1.1,2,34,5
248,458
¥ 31,8348
X 41,3425

Cuastion 1D : 26433085611
Status ; Answered
Chosen Option : 1

.11 Arrange the following medical speclalists In a loglcal and meaningful order,
1.Cardiologist
2.Dentist
3.Gastroenterologist

4.Gynascologist
5.0phthalmolegist

Ans 7 52034
X 234521
75325183
X 8.41523

Question |0 ; 26433067970
Status ;| Not Answered
Chosen Option ; =

Q.12 Salect the word-pair in which the tweo words are related in the same way as are the two
words in the given pair.
(The words must be considered as meaningful English words and must not be related
to each other based on the number of letters/number of consonants/voweals in the
word)
Obstruct : Prevent

Ans X 1. Redesm : Lose
2 2. Pamper : lgnore
o 3. Savage : Turbulsni

X 4 Obstinate | Flexitila

Question |0 ; 26433068479
Status . Answered
Chosen Option : 3
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.13 Which of the fallowing numbers will replacs the question mark (7) and complete the
given number series?
10,12, 14, 19, 24, 28, 7

Ans 1,30
;28
> 3135
]

Question 1D ; 26433067468
Etatus | Not Answered
Chosen Option ; =

Q.14 Arrange the following words In a loglcal and meaningful order.
1. Ant
2. Rabbit
3. Snall
4. Elephant
5. Deer

Ans X 1.1,5 43,24
o 24,5235
K A1,83524
X 4.4,223,51

Question 1D : 26433081456
Status © Answerad
Chosen Option | 2

.15 Two staterments are given, followed by two :nﬂuli.mlﬂna numbered | and |1, Assuming
the statements to be true, even if they seem to be at variance with commonly known

facts, decide which of the conclusions loglcally follew(s) from the statements.
Statements:

All colours are paints.
Some colours are pencils,
Conelusions:

L. Some paints are colours.
Il. Some paints are pencils.

Ans X 1. Nelther conclusion | ner Il follows
o 2. Bolh concllisions |and || follou
#5 3. Only concluslan || follows

X 4 Oniy conclusion | foliows

Question 1D 26433056702
Status : Mot Answered
Chosen Option © =
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.16 Select the option that represents the letters that, whon placed from loft to right In the
blanks below will complete the letter series,
A_FJL_SU_BD_K

Ans X1 COXH
X 2 COvYF
" 2. COXG
X 4. DOXG

Question 1D ; 26433066011
Etatus | Not Answered
Chosen Option ; =

Q.17 Select the word-palr that best represents a simllar relationship to the one expressed In

the pair of words given below.
(The words must be considered as meaningful English words and must not be related
to each other based on the number of lettersinumber of consonantsivowels In the

word)
Launch : Initiate

Ans " 1. Weep: Sob
75 2. Narrow : Broad
7% 3. Constant : Variable

7 4. Sharp : Blunt

Question 1D 1 26433091427
Status | Answered
Chosen Option | 2
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.18 Select the option figure which is embedded in the given figure as its part (rotation
is NOT allowed).

/\

Ans

>
3

75 4

Quastion |0 26433065286

Status | Answerad

Chosen Option © 1

.19 Select the number from among the given options that can replace the gquestion mark
(7} in the following series.
98, 71, 107, 104, 116, 137, 125, 7

Ans 1 16EE
7 2180
& 3170
75 4, 165

Cuestion 10 . 26433057030

Status: Mot Answered

Chosen Option © -
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.20 Select the option that is related Lo the third term In the same way as the second term is
related to the first term and the sixth term is related to the fifth term.
T3 13: 7017363

Ans X 1,235
X 2223
o 3.297
> 4 230

Question 1D ; 26433057579
Etatus : Not Answered
Chosen Option ; =

Q.21 Select the set In which the numbers are related in the same way as are the numbers of
the given sets,

(NOTE : Operations should be performed on the whole numbers, without breaking
down the numbers Into lis constituent digils. E.g. 12 — Operations on 13 such as
adding /subtracting /multiplying etc. to 13 can be performed. Breaking down 13 into 1
and 3 and then performing mathematical operations on 1 and 3 is not allowed.)

(3, 17, 26)

(4, 11, 27)

Ang o 1. (6.9,45)
X2 (7,14.51)
b o T M
X 4. (5, 15,20)

Question 10 ! 26433057083
Status @ Answerad
Chigen Option = 1

Q.22 Sclect the option Ggvee that will seplace the question mark {7 o the figwe wrven below to compleie the pattern.

77

Ans

x
>

b
)
>

:
X

3
>

Question 10 @ 26433068135
Slalus . Not Answered
Chosen Option . =
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Q.23 A paper is folded and cut as shown. How will it appear when unfolded?

- Po==p==-

1]1iM

Ans N .ﬁ ﬁ.
3 &
[0 G
3, &,
[t
3.0,

o 11F F
o &

Question 1D © 26433068496
Status ; Mot Answered
Chosen Option ; -

0.24 Solect the optlon that represents the correct order of the given words as they would

appear in an English dictionary.

1. Confluence

2. Consclance

3. Concantric

4, Confidant

5, Confection

6. Congruent

7. Concerted

Ans X 1.3,7.51,4,82
X 2.3,7.1.5.4,6,2
X 3.3,7,1.4,5,8,2

o4 AT 54 7,862

Question 10 : 26433068927
Stetus ; Answerad
Ghosen Option © 1
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0.25 Select the comect combination of mathamatical signs that can sequentially raplace the
# signs and balance the given eguation,

TI#BE218341TH#482
M‘ K1_i+ld-lxl=l+
fz_-?l-'l_l‘.l_
x T+ x =

K+ %=+

Question 1D ; 26433067480
Etatus | Not Answered
Chosen Option ; =

Q.26 In a cerlain code [anguage, ‘TMOUNTAIN' Is written as ‘MUOTNIAN" and "SQUIRREL" is
written as 'SUQRIERL'. How will "VICTORIA' be written in that language?

Ans X 1. [VTCROAI
X 2, INCTROIA
W 3. VCIOTIRA
7 4 NROTCIV

Question 1D : 26433056581
Status ; Answered
Chosen Option @ 3

0L.27 Mahit drives 10 km towards east from polnt A. He takes a right turn and drives 5 km.
Again he takes a right turm and drives 5 km. Finally, he takes a right tum and drives 5
km to reach paint B, How far and towards which direction should he now drive in order
to reach point A again®

Ans X 1.3 kn) lowards east
X2 4 lom towasirds north
o 3. 5 hm thwards west

75 4.2 km lewards south

Question |0 : 26433068275
Status - Answered
Chosen Option : 3

CL28 In a code language, 'LIVER is coded as 24-18-44-10-36 and "BRAIN' is coded as 4-36-2-
18-28. How will "THIGH' be coded in the same language?

Ans ¥ 1. 40-18-18-14-18
75 2 36-18-18-14-16
X 3 36-16-18-15-14
o 4. 40-16-18-14-18

Cuestion 10 - 26433057899
Etatus - Mot Answered
Chosen Option : -
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Q.29 Three different positionsof the same dice are shown (Figures 1-3). Find the number
on the face opposite to the face having *4".

5 3 1
[ 3 & 2 3 ?
| | |
P 1 Tiguee ¥ Frguite 3
Ans X 1.5
2o
X 36
P

Question 10 : 26433076572
Status : Mot Answered
Chosan Option @ =

.30 In this question, three statements are glven, followed by three conclusions numbered
I, Il and lll. Assuming the siatements to be true, even if they seem lo ba at variance
with commonly known facts, decide which of the conclusion(s) logically follow(s) from
the statements.

Statements:

Some grapes are apples.

All apples are coconuts.

All bananas are grapes,
Conclusions:

I, All bananas are apples.

Il. Some bananas are coconuts.
Ill. Some arapes are coconiits.

Ans X 1. Only conclusions |l and 1] follow.
7 2. Onty conclusion | fofiows:
& 3. Only conciusean 1 follows:

2 4. Only conclusions | and |1 follow.

Ciuestion 10 : 26433057845
Status - Nol Answered
Chosen Oplion © =
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S Select the correct mirror image of the given figure when the mirror is placed at
'AB' as shown.
A
‘-jjj‘_h |
P |
B
Ans
N
v M
N
‘\\I
=4
X 2
NS
S
X3 \
NL
7
X 4. \
L
Cwestion 1D ; 26433057803
Status | Answered
Chosen Option : 1

Q.32 select the option that is embedded in the given figure (rotation is NOT allowed).

Ans i A
xzf?
B 2
x+ 7

Cuestion 10 © 26433058106
Status : Answerad
Chosen Option © 2
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.33 Sealect the word-palr in which the twe words are related in the same way as are the two
words in the given pair.
[The words must be considered as meaningful English words and must not be related
to each other based on the number of lattersinumber of consonantsivowels in the
word)
Conceit : Arrogance

Ans X 1. Despsir: Hope
o 2. Dense [ Opague
75 3. Feabls : Strong

75 4. Fabricate : Dastroy

Cuastion 1D © 26433068482
Status ; Answered
Chosen Option : 3

0.34 Select the cormect combination of mathematical signs to sequentially replace the ™
signs and to balance the given equation.
6991 3%g

Ans X L= -=%
2=
o R
K=

Question 1D 26433057954
Status | Not Answered
Chosen Option | —

Q.35 Which of the following letter-clusters will replace the question mark: {?}h‘l the glven
series?
Yua, 50C, MIE, GEG, 7

Ang o1 AAl
X 2 ZAH
X 3.Z8
X 4.5

Ouestion 10 : 26433057192
Stalus - Not Answered
Chosen Option @ —

CL3E 10 A dhemsdton *+°. I denicnion *+°, € dlomobes =", amd Iy camotes *+*, tuen what will s tie valoe of t fullowing axpression”
Il B LI A WOD $C 6= "

Ans X 1,165
X 2 154
> 3. 124
W4 17

Cuestion 10 : 26433085378
Btatus - Answerad
GChosen Option ; 4
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0.37 Salect the option that s related to the third word In the same way as the second waord
is related to the first word, (The words must be considered as meaningful English
words and must not be related to each other based on the number of letters/number of
consonants/vowals in the word)

Pakistan : Islamabad : : Australia: 7

Anz X 1. Brishans
o 7. Ganberma
2 3. Melboume
* 4, Perih

Question 1D : 286433065630
Status | Answered
Chosen Option @ 3

Q.38 Select the option that Is related to the third term in the same way as the second term is
related to the first term and the slxth term Is related to the fifth lerm.
120 :126::45: 7 ::90:95
Ans X 1.6E
o 2. 508
7 3.64
> 4 B0

CQuestion |0 : 26433082716
Etatus - Answered
Chosen Option @ 2

Q.39 Select the option that is embedded in the given fignre (rotation is NOT allowed),

Ans

AR

Cuestion 1D | 26433058105
Status . Answerad
Choson Option = 4
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Ans

Q.40 select the option in which the given figure is embedded. (Rotation is NOT allowed)

Question 10 26433068132

Status | Not Answered

Chosen Option ; =

Ans

0.41 Select the set In which the numbers are refated In the same way as are the numbars of

the following set.

(NOTE: Operations should be performed on the whole numbers, without breaking
down the numbers into lis constituenl diglls. E.g. 13 - Operations on 13 such as
adding /subtracting /multiplying etc. to 12 can be performed. Breaking down 13 into 1
and 3 and then performing inathematical operations on 1 and 3 is NOT allowed)

(TE4, 657, 530)

(819, 692, 565)

«F 1. (658, 531, 404
5 2. (509, 392, 284}
75 3. (691, 584, 45T)
X 4. (725, 602, 512

Question 1D : 26433067934

Status : Mot Answered

Chasen Option @ -
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.42 Salect the optlon that s related to the fifth tarm in tha same way as the sacond term is
related to the first term and the fourth term is related to the third term,
HARDEN : EDMNAHR :: SMOKED: EKDMS0 :: MASTER : 7

Ans 251 RTAMES
o 2, ETRAMS
7 3. TRAMES
75 4 SRTAMR

Question 1D ; 26433055929
Etatus | Answerad
Chosen Option : 2

Q.43 A# B means ‘A is the mother of B'.
A @ B means "A is the son of B',
A & B means ‘A Is the brother of B',
A% B means 'A Is the father of B'.
FWEQ#TE&Y @M% K, then how iz T refated to K7

Ans X 1. Mother
W' 2. Brother
25 3. Sistor
> 4. Fathar

CQuestion |0 : 26433079498
Etatus . Answered
Chosen Option @ 2

.44 Which of the given letter-clusters will replace the guestion mark {?) In the following

sorles¥
EGAL, GKCX, IDEA, 7, MWIG

Ang o 1 KSCD
& 2 KTED
* 3. KTHD

X 4 KSHD

Question |0 ; 26433056133
_ Status ; Answered
Ghosan Oplion ; 2

https:isse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207022254/2 20702228457 D 2563816687 ..

.45 Seven people, A, B, C, D, E, F and G, are sitting in a straight row, facing the north. Only
two people sit lo the laft of C. Only two paople sit betwean A and B. B sits to the left of
A, E is an immediate neighbour of A to the right. Only one person sits to the right of D.
F is not an inmedlate neighbour of B, How many people sit between D and €7

Ans 1.1
WIR
X 30
x4

Question 10 : 264330565831
Btalus : Answerad
Chosen Option ; 2
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046

Ans

In a certaln code languags, '"REFORM" iz written as 'SDGNEL' and ‘SECTOR' Is written
as ‘TDDSPE. How will ‘SHOULD' be written in that language?

X 1. TGOTMC
X 2 TIFTMG

2 3. TGPVYMC
o 4 TGPETMC

Cuestion 10 : 26433056914
Etatus . Answered
Chosen Option @ 2

Q47

Ans

Select the optlon that indicates the correct arrangement of the given words in the
ordar they appear in an English dictionary.

1. Predominate

2. Predilzction

3. Predispose

4. Premaonition

5. Preface

6. Preaminent

o 1.2,3,1.%.54
N 238,21.645
X 3.2,3,6.1.5. 4
X 4.3.2,6.1.54

Question 10 26433068260
Status - Answered
Chaosen Option : 2

Ans

.48 'A + B means A is the brother of B,

A — B' means A is the mother of B'.

‘A = B' means "A ls tha husband of B'.

‘A + B' means A is the sister of B,

FC=xM+5—-K+T-Q, then which of the following statements is NOT correct?

2 1. M is T's mother's sister

o 2. 515 O's mother's father

7% 3 C s K's mother's sister's husband
X 4. K is O's mother's brothar

Question |0 26433056023
Stalus | Not Answered
Chosen Option @ —
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Q4% How many triangles are there in the given figure?

Ans X 1.10
o 2.8
X450
X a7

Quastion 10 26433058059
Status | Answered
Cheosen Option : 4

Q.50 Which of the following interchanges of signs would make the given equation comect?
426 -108+ 12 =16+ 13 =625

Ans X 1. =and-

M2 =—and+

7 3. +and+

W 4. = and =

Question |0 : 26433057934
Status @ Mot Answersd
Chosan Oplian ; =

;_;!_!I_-'_:L.l 1 l::unl,nl'al ﬂ.ll-‘,_\{:_llll::a"j

Q.1 In which year was the famous shehnal player Ustad Bismillah Khan awarded the
Bharat Ratna? |

Ans o 1 2001
X 2 1896
7 3. 1008
7 4. 2005

Question ID : 264233054409
Zlatus @ Mot Answered
Chesen Option & =
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0.2 A Govermnor generally holds office for a peried of _______ years.
Ans X 1.3

2.5

X aE

X ad

Question 1D : 26433089972
Status - Answerad
Chosen Optlon © 2

0.3 Who among the following was swarded the Sangest Natak Academy Award in 1966
and was also founder of the Nartanalaya dance school in 19727

Aneg X 1. Aribam Syam Shamma
o 2. Guru Blpin Slngh
7 3. Guru Pena Mangi

75 4. Nongmaithem Chitaranjan Singh

Cluestion 1D . 26433072887
Status @ Not Answered
GChosen Optlan © -

.4 Who was the Chairperson of the Nationzl Planning Committes in 19387
Ans X 1. Sardar Vallabhbhai Patal

< 2. Mahatma Gandhi
X 3. Muotiial Mahiu

o* 4. Jawaeharts] Nehrni

Question 1D : 26433083153
Status: Mot Answered
Chosen Qption § =

0.5 According of Census 2011, whal was the percentage of the total migrants from Nepal?
Ans o 1. 17.1%

> 2 0.3%
3 151%
>4 0.1%

Ques_tian 10 . 26423067170
Etatus - Not Answered
Chosen Option @ -
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0.6 Who can suspend the right to move to any court for the enforcemant of Fundamantal
Rights during national emergency in India?

Ans X 1. Minisisr of Home Affairs
75 2. Chist Justice of India
75 3. Prirme Minjster

o 4. Prasidant of Indiiz

Questian 10 : 26433064707
Etatus ; Mot Answered
Chosen Option @ ==

Q.7 What i= the percentags of the population In the age group 15-84 In Bangladesh for the
year 2020 as per the Warld Bank data?

Ans X 1.78%
X 2.58%
o 3. 68%
> 4 B9%

Question 1D : 264330100063
Status | Answered
Chosen Option @ 4

LB Who launched the Dmbudsperson App for Mahatina Gandhi NREGA on 24 February
2022, which s expected to be helpful In ensuring transparency and accountablilty?

Ane X 1. Shrl Faggan Singh Kulasts
25 2. Shri Magendra Nath Sinha
" 2. Bhrl Girirasj Singh

25 4. Sachvi Niranjan Jyotl

Question |0 ; 26433081819
Elatus - Mot Answered
Chosen Option ; -

Q.9 The Bokaro Steel Plant is located in:
Ans X 1. West Bengal

7 2. Tamll Nadu
75 3. Rajasthan

& 4, Jnarkhand

Cuestion 10 ; 264330100716
Stetus | Answered
Chosen Option ! 4
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.10 The Speaker of Lok Sabha, Om Birla, Inaugurated the on the occaslon
of 2021 World Tourism Day.

Ans X 1. Swadesh Darshan schema
75 2. SAATHI 2.0 scheme
£ 3 PRASHAD schems

o 4. MIEHE 2.0 scheme

Queztion 10 : 26433081802
Etatus ; Mot Answered
Chosen Option @ ==

Q1 Match the columns.

Column-A Column-B
i, Cell wall of cellulose a. Fungal cell
ii. Desmosomes b. Bacteria
iil. Cell wall of peptidoglycan | c. Animal cells
iv. Cell wall of chitin d. Plant cell

Ans X 1 0-bll-g lil-d v-2
N2 -d =g fil-a Wb
of 2l-d, g fii-b, V-5
XA =g l-d, M-t v-&

Question 10 : 26433053989
Status @ Mot Answered
Ghosen Oplion : =

Q.12 As per the Government of NCT of Delhl {Amendment) Act, 2021 which came into effect

from 27 April 2021, the expression 'Delhl Government' referrad to any law to be made
by the UT's Legisfative Assembly shall mean the

Ans X 1. Prima Minister of India
o 2. Lisutenant Govemor
75 3. Chisf Minister of Delhi
75 4 President of India

Cuestion |0 - 28433086876
Status : Not Answered
Chosen Option @ -
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.13 As per the Census data, What was the density of population In India in 20117
Ans X 1. 328 personsisq km

X 2 B22 parsansisq km
75 3. 782 persons/sg km

o' 4. 382 pereonsisn m

Question 1D : 264330100064
Status : Mot Answered
Chosen Option : =

0.14 Who among the following was appointed as a full-time member of SEBI in March 20227
Ans X 1. M Rajeshwar Rao

25 2. B V Ravl Anshuman
" 3 Ashwani Shatiz

X 4. Ajay Seth

Question 1D ; 26433081823
Stalus | Answerad
Chaosen Option ; 2

Q.15 Which river basin extonds from longitude 77° to 81° cast and latitude 23°8" to 26°0°
north and originates in Bhopal district of Madhya Pradesh at an altitude of 470 m?

Ans X 1. Ravi River
2 2. Chenab River

o 3. Betws Rivar

75 4. Kaveri River

Question 10 : 26433055835
Etatus - Answered
Chosaen Option © 4

—- — _—
Q.16 Arubathu Moovar festival Is annually celebrated in the Indian state of
Ans X 1 Manipur

7 Z Hirmachal Pradesh

X 3. Gujarat
o 4. Tamill Nad

Question 1D ; 26433064332
Etatus ; Answared
Ghosen Option © 3

Q.17 Himalaya is important for the climate of North India because:
Ans X 1. itallows the winds from the Bay of Bengal to escape from India

o 2. 1 prevents the southwest monsoon winds from ascaping fram Indla
25 2 | allaws the southwest mansoan winds to escape fram [ndla

2 4 it helps the wastern disturbances o escape from Arabic sea

Cuestion 1D @ 26433082216
Status | Answerad
Chosen Option ! 1
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.18 Which is the first private traln flagged off in India?
Ans o 1 Lucknpow-Mew Dalk| Tajas Expross

X 2 Delh-Mumbai Tejas Express
25 3. Lucknow-Mumbai Tejas Express
7% 4. Ahmadatad-Mumbal Telas Exprass

Question 1D : 26433081902
Status : Mot Answered
Chosen Option : =

Q.19 in cell membranes provide structural support, form channels for passage of
materials, act as receplor sites and a carrier molecule.

Ans X 1. Phaspholipids
7 2. Glycalipids
&F 5. Proteins

7 4. Vitamins

Cwestion 1D © 26433064273
Status @ Answerad
GChosen Option © 4

0.20 A vessel is exposed to moist air for a long time. it acquires a dull, green coating. What
is the vassel made up of?

Ans X 1. Phosphorus
W 2. Copper
M 3. Imn
X 4. Gold

Question 10 264320100735
Status : Mot Answered
Chaosen Option - =

Q.21 The temperature corresponding to Standard Temperature and Fmﬁuhl{STP} in degrea
centigrade is

—

Ans X 1,-273
20
25 3,100
X 4.zva

Cuestion 1D : 264330100708
Btatus © Answared
Chasen Option ; 4
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.22 With wham did Carl Friedrich Gauss invent the world's firat slectromagnetic talegraph
in 18337

Anz o 1. Wilhaim Eduard YWabar
75 7. Bernhard Riemann
7 3. Pleme-Emest Welss
7% 4. Johanna Osthoff

Question 10 @ 26433064047
Status ; Mot Answered
Chosen Option @ ==

.23 The atomic number of tungsten |s;
Ans X 1.73

2T
X 372
X 4.7

Duestion 10 . 26433064411
Status @ Answerad
Chosen Option : 4

.24 Whao wrote the book "Poverty and Un-British Rule in India'?
Ans X 1, Jawaharisl Mahru

< 2. Raja Ram Mahan Foy
75 3. Rablndranath Tagors

" 4. Cacabhal Maonaj

Question 10 : 26433089259
Status ;. Answered
Chosen Option @ 2

e — _— e ——
Q.25 Identify the place where firsi rural sesslon of India National was held?
Ans X 1 Balzapur

25 2 Faradpur
X 3. Tezpur
o 4. Falzpur

Question 1D ; 26433085270
Slatus @ Answared
Cheosen Option © 3
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.26 Whiileh of the following ks NOT a component of the non-plan revenue expenditure of the
government?

Ans X 1. Salaries and pensions
7 7. Interes! payments
7 3. Defence services

o 4. Invesimen! in.share

Question 10 : 26433065413
Etalus ; Mot Answered
Chosen Option @ ==

.27 A speclalised population of macrophages that are found in the central nervous system
are called -

Ans X 1. Kupfier cells
X 2. sarcolemma
X 4. germline cells

& 4. microglial cells

Question 10 26433054823
Status | Mot Answered
Chosan Option ! -

Q.28 Chenab, the largest tributary of the Indus, is formed by which of the following two
streams?

Ane X | Mandakinl and Prabha
7 2 The Bhaga and the Mandskin]
" 2. The Chandrs and the Bhaga

& 4. The Chandrs and the Prabha

Question 10 ; 26433059459
Zlatus - Mot Answered
Chosen Option ; -

©.29 Which of the following rulers has been identified with King Milinda and mentioned in
the famous Buddhist text Milinda Panha?

Ans o 1 Momande
X 2 Eucratides
2 3. Demetrius

7 4. Mexander

Cuestion 1D : 26433064600
Status © Not Answerad
Chasen Option ; =
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0.30 Which of the following statements is NOT corract about the construction of the 5,846
km-long, 4/6 lane Golden Quadrilateral route?

Ans X 1. It will connect Delhi-Mumbai-Chennai-Kolkata.

75 7. Tne time. distance &nd cost of movement among the mega cities of India will be
cansidarably minimised
75 A It 15 part of the Natlonal Highways Devaiopment Project,

o 4. [T will increase time,; distance anc cost of mMovement amang mega cifies:

Cuestion 10 : 26433075539
Status © Mot Answered
Chosan Oplian @ -

Q.31 Whao took charge as the Director of Vikram Sarabhal Space Centre In February 20227
Ans o 1 DOr 5 Unolkrlshnan Nale

X 2. Dr K. Stvan
X 3. 5. Somansth
& 8. M.C. Dathan

Question 1D ; 26433055049
Etatus - Mot Answered
Chosen Option ; =

Q.32 When does the Tamil Nadu coast receive the maximum of its rainfall?
Ans X 1. August-Beptember

o 2. October-Movember
& 3 June-July
X 4. January-Fabriary

Question |0 ; 264330100078
Stalus ' Answered
Chosen Option @ 2
— = = =

Q.33 In 2002, Companies {second amendmant) Act 2002 was passed, which provided for the
constitution of Mational Company Law Tribunal, which led to the ropeal of

Ans X 1.IRBI, 1975
o 2. SICA, 1885
7 3 IRGCI, 1984
X 4. SICA, 1975

Quastion 1D : 26433054789
Slalus ; Answered
Chosen Option: 3
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0.34 In which year ware the fundamantal duties entered In the Constitution?
Ans X 1, 190

XX 2 1050
X 3. 1085
o' 4. 1075

Question 10 ; 26433064815
Status : Mot Answered
Chosen Option © =

0.35 Mame a food processing method discovered in the 1860s in which a mild heat
traatment is applied to food to kill harmful bacterla (pathogens) and increase shelf life.

Ang X 1. Fermentation
75 2. Stearing
&F & Pasteurisation

7 4. Condensation

Duestion 10 - 26433092210
Status @ Mot Answered
Chosen Option © =

0.36 Which of the following personalities started the Young Bengal Movement in India?
Ans X 1. Emily Lulyens

2 2. William Builer Yaals
o 3. Henry Louts Vivian Deraiio

7 4 Charies W Leadboatar

Questlon 1D : 26433064619
Etatus - Answered
Chosen Option @ 3

Q.37 Which of the fallowing is Nitromethana?
AN x 1 CHINOS

> 2z CH3NH;

¥ 3. CH:MN:0s

« 4 CHiNO;

Question ID : 26433071433
Slatus | Answered
Chosen Oplion : 4
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.38 Who developed the polyphase alternating current system of generatars, motors and
transformers, licensed by Westinghouse Electric in 18887

Ans X 1. Thomas Alva Edison
o 2. Mikola Tesls
75 3. Benjamin Frankiin
7% 4. Michaal Faraday

Question 10 : 26433055750
Etatus ; Mot Answered
Chosen Option @ ==

.39 Under whose chalrmanship, In pursuance of the directions of the Supreme Court, was
the First National Judicial Pay Commission (FNJPC) sat up In March 19967

Ans X 1. Justice RC Patnatk
o' 2. Jusiioe ) Snetty
K 8. Justlce NP Singh
2 4, Justles MK Mukherjes

Question 1D : 26433054546
Status | Mot Answered

Chosen Option ! -
Q40 \atch the following:
Column 1 Column T
1 | Function of commercial banks o | lssuing notes
2 | Function of the central bank b | Accepting deposits.
3 | Bank Rate ¢ | Determined by the central bank

Ans X 1.1b 2= 3a
N 2 =g 2-p, 3
7 3. 1=, 2-b, Fg

o 4. 1-b, d-3, 3

Cuestion |0 . 264233082160
Stalus . Answered
Chosen Oplion : 3

Q.41 arises from the interchange of ligands between cationic and anionic entities of
different metal ions present in a complex

Ans X 1. Solvate somersm
75 2. Linkage isomarism
7% 3. |onisation isomerism

o 4, Coordination isomerism

Cuestion 10 26433055084
Slatus | Answered
Chosen Option © 2

https:lissc_diglalm.comiperfg2?/pub/2207 teuchstonelAszsessmentQPHTMLMode 112207022254/ 220702225487 D25638/1 6BETE26T 1TE61186/4426 . 28/57



11/23/22, 1248 PM

hitps:issc.digialm.com/perg2Tipubl 2207 touchstone/AssessmentQPHTMLMode 1/2207 022254/ 2207022 254 570 2563816687 ..

Ans

.42 From 1228 ts 1956, India won
consecutive matches in the game of hockey.

12
o 2.6, 24
73.6:16
M 4.6;18

consacutive Olymple gold medals while winning

Cuestion |0 : 26433055188
Status ; Answered
Chosen Option @ 2

Ans

Q.43 2028 Summoer Olymplcs will be hosted by which of the following citles?
o 1. Los Angeles

> 2. Brishans

> 3. Paris
75 4, Tokya

Cwestion 1D © 26433059391
Status @ Answerad
Chosen Option : 1

Q.44 What is a coarse-grained, dark-coloured, intrusive igneous rock that is widely used as
a concrete aggregate, road base material, and crushed stone for railroad ballast?

Ang X 1. Sandslone
" 2. Ganhbro

X 3. Conglomerate
2 4. Quartzite

Question 10 26433055823
Status @ Answarad
Chosen Option - 2

Ans

Q.45 Which of the following animals have more neck (cervical) vertebrae than many other
animals?

75 1. Giraffes

& 2. Mice

7% 3 Repliles

o« 4, Birdls

Cuestion 1D ; 26433064137
Status | Answerad
Chosen Option ! 1
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.46 Which team won the Pro Kabaddi League title on 25 February 20227
Ang X 1, Paina Pirates

X 2 UP Yoddha
W 3. Bebang Dsibi KO

7% 4. Gularat Glants

Question 1D ; 26433055051
Status - Answerad
Chesen Option : 3

Q.47 Which of the fellowing is NOT a result of the El Nino effect?
Ans «" 1, Soil eresion

#% 2 Reduction In the amount of planktan which further reduces the number of fish In the
5838

#5 3. Distortion of equatorial atmospheric clroulation
X 4. |megulariies in the evaporstion of sea water

Cuestion 10 26433086756
Statis | Answered
Chosen Option : 1

.48 Which of the following Is a trans-pceanic seafloor high that separates the Eurasia
Basin from the America Basin and extends for a distance of about 1800 km in the
Arctic Dcean? :

Ans X 1. Gakke! Ridge
75 2. Aden Ridges

& 3. Lomornosov Redga

75 4. Carlsberg Ridge

“Question 1D : 26433055171
Status - Not Answered
Chosen Option : -

Q.45 Which of the following dances traditionally starts in the avening after preliminaries
that include an invocatory drumming on the Maddalam and concludes only at
daybreak?

Ans X 1. Bharstnatyam
X 2 Kathak
& 3, Kathiakal
7 & Odissl

Question 1D ; 264330100734
Status ;| Mot Answered
Chosen Option | =
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.50 Propane is also known as:
Anz X 1, TAimethyl ethane

2 £ Tomethyl methane
75 3. Dimethyl ethans

W A, ity mesthane

Question 10 ; 26433066704
Status @ Answarad
Chosen Option ; 2

Saidior Parl A Ganoral Enginaarnag Civil & Struotural

Q@1 Match the following:
5.No | Important terms ina | S.No. | Definition
. turmout

A Lead of crossing 1 Distance from the tangent point (T)
to the heel of the switch (TL)
Distance from the tangent point (T)

B Switch lead

[E¥)

to the theoretical nose of crossing
(TNC)

C Curve lead 3 Distance between the gauge faces of
the stock rail and the tongue rail at
the heel of the switch

D Heel divergence 4 Distance between theoretical nose
of crossing {TNC) and heel of the
switeh (TL)

Ans X 1,43 B4, G, D2
X Z. A4, B-1,C-3/ D@
X 3.A-1,B4,C-2, D3

o 4. A4, B-1, -2, -3

Question 10 : 26433086549
Status : Mot Answered
Chasen Option © =

Q.2 During the coarse aggregates crushing test, what size of aggregate is conaidered for
testing purposes during segregation in |3 sieves?

Ans X 1. Passing 10.5 mm
o 2. Passing 12.5 mm and retatned on 10 mm
7% 3. Retalned on 12.5 mm
7 4, Retained on 4,75 mm

Question 1D : 26433088074
Status © Answered
Chosen Option : 4
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0.3 Stadia Interval factor is:
Ans X 1. ratio of stadia (nlerval to the focal lengih of the objectve
2. rafio of Tocal lengih of ihe objective o siedis interval
& 3. sum of focal length of the objective and distance between vertical axis of the
Ingtruerent and objective
& 4. ratle of multiplying sonstant to add/iive constant

Question 10 : 264330100676
Status | Answered
Chosen Option : 1

Q.4 The nominal size of a standard modular brick including mortar with an indentation on
ane face of the brick |= .

Ans X 1. (23 =115=75)cm
of Z.120=10= {0icm
2 (18 %G cm
& 8. (25 =125 xT7.5)em

Question 1D ; 26433096577
Eatus - Answared
Chosen Option : 2

0.5 The limit beyond which the soll sample continues to dry with no further volume
decrease until It reaches the dry state is calied s

Ans X 1. Consistenay limit
o 2 Shrinkage limit

3. Piastic limit

75 4. Liguid limit
“Ouestion 10 : 26433006893
Steus © Answeraed
Chosen Option - 1
= = = == = = = = —_— > = — = = =

Q.6 Which of the given options iz NOT a type of water distribution network?
Ans X |, Grid fron systam '

2 2. Ring system
& 3. Radial system

W 4. Pampendioular system

Question 1D : 26433005855
Stetus - Answered
GChosen Optlon : 4
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Q.7 I a cantilaver beam of langth L s subjectad to a coupls Mg at its free and, then:
Ans X 1.the BMD capnot be predicted using the given data

o 2. the beam has constant bending moment |Mg) throughout

2 3. ikhe BMD s represented by linearly increasing siralght ine from the free end
X 4 tha BMD is represantad by linsary Increasing stratght ling from the fived and

Question |0 : 26433088026
Satus @ Answered
Cho=en Option @ 3

Q.8 In stress block diagram for A rectangular sactlon of singly reinforced beaim IN LIMIT
STATE METHOD, tha centrold of comprassive force lles at a distance of from

the extrome compression fibre,
Ans  oF 10423

> 2. 0.36 Xu

75 3,045 Xu

> 405X

Question 10 @ 26433099425
Etatus . Answered
Chosen Option @ 2

0.9 Tha total quantity of surface water that can be expected In a glven period from a
stream at the outlet of its catchment is known as -

Ans o 1. yiald
X 2. non-consumptive flow
7 3. watershed flow
7 4, ratum flow

Question |0 ; 26433095855
Stalus ! Not Answered

Chosan Option @ =

Q.10 In which of the fallowing triaxial tests, drainage from the specimen is NOT allowed at
any stage?
Ans X |, Consolidated undrained

25 2 Unconfinad compression
& 2. Uncanaolidated undraimsd

& 4. Consclidated drained

Question 10 ; 26433099740
Status ;. Mot Answered

Chosen Option | -

hitps:isso.digialm.com/peng2Tipubl 2207 touchstone/AssessmentQPHTMLMode 1/2207 022254/ 2207022 254 570 2563816687 ..

hitps:lissc_diglalm.comiperfg2?/pub/2207 touchstonelAszessmentQPHTMLMode 12207022254/ 2207 02205457 D25638/1 GEETE267 1TEE1186/4426.

33/57



11123122, 1248 PM hitps:issc.digialm.com/perg2Tipubl 2207 touchstone/AssessmentQPHTMLMode 1/2207 022254/ 2207022 254 570 2563816687 ..

.11 Two litres of a patral having specific gravity 0.805 weligh 15.8 N. Calculate its density in
kaim?,
Ans X 1,830
75 2. TR0
o 3. 805

X 4.840

Cuestion 1D © 26433088698
Elatus : Not Answered
Chosen Option ;-

Q.12 A short axially leaded square column 500 mm x 500 mm Is subjected to service load of
2000 kN. Calculate the ultimate load and minimum area of longitudinal reinforcement
as per IS 456:2000

Ans 2 14000 kN, 3TED mim®©
75 21000 kN , 1250 mm®
" 3. 3000 kN , 2000 mm?

7 4.2000 kN , 2500 mm?

Cuastion 10 1 26433099420
Btatus | Mot Answered
Chosen Option | —

.13 Uso of Finer cemant particles leads to
Ans | Increased surface anea for hydration

75 2. Less cement strength
# 3. Reduced surfzee area for hydration

25 4. Inconsistent cament shiry

Question 1D : 26433091041
Status @ Not Answered
Chesen Option @ -

Q.14 Which of the following sources of solid waste has the highest chance of causing
infections like Hepatitis B and C through skin route If not handied property?

Ans 1 Blomedical
75 Z. Electronic
25 3 Industrial
75 4. Munieigal

Cuestion 10 ; 26433095824
Status - Mot Answered
Chaosan Oplion @ =
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Q.15 The farmula used lo caleulste the mean depth of earthwork by averaging the depths of
two consecutive sections is called:

Ans X 1. trapezoids! formula
o 2. mid-section formulla
7 3. prismoidal formula

7% 4. average area formula

Question 10 26433096588
Etatus . Mot Answered
Chosen Option @ -

.16 Plaster of Paris is not used in the extarior finishes of structures because:
Ans 1. L has lower strangth than cerment

X 2. of its lass adhesivernass than camant
7 3. it is chesper than cement

& 4 It i5slightly soluble in water

Cluestion 1D . 26433091044
Status © Answerad
GChosen Option © 1

Q.17 Which of the following assumptions is used for the design of an axially loaded
comprassion member (steal)?

Ans o 1. Secondary stressas amo neglesied
25 2 Thne deal column iz not stralght and has crockedness.
2 3. Tna modulus of slasticity is not aesiimed to ba constant,
25 4. 25% {0 40% of secondary stresses are taken into socounl

Cluestion 10 264320100826
Status @ Answarad

Chasen Option © 3
Q.18 Which of the following formulas explaing the calculation of area of earthwork using its
mean depth?
Arpa = BD + 8d*
Vihere,

B = Breadth of section
D = Mean depth of section
Sd = Arcas of sides

Ans X 1. Trapezaidal farmuls
> 2 hverage area formula
75 3. Prismoidat formula

& 4. Mid-zection formula

Question |0 26433096589
Status : Mot Answered
Chasen Optlon @ =
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.19 Tha Bhopal Gas Tragedy (1984) took place dus to release of which gas and from which
industry?
Ans X 1. Methyl isooyanide from thé fartifizer industry

75 7. Banzene Hexa Chiorde from the fertilizer industry
75 3. Butyl lsocyanide from the pesticlde manufacturing Industry

o 4. Mathy| lsosvanide from the pesticlde manafacturdng indusry

Question 10 : 26433095912
Etalus ; Mot Answered
Chosen Option @ ==

.20 The RL of point A s 100 m and its back sight is 2.000 m. If the next reading at the
change point is 1.5 m, then find the RL of the change point.

Ans X 1.98E5m
X 2.102m
K 3.1035m

& 4. 1005 m

Question |0 : 264230100669
Status | Not Answered
Chosan Option ! -

Q.21 When anly ane point is available for orientation, arientation is done by:
Ans «F 1. frough compass

2 foressighiing
2 3. intersaction
2 4. back-sighting

Cuestion 10 264320100646
Status : Mot Answered
Choaen Option - =

.22 An estimate containing the complete schedulo of all possibie items that are likely to
occur is called a

Ans X 1. epprocemate esimate
7 2. quantity estimate

75 3 revisod estimate

o 4. delailed estimate

Cuestion 10 ; 26433091123
Stetus | Answered
Chosen Option ! 4
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.23 \Water s flowing through a pipe of 6 cm diameter under a pressure of 200 » 10%m?
and with mean velocity of 2.0 m/s, Find the total head or total energy per unit weight of
the water at a cross section which is 6 m above the datum line.

Ans 1. 26A6m
7 2 2BEm
X 3.225m
254,305 m

Question 10 . 26433088712
Etatus @ Answeroad
Chesen Option : 2

Q.24 Which of the following statements isfare true regarding the soil required for subgrade
in road construction?
LIt mugt have good permeabllity or dralnage characteristics.
ii.it must undergoe high volume changes.
iii.It must have high bending strength,
iv.it must be uniformly graded.

Ans X 1. Both i and v
75 2 Bofh iand i
" 3. Only |
75 4. Both i and |v

Cuestion 10 . 264332091099
Status - Answerad
Chosen Oplion @ 2

Q.25 Which of the following devices/units are NOT installed for gasesus pollution eontrel?
Ans X 1, Adsorotion unit

75 2. Venturi senubbers
X 5 Plate towers

«" 4. Cyclone colisciors

CQuestion 10 : 26433095508
Status - Answered
Chosan Oplion : 4

0.26 In arder Lo overcome the accelarating effect of Initial setting ime concrete at high
tempearature, which type of admixtures are added to the fresh mix7?

Ane o 1. Retarders
7 2. Air-enfraining
7 3. Superplasticlzers
7 4. Accalaraiors

Question |0 : 26433098528
Status . Answerad
Chosen Optlon @ 2

hitps:lissc diglalm comiperfg2?/pub/2207 touchstonelAszsessmentQPHTMLMode 1/2207 022254/ 2207 02205457 D25638/1 GEETE267 1TEE1186/4426.

37/57



11/23/22, 1248 PM

https:iisse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207 022254/ 220702228457 D 2563816687 ..

Q.27 Total pressure Is a force axerted by a fluld when static mass of the Aluld comes In
contact with a plane or curved surface. The point of application of total pressure on
the surface Is known as .

Ans 1, centroid
W 2, cantre of pressure
7 2. centra of point
75 4 centre of gravity

Question 1D ; 26433088706
Etatus  Answearad
Chosen Option : 2

Q.28 As per IS 456:2000 the effective length of the column which Is fixed at ona end and
hinged at the other end is . Where L = Unsuppaorted length of the column

Ans X 1.10L
o2 08
X 3.065L
X 4120

Question 1D : 26433099417
Status ; Answered
Chosen Option @ 3

Q.29 The expression for additional tenslon reinforcement In a doubly reinforced beam ls

given by:

™ K A= Asc fffiu:fy—fc:]
oo Agy=tie ;E:;;fcc}
¥ A _ Asc '[f;-fuc]

Question 10 . 26433096882
Status @ Answorad
Chosen Optian : 1

€.30 During the construction of a brick building using modular bricks, the impression made
on one face of brick is called '

Ans X 1. hall bat
5 2 facing bond
o 5. frog
7 4, spalls

Cuestion 10 1 26433096576
Btatus | Answered
Chosen Option | 1

hitps:lissc diglalm comiperfg2?/pub/2207 touchstonelAszsessmentQPHTMLMode 1/2207 022254/ 2207 02205457 D25638/1 GEETE267 1TEE1186/4426.

38/57



11123122, 1248 PM https:iisse.digialm.com/perg2 Tipubd2207 touchstone/AssessmentQPHTMLMade 1/2207 022254/ 220702228457 D 2563816687 ..

Q31 The three-phase diagram of the partially saturated soil sample is given in the
figure. Determine the degree of saturation of the soil.

v W
lze) (g)
T T . T T

02348 nlsl w  lois

06053 L -'- +1.1s

[ =

Ans X 1.15

o2 0632
X 3.032
7 4057

Question 1D © 26433096657
Status - Mot Answered
Ghosen Option @ —

0.32 As per IS 456-2000, what is the maximum free water to cement ratio of an M20 grade of
reinforcad concrete under mild exposure conditions?

Ans X 106
o 2.0.55
7% 3,045
X404

Cuestion |0 - 26433096519
Status : Not Answered
Chosan Option : =

0.33 A process involving the reduction of moisture content in timbar under more or less
controlled conditions towards or to an amount sultable for the purpese for which It is
to be usaed is termed as:

Ang o 1. seazoning
¥ 2. Siaking
5 3. seanlling
X 4. scorng

Question |0 : 26433099699
Status | Answered
Ghosen Optlion ; 1
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.34 What is the meaning of biaxial stress?
Ans X 1, Stress acting aleng only one axls

F 2. Shress goiling slong hwioares
7 3. Stress acting slong tengential direction only
75 4. Sirese acting along mors than two axes

Question 1D - 26433088022
Status : Mot Answered

Chosen Option : =

0.35 Which of the following statements is MOT true with regard to long wall-short wall

method?
Ans 1. Shorl wall lenglh = genlre fo centrs Tonalh — one breadih

75 2. Long wall langth out to out = cantro to cantra length + half the bresdth on aneside +
feslf the breadth on other sids

o 3. Short wall length = centra to cenire length

7 4. Long wall length out to out = centrg to cantre lenglh + ang treadih (breadih is same
st both ends)

hatt bregdih

Cuestion 10 : 26433099335
Status . Not Answeared
Chosen Option | =

Q.36 Considering maximum and minimum stress at the base of a dam, it will be correct to

assume that:
7 1. for no tension to devalop, resultant stress must lle outside the middle third of base

widih
" 2. marimum siress In reservalr emply condition is skpactéd al hesl of base

2 3. tenzion s aliowed to be developed ata point af the base in the mazenry dam

Ans

7 4, tension i3 developed if eccentricity s less than BB

Cuastion 10 264330100961
Btatus | Not Answered

Chosen Option | —
_ Vv = === s = =
Q.37 Tha void ratio for which the change of velumae remalns constant during shearing Is
called the:
Ans X 1. bulking

oF 2, oitlcal void ratle

5 3. puinl af harmony

7 4. point of contra-flexura

Question |0 : 26433099735
Status ; Not Answered

Ghosen Option ; -
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.38 The detalled estimate prepared for renovation or renawal of structure, damaged works,
mingr improvements in buildings is called .

Ans X 1. supplemeniary estimate
oF 2. annual repar estimats
7 3. speclal esfimate

7% 4. maintenance estimate

Question 10 : 26433099326
Etatus | Mot Answered
Chosen Option @ ==

.39 Based on thelr physical and mechanical properties, clay bricks are classified into
classes.

Ans 1 four
X 2 one
X 3.six
> 4 two

CQuestion 10 26433091038
Status | Answered
Chosan Option : 1

.40 is the maximum net intensity of loading that can be allowed on the soil
without the setflement exceading the permissible value.

Ans X 1, Ullimate bearing capacity
" 2. Sale bearing pressurm
7 3 Net pressurs
7 4. Grozs sale beering capacily

Question 10 ; 26433096640
Zlatus - Mot Answered
Chosen Option ; -

Q.41 The application of curing on the prepared concrete results in
Ans 2 1. nochange in strength

7 2. Increase [n alr entralnment
W 3 Increzse in compressie sirength

X 4, decrease In compressive strength

Cuestion 1D ; 26433096526
Status : Answerad
Chosen Option ! 3
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.42 Tha addition of a portlon of fly-ash in the mix design results in reduction in:
i) permeability
i} chemical attack
iii) heat of hydration
iv) initial 2etting tima

Ans o 1. Only (1), (1) and (D)
2 2. Only (i) and {iiiy
25 30 (), (i, {iv)
2 4, Onty (1)

Quiestion |0 26433091045
Slatus | Not Answered
Chosen Option @ =

.43 Which of the Tollowing statements are true with respect to working from whaole to part?
L. Major contrel peints are established first with higher preclsion and then the minor
control points are established using less precision.

il. Major control points are established first with higher precision and then the minor
control points are astablishad using higher precizion toa.

iii. Emrors are minimised.,

iv. Less number of instruments are required for surveying.

Ans o 1. Landiii
25 2. land v
X 3 liand v

75 &, iand v

Question |0 ; 264330100633
Status ; Mot Answered
Chosen Option ; =

Q.44 Tha method of proporiioning mnesﬂy used for concrete rigid pwmntt on road

construction is called the
Ang 1 IRC a4

X 2. arbifrary proporion
X 3. masimum density inethod
25 4. surface area method

Cuestion 10 © 26433096521
Status . Answerad
Chosen Optian @ 1

Q.45 According to IS 800:2007, the design compressive strength of an axlally loaded
compression momber s based on the:

Ang X 1. Rankine formula
7 2 Secant formula
75 3. Merchant Rankine formula

o 4. Pery Robertson formuia

Cavestion 10 - 264330100827
Etatus @ Answered
Chasean Option - 3
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.46 The selection of bullding matarials during construction should be dene bazed on
which of the following factors?
I. Material cost
ii. Servica lifa
iii. Maintenance cost
iv. Sustainability
Ans X 1. Only (1)

ag® 2, (1), (W), (703, (e
75 3. Onily (1)-and {1y
75 4 Oaty (i) and (i}

Cluestion 1D © 26433088067
Status : Mot Answered
Chosen Option ;-

.47 The rolled l-section steel beams exhibit:
Ane 1 comparabie torsfons| and warping raldities

X 2 small amount of rsional rigidity only
7 3. small amount of wanming rigidity only

75 4. a small amount of both warplng and lersional Hgldity

Cuestion |0 ; 264330100836
Status | Answered
Chosen Option : 2

.48 In Symons rain gauge, the rim of the collector is set in a horizontal plane at a height of
above the ground level.

Ans X 1,285 em
o 2. 305 o
2 3. 20.5 gm
X 4. 127 cm

Question |0 : 26433095549
Status - Answered
Chosen Option : 2

CL49 The recommended slump range {mim) as per 15 458:2000, for hand placed pavement
guality concrete is:

Ans X 1.75- 100

o 22575
75 3. 100150
X 4. 50-100

Cuestion 10 - 26433099784
Stalus - Answered
Chosen Option : 1
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.50 Tha modulus of alasticity (GPa) of structural steal as assumad In Indian practica ls:
Ans 1 200

> 2 380
X 3 225
> 4176

Question 10 ; 26433093705
Status © Answarad
Chosen Option ; 2

0.51 As per |5 456:2000, for limit state method of design, the permissible bearing siress
shall be taken as:

Ang X 1.056fy
o 20451,
X 3.0.35 g
X 4. 067 1o

Question 1D : 26433096331
Status @ Answerad
Chosen Option : 4

0.52 A parameter associated with the operation of activated sludge process is:
Ans X 1. Respiration rate

< 2. Chemical oxygen demand
75 3. Physizal axygen demand

" 4. Sludge voiume indax

Question 10 : 26433099770
Status: Mot Answered
Chosen Option : =

— —
Q.53 Study the given dala and answar the question that follow,
FB of line AB=60° i
FE of line BC = 120°
Find the Included angle B,

Ans o4 60°

X 2 180°
X3 2400
o 4. 120°

Duestion 10 ; 264330100648
Stetus Mot Answered
Ghosen Option @ =
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Anz X 1, Form 23

.54 The farm used in public works for measuremant book is

Ans X 1. culihvation
X 2. pracipltation
o® 3. miensity

75 4. rainfall

year to the fotal CCA.

X 2 Form 21
" 3. Form 23
75 A Form 24
Question 1D : 26433091122
Status : Answered
Chosen Option - 1
0.55 Annual Is the ratio of cultivable irrigation area irfigated during the

Cwestion 1D . 26433095856
Status © Mot Answered
Chosen Option © =

A | Regulatory i | Triangular shape
sign

B | Informatory | il Circular shape
sign

C | Warning iii | Rectangular shape
sign

Ans X 1. A<, B-il, G-l

o 2. Acli, Bl B
X 3. A, B4, ci
X 4, A, B, G-l

Q5% Match the following types of signs with their board shapes as per IRC 67:

Question 1D 264330100877
Status | Not Answered
Chozen Option ! -

Ans X 1. reduced fineness

7 3. less fire resistance

" 2. reduced drying shrinkags

Q.57 The addition of Fly-Ash as an additive in the brick mix proportions results in:

7 4, loss of compressive strength

Question 1D : 26433088048
Stalus © Not Answered
Chosen Option @ =
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.58 A single-acting rociprocating pump has a 15 cm piston with a crank radius of 15 cm.
The delivery pipe is 10 cm in diameter. At a speed of 60 rpm, 310 litres /minute of water
is lifted to a height of 15 em. Find the coefficient of discharge.

Ans X 1.0.815
o 20975
X 3082
24 0pds

Cuestion 1D ; 26433091164
Etatus | Not Answered
Chosen Option ; =

Q.59 The dumpy level is most sultable for levelling survey:
Ans X 1. in forest areas

" £, an fiat termain
7 5. onasteep slope
7% 4. In hilty areas

Question |0 264330100674
Status | Answered
Chosan Option @ 4

Q.60 A congcrete of MG0 grade obtains a cube strength of 80 WPa. If the cube strength is to

be considered as the characterlstic strength, then the modulus of alasticlty {H.r'mmii
shall be approzimately equal to (answer to the nearest thousand value):

Ans X 140,000
X 2. 35,000
2 3. B0,000
WP 4. 45,000

'Cluaaﬂ_nn 10 : 26433099790
Status ; Mot Answered

Chosen ﬂﬂﬁ;!:ll'l |-
—_= —
.61 According to the limit state of collapse of RC structures, the values of partial safety
factor should be taken as:
Anz 1, 1.5 for concrete and 1,15 o steel

2 2 1.15%or concrete and 1.5 for stest
75 3. D.B7 for concrete and 045 for steal
7 4. 045 for concrete and 0.87 for steal

Question |0 : 26433096327
Status . Answered
Chosan Dpi‘.inrr'. 3
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0.62 Specific gravity of a fluld Is the ratle of Hs density to the density of a well4mewn fluld.
Compare the specific gravity of water, mercury and oil. Take 5, = specific gravity of
water, S,y = speciic gravity of cil, and Sy = specific gravity of mercury.

Ans o 1. Sur > Sw < Saa
¢ 2 Sy > 8Sw>Sq
X 3. S > Sw = Sail
X 4. Sy < Sy > S

Guestion |0 ; 264330947989
Status ; Mot Answered
Chosan Option ; =

Q.63 In which type of weir is the excess energy of averflowing water dissipated by means of
a hydraulic jJump?

Ans X 1. Okhla wefr
5 2. Roekfill weirs with sloping aprons
o 3. Concrele wels wilh glacis

75 4. Masonny weirs with vertical downstream face

Queastion 1D © 26433095864
Status : Not Answerad
Chasen Option © =

Q.64 Identify the correct statements.
A, Irrigation helps in elimination of mixed cropping.
B. Mixed irrigation Is economical when Irrigation facilities are avallable.
C. Fertilizsers used in-soll will help water guality of an undarground reservoir.
0., Over-irrigation may reduce crop yield,

Ans X 1.AandB
M 2BandC
M aCandD
o 4, 0 and A

Question 1D 26433095832
Stalus | Not Answered
Chosen Option @ —

.65 As described by Indlan Road Congress, which of the following methods Is used for the
design and analysis of flexible pavemenis?

Ans X 1. Theoratical method
W' Z. California Dearing rafin method
75 3. Seml emplrical methad
X 4. Benkslman beam deflection mathod

Quastion 10 26433006586
Status : Answered
Chosen Option = 1
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.66 The greasy and other substances floating on the surface of sewage is termed as
Ans X 1.Scum

X 2 Sldge
3. Sewage

" 4. Asrobic

Question 10 ; 264330983771
Status © Answarad
Chosen Option ; 2

0.67 Which of the following alloys af iron and carbon has the highest yield strength?
Ans X 1. Dead mild stesd

X 2. Misd steel
& 3. High carbon sles

X 4. Medium carbon stes|

Cuestion 1D ; 26433088055
Stalus | Answered
Chaosen Option ; 2

Q.68 The shear assoclated with change of banding moement along the span is known as:
Ans X 1. punching shear

75 Z. halancing shear
75 4. torsional shear

o A Nawursl shaar

Cuestion |0 26433096330
Status | Not Answered
Chosen Option @ =

Q.69 Which of the following statements are correct, with reference to the Road Formation
width?
i. It is the bottom width of the ambankment.
ii. It is the bottom width of the cutting.
il it Is Inclusive of the width of the shoulders.
iv. It is inclugive of the width of side drains.

Ans X 1. Both {Il) and (W)
2 2. Both (1) and {iv)
25 2. Qnly (i), (iiiy and {iv}
«" 4. Both (§) and (i)

Cuestion |0 264332086522
Status : Mot Answered
Cheosen Optian : -
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Ans "

> 2

T = & '-'Elw #-T-g,

0.70 Total active pressure due to dry backflll acting at h/3 above the base is directy
prapartional to §

Cuestion 10D : 26433096642
Status © Not Answered
Chosen Oplion @ -

Q.71 A cantilever beam of length L is subjected (o a couple IM-at its mid span. Determine
shear forces at quarter span from the (i) free end and (i) fixed end?

Ans 1 (i) Zero, (ii) Zero
M
L

X = (i) Zero. (ii) 2—"1

K4 (D) S (i) o

.{m%

Cuestion 10 ; 26433092162
Stetus | Mot Answered
Chosan Optlon | =

Q.72 Explain the term vsed to define the loss in the property value due to modifications in
structural design, repairing and assthetics.

Ans X 1. Sinking fund
X 2 Annuity
7 3. Capitalised valus

o 4. Otmolescance

Question |0 ;. 26433096581
Siatus - Not Answeared
Chosen Option ; -
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Q.73 Conslder the Tollowing statements and select the corract aption.
i.The stadia method is based on the principle that the ratio of the perpendicular to the
base |s constant (k) In simllar Isosceles trlangles.
ii. f p=34'22".64, then the constant k Is 100.

Ans ¢ 1. Statemaent | = earrect, bul )| & wiong
X 2. Siatermant| iz wrong, but il ia corract
' &. Boln e sisterments sre correct

75 4. Both the statements are wrong

Cuestion |0 : 264330100677
Etatus : Not Answered
Chosen Oplion © -

0.74 Carbon monoxide (C0) as an air pollutant is mainly generated from™
Ans X 1. refineries

X 2. agricullural activities
X 3 opan burming of garbage

" 4. aulomobiles

Question 1D : 26433095810
Etatus ; Answered
Chosen Option @ 3

Q.75 An artificlal marine structure used for berthing of ships and vessels for sheltering,
repairing and designing is called as:

Ans X 1. port
o 2. clock
75 3. brealwater
75 4 llght house

Cuestion |0 Ml'ﬂmﬁ‘l
Status . Mot Answered
Chosan Option © =

0.76 The slopping Acor below and In continuation of the ralsed crest of a welr Is known as

Ans X 1.08 slope
¥ 2 DS fall
o - glacs
#% 4. D8 grads

Question |0 26433095863
Status @ Mot Answered
Chiszan Optian @ -

https:lissc_diglalm comiperfg2?/pub/2207 teuchstonelAszsessmenQPHTMLMode 112207022254/ 220702225487 D25638/1 6EETE26T 1TE61186/4426 .. 5057



11123122, 1248 PM hitps:issc.digialm.com/peng2Tipubl 2207 touchstone/AssessmentQPHTMLMode 1/2207 022254/ 2207022254 570 2563816687 ..

CLTT Which of the fallowing s a standard modular size (in mm units) of commaon bullding
brick as per Indian standard 7

Ans X 1101 %90 =80
75 2,197 = 90 = 6O
o 3. 160 % B0 = 90
75 4 193 =90 = 50

Question 10 @ 26433099701
Etalus | Answered
Chosen Option: 3

Q.78 Highway llghting serves which of the following purposes?
l.Pravent accidents

ii.ilncrease in traffic capacity

iil.Increase in safety against crime
iwincrease green cycle time

Ane X 1. Bath land i
2 2 Boliiand v
7 3. Both i and v
o 4 Only |, ll2nd i

Cuestion |0 ; 264330100874
Etatus | Answered
Chosen Option : 4

Q.79 According to Darcy's law, in most of the soil (except coarse gravel), the pores are so
small that the flow of water through them is always | '

Ans X 1. unsteady
X 2 transiant
2 3. turbulent

" <. laminar

Question |0 : 26433096654
Status - Answered
Chosen Option - 4

.80 In order to satisfy the requirements of Fe5000 steel for reinforcement purpose, the
0.2% proof stress (MPa) should be a minimum of;

Ans X 1,650
X 2 480
o 3 500
X 4.415

Cuestion 10 - 26433099704

Staius © Mot Answered
Chosen Option © =
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.81 Tha coefficlent of viscosity (y) s the resisting property of a fluld to shearing force. The
units of dynamic viscosity are Pa-s and poise. What is the relation betwesn poise and
Pa-s?

. cen — L Pa
+ 1 1 poise Yo Pa—s
¥z 1poise = 0.5Pa—s
X 2 lpoise = 1Pa—s

; 1
x 4 1 poise = — Pa—s

Question |0 © 26433088704
Status @ Answerad
Chesen Option @ 2

.82 A concrete design mix with a low waterfeement ratio and also using larger aggregates
results in "

Ans X 1. high Nowsability
" 2. 0aing in coACTEl: COMPressive STengt
7% 2. no change in strength
7 4. reduction In concrete comprassive strength

Cuestion 10 . 26432096516
Status - Mot Answered
Chosen Oplion @ -

.83 The degree of the curve is an angle subtended at the centre by a chord of length
and the degree of a curve with radius 588 m will be equal to .

Ans X 1.20 m; 2.5°
s emee
o 330 m 25

X 4,30 m; 3"

Cuestion 1D : 264330100675
EStatus | Mot Answered
Chosen Option ;-

.84 The maximum value of effectlve slendemess ratio as per |5 800 for a tension member
in which a reversal of direct stress occur due to loads other than wind or seismic
forces is

Ans X 1.250
X 2380
o 3180
7 4,400

Cuestion |0 : 26433000439
Btatus : Mot Answered
Chosen Option @ =
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.85 A reversible reaction in which a charged jon in solution is exchanged for a similarly
charged ion electrostatically attached to an immohbile solid particle is termed as:

Ans X 1. nitrification
7 7. efflorescence
7 3. carbonatan

o 4. lon exchanon

Question |0 @ 26433099774
Etatus ; Mot Answered
Chosen Option @ -

Q.86 Which of the followlng is NOT a function of a cross-regufator?
Anes X 1. Efftctlvely conlrols the entlre canal lrgation sysiem

X 2. Helps in haading up watar on tha upstream
7 3. Absorbs fluctuations in various sections of the canal

& 4. Serves a5 8 meter far measuring discharge

Question |0 - 26432055866
Etatus © Mot Answered
Chosen Optlon © -

Q.87 A structure built up underground, focusing on receiving human wastes in various forms
is called: :

Ang X 1.lalrine pit
25 2 waler slorege tank
7 3. bazament

f 4. septic tank

Question 10 26433096580
Status @ Answered
Chaosen Option - 4

Q.68 A compound piping_wmm consists of 600 m of 50 cm, 400 m of 20 cm, and 200 m of
30 cm diameter pipes of the same material connecled in series. Using Dupuit's
equation calculata the squivatent length of a 40 cm pipe of the same material,

Ans X 1, 1450 m
W 2. 1430 m
2 3.1430 m
X 4. 1539 m

Cuestion 1D - 26433088711
Status © Not Answerad
Chasen Option ; =
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.89 Tha terms such as dressing, grading, trimming and levelling are basically used In

Ans X 1. banking
75 7. surchame
o 3. murface preparalion wori

2 4. backfill

Question |0 : 26433096578
Status ; Answered
Chosen Option : 3

.90 The phenomenon of rise or fall of liquid level in a capiilarity tube is called as
caplllarity. In non-wetting liquids (e.g. mercury), what is the relation between cohasion
of mercury and adhesion between mercury and capillary tube?

Anz g 1, Cobesion is grsater fhan adhesion
7 2. Mo relation between cohgsion and adhasion,
X 3. Cohasion s squal ta adhesion.
75 4. Coheslon is lesser than adhesion.

Question 1D : 26433088695
Etatus : Mot Answered
Chosen Option @ =—

0.91 Sequentially arrange the fallowlng steps which are Invelved In surveying to bulld an
irrigation structure. '
A.Reconnaissance survey
B.Preliminary survey
C.Examine the water availability
D.Final location survey
E.Final suryey report

Ans 1. C A B DE
X 2 CABED
X3 ABCDE
M 4ABDEE

Cuastion 10 © 26433095835
Btelus - Answerad
Chosen Option © 3

0.92 Under which of the following circumstances can the contour lines of different
elevations intersect each other?

Ans X 1. valley
W 2. Cove
75 3. River
75 4. Sisep slope

Ouestion 1D 1 264330100658
Stalus | Answered
Chosan Oplion: 4
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.93 Which of the following statements is INCORRECT?
A Seepage drains reduce the chances of water logging.
B.Water logging makes the land more productive,

C.Fertilisers used In limigation may contribute in various ways to the problem of water
pollution.

D Water logging is caused due to the presence of permeable strata.
Ans X 1.BandC

75 2. Dand A
o 3. Band D
X4 handB

Cuestion 1D © 26433095833
Status ; Answered
Chosen Option : 3

0.94 Tha hydropower plants which utilise the minimum flow in a river having no
appreciable pondage on its upstream are called as:

Ans X 1. pumped storage plariis
7 Z. siorage pfants
74 3. tida! plants

" 4 un-off river planie

CQuestion |0 : 26433099743
Etatus . Answered
Chosen Option @ 4

0.5 Which of the following s the maln function of “submerged” Kerbs in rural roads?
Ans X 1. To prevent waler logging on he rosd

X 2 To provide parking space
2 3. To prevent animals fo come on the road

" 4. To pravide lstergl confinament 1ofhe base course in Nexible pavement

Question |0 : 26433091092
Status - Answered
Chosen Option : 1
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Q.96 Which of the following s NOT an exampls of a typical stress distribution diagram at
the base of a circular chimney 7

e
e

o

w11

x*LLL&ﬁiﬂ;‘

Cuestion |0 - 264330100966
Status - Answered
Chosen Option : 2

.97 In Pensky Marten tast for Biturnen, a momentary flash was saan at a temperatura of
200° Celsius and the bitumen burned for at least § seconds at a temperature of 2407
Celsius. The flash and fire point of bitumen is and ,

respectively.
Ans 2 1. 240° Calgius, 240% Calsius

75 2. 240" Celslus, 2007 Calsius

75 3. 200° Celsius, 200° Celsius

o 4. 200° Celsiug, 200° Calsiusz

Cwestion 10 : 26433086520
Status © Answered
Chosen Option © 2

0.98 Considering horizontal water pressure effect on a dam, it may be concluded that:
Ans X 1, water pressure distribution iz constant throughout the helght of the dam

7 2. the centre of walsr pressure Is &l ane third of the height of the dam from fhe lap
o 3. the distribution diagram ol wsls: pressure 8 angular n skape

75 4. the toktal water pressure aciz at middle height of the dam

Question 10 © 264330100964
Status - Answered
GChosan Option @ 1
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.99 Sall Is weathered chemically dus to
Ans X 1, winds

" 2, leaching
3. spiitting actinn of ice

75 4. plants and animals

Question 10 ; 26433096652
Status @ Answearad
Chosan Option & 1

0.100 The levelling aperation in which the back-sight and foresight readings are taken and
no intermediate sights are observed s known as:

Ang g 1y levelling
X 2. plot levalling
2 3. dynamic levelling
7 4. chask levelling

Cuestion 1D © 26433098728
Status @ Answerad
Chosen Optlon © 2
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